


Overhead Distribution Construction Manual Section 3

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-2



Overhead Distribution Construction Manual Section 3

SECTION 3 —11-12.7-22kV AND SWER CONSTRUCTIONS

3 SECTION 3 = 11-12.7-22kV AND SWER CONSTRUCTIONS ....oiitiiiiiiiiieiiieeieeee e 3
FRP CROSSARM CONSTRUCTIONS ...ttt 5
3.1 Intermediate Open Wire FRP CroSSarmM ......cooooiieieiii i 5
3.2 Intermediate Delta Open Wire FRP CroSSarmMi.......coooiuviiieieeeeeiiiiiiieeeee e 7
3.3 Intermediate Offset Open Wire FRP CroSSArm .....cooocuvviiieeeeeiiiciiieeeeee e 9
3.4 Dead End Open Wire FRP CroSSarM.......ccoooeee e i 11
3.5 Strain Open Wire Underslung FRP Crossarm (Preferred)........ccccevvvevieiiiiiiiiiiiieeeeeeeee, 13
3.6 Strain Open Wire FRP Crossarm (Underslung Preferred)........cccoovvvivieiiiiiiiiiiiieeeee e, 15
3.7 Strain Delta Open Wire FRP CroSSArM ....occuuiiiiieiee e, 17
3.8 Strain Right Angle Open Wire FRP CroSSarmMi.........oooiiiiiiiieiiee e, 19
3.9 Tee Off Open Wire FRP CroSSarm ......oooiiiiiiiieee e, 21
3.10 Transposition Strain 1, Rolling FRP CroSSarm .........ccoiiiuiiiiiee e, 23
3.11 Transposition Strain 2, Inner & Outer FRP Crossarm ........ccccooiiiii 25
3.12 Intermediate Vertical Double Circuit FRP CrosSsarm........cccooouieiiiieiiiieiiiieeiee e 27
3.13 Strain Underslung Vertical Double Circuit Open Wire FRP Crossarm (Preferred)................ 29
3.14 Strain Vertical Double Circuit Open Wire, FRP Crossarm (Underslung Preferred)............... 31
3.15 Right Angle Strain Vertical Double Circuit Open Wire FRP Crossarm.........cccccvvvveeeeeeeeeenne, 33
3.16 Horizontal Intermediate & Strain Double Circuit Open Wire FRP Crossarm ..............ccc...... 35
3.17 Double Circuit Strain Horizontal Open Wire FRP Crossarm.......cccccvvveeeeeeiiiiiiiiieeeeeeeeee, 37
METALLIC SCREENED HVABC CONSTRUCTIONS ...ttt 39
3.18 MS HVABC High Lift Suspension Intermediate........ccoouiiiiiiiiiiiii e, 39
3.19 MS HVABC Angle High Lift Double HOOk SUSPENSION ......vviiiiiiiiieeeeeec e, 41
3.20 MS HVABC Strain UnjOINted ....c..vveeiiiieeeeieee e, 43
3.21 MS HVABC Strain JOINTEA ...coiiiiiiiiiii e 45
3.22 MS HVABC Right Angle Strain JOINTed ....ooiuiiriiieice e, 48
3.23 MS HVABC Strain Transition Open Wire FRP CrosSarm........cceeeeeeeiiiiiiiiiieee e 51
3.24 MS HVABC Dead End UG Cable Transition ..........ooveiiiiiiiiieiiecc e 56
3.25 MS HVABC 35mm? Strain wWith Tee-0ff.........ccociiiiiiiiiiicec s 61
3.26 MS HVABC Strain with Transformer Tee-off Including EDOS, FRP Crossarm ...........cccouv..... 63
3.27 MS HVABC Strain Tee-off to Open Wire FRP CroSSarM..........cooovivvvvieeeeeeeeeeiiiiieeeeeeee e, 68
STEEL CROSSARMS HV CONSTRUCTIONS ...ttt 73
3.28 Intermediate Steel MK4 CroSSArmM ......eiiiieiieiit et 73
3.29 Intermediate Delta Mk4 Crossarm Open Wilr€........cooviuuvviieeii e, 75
3.30 Intermediate Offset Crossarm OPEN WIrE ........ooii oo 77

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-3



Overhead Distribution Construction Manual Section 3

3.31 Intermediate Open Wire with Special Bracket for Centre Phase .....cccccovvvvvviiviiiieeeieien, 79
3.32 HV Pole top Raiser for Intermediate Flat Steel Crossarm.........cooovuviiiiiiiiiiiiiieeeeeeeee, 81
3.33 Dead End Flat Steel MKS CroSSarm .......o.uiiiiiiiiiiieiie e 83
3.34 Strain FIat IMKS CrOSSArM ..ottt 85
3.35 Strain Flat Underslung Steel MKS CroSSarmi.. ... ..o, 87
3.36 Strain Delta Steel MKS CrOSSarmm ... i i ettt 89
3.37 Right Angle Strain MKS CroSSarmM.... ..o, 91
3.38 T Off MKS CrOSSaIM . ittt ettt ettt ettt ettt e tee e 93
3.39 Transposition 1, Strain, Rolling, Steel MK5 CrosSsarm .........cccccooieiiiieieiieeeeeccieeeeeee e, 95
3.40 Transposition 2, Strain, Inner & Outer, MK5 CrosSSarm .........cooooiiiiiiieeieeee e, 97
3.41 Transposition 3, Strain, Two Outers, MK5 CrosSarm ...........cocoiiiiiiiiieieeee e, 99
3.42 Intermediate Vertical Double Circuit — Steel Mk4 Crossarm........cccooveeiieeiieeeiiieeiieeee 101
3.43 Strain Vertical Double Circuit, Steel MK5 CroSSarim .....coooeeueeeieee e 103
3.44 Strain Underslung Vertical Double Circuit Steel MK5 Crossarm.........cccccoeevvivvieieeeeeeieennnne, 105
3.45 Right Angle Strain Double Circuit Vertical Steel Mk5 Crossarm .........cccccoevevivviieeeeeeeeeenne, 107
3.46 Intermediate / Strain Horizontal Double Circuit Vertical Steel Mk4/5 Crossarm............... 109
3.47 Strain Horizontal Double Circuit, Steel MK5 CrossarM........cooooviiiiiiiiiiii 111
SWER CONSTRUCTIONS ...ttt ettt 113
3.48 Intermediate SWER (SINGIE PiN) wovvviiiiiiiii e, 113
3.49 Intermediate SWER (FIVING ANGIE).....ocii i, 114
3.50 Dead ENA SWER ...ttt 115
3.50 STrain SWER ..o 116

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-4



Overhead Distribution Construction Manual Section 3

FRP CROSSARM CONSTRUCTIONS

3.1 Intermediate Open Wire FRP Crossarm
—

1 \ 2 \ 3 \ L 5

NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH THE POLE

I A -7 il
-

87D

150

P
‘ 1840nm HV to LV SPACING IS PREFERED
PROVIDING CLEARANCES CAN BE MET;
1380nm MINIMUM SPACING REQUIRED.

£ CONDUCTOR TIES TO SUIT SIZE/TYPE

150

— [—)
= 75T T209D T208A 87D 868 82A

460

r T

NOTES
APL Nos:
H | 1. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS. L 1/FRP
2. CENTRE PHASE TO BE STAGGERED - SWAP SIDES ON ALTERNATE POLES /1173 /FRP
3. SUPERSEDES STEEL X-ARM CONST. 1/22/1/FRP DIMENSIONS ARE IN MILLIMETRES
D-0HC-C001-5D-001. 1/22/3/FRP UNLESS OTHERWISE STATED

© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
trad TasNetwork STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as fasNerworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS

SCALE

"“INTERMEDIATE 11kV OR 22kV OPEN WIRE 125
FRP CROSSARM

TasNetworks

DRAWN ELECTRO

DESIGNED BY B.MAYBERRY A A

ORIGINAL ISSUE

CHECKED BY K.GOSDEN

ALTERATIONS

APPROVED BY  [MICHAEL COOPER D _ OH[ _ [070 -~ SD _ OOW Rsvzw

DATE APPROVED |FEB 2022

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-5



Overhead Distribution Construction Manual Section 3

Intermediate Open Wire FRP Crossarm — Material List

-

1 \ 2 \ 3 \ L 5
A
B Store Type |Item Ref| Stock Item |Stock Item Description Quantity
1/11/1/FRP and S T200C 323219 [CF XARM - 2840x100x100 - CA-100 SHS 2.834m ARM 1
1122/1/FRP T203A 323316 [XARM BRACE - 716x40x8 1
75T 32293  |Bolt Hex M16 X 475 - Thread Length 75mm 1
75N 32287 [Bolt Hex M16 X 350 - Thread Length 57mm 1
75E 32279 [Bolt Hex M16 X 180 - Thread Length 57mm 1
82A 40441 |Nut Hex M16 5
86B 65158 |Washer ELS M16 2
87D 65616 |Washer NS M16 4
C 60E 320531 |Insulator, Pin Type 2
T204A 322717 |PIN, INSULATOR - (MORLYNN - C20011) 198mm stem - 54mm to base of insulator from xarm 2
T208A 323306 [GAIN BLOCK 100mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 1
1/11/3/FRP and S T200C 323219 [CF XARM - 2840x100x100 - CA-100 SHS 2.834m ARM 1
L1 |/22/3/FRP T203A 323316 [XARM BRACE - 716x40x8 1
75T 32293 |Bolt Hex M16 X475 - Thread Length 75mm 1
75N 32287 |Bolt Hex M16 X 350 - Thread Length 57mm 1
75E 32279 |Bolt Hex M16 X 180 - Thread Length 57mm 1
82A 40441 Nut Hex M16 5
D 86B 65158 |Washer ELS M16 2
87D 65616  [Washer NS M16 4
60E 320531 [Insulator, Pin Type 3
T204A 322717 [PIN, INSULATOR - (MORLYNN - C20011) 198mm stem - 54mm to base of insulator from xarm 3
T208A 323306 |GAIN BLOCK 100mm 1
1 T209D 66807 |M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 1
£
F
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 iradng a5 Tasiehuorks e S I A
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
=) ¥ TITLE SCALE
-2 TasNetworks INTERMEDIATE 11kV OR 22kV OPEN WIRE NTS
<|Z FRP CROSSARM
x|z {7 MATERIAL LIST
w |2 DESIGNED BY | BMAYBERRY A[+
o
e CHECKED BY | K.GOSDEN
< APPROVED BY | MICHAEL COOPER _ _ _ _ REVISION
o D- OHC - (070 - SD - 002 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-6



Overhead Distribution Construction Manual Section 3

3.2 Intermediate Delta Open Wire FRP Crossarm
—

1 \ 2 \ 3 \ L 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH THE POLE
A Tt
T204A e ToTy
y
1202
B
a
i ] E
[ [ ] e
I 12 /¢ =
i, W
x
C aln
oZg
0L
203
oNm
é T203A <9
XD 520
T208A L ><0
olz
~0Q
>0a
IZn
EQE
D ESE
[stel=}
3xd8
——-a+
CONDUCTOR TIES TO SUIT CONDUCTOR SIZE/TYPE
£
T202A
F
CONDUCTOR TIES TO SUIT CONDUCTOR TYPE
2 7200C
= 75w (824 ) 72084 X T209D
o
g < T203A
] 75s
NOTES
H L_/&
1. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS. APL Nos
2. SUPERSEDES STEEL X-ARM CONST. DELTA 1/11/3/FRP DIMENSIONS ARE IN MILLIMETRES
D-O0HC-C002-5D-001. DELTA 1/22/3/FRP UNLESS OTHERWISE STATED
© Tasnanian Nerworks PTY. LTD. STORED N & REFRIEVAL SYSTEM I AT FORI
v frading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
° 13 TasNetworks TiTE SIALE
-9 INTERMEDIATE DELTA 1kV OR 22kV OPEN WIRE 125
< |2 FRP CROSSARM
> |= DRAWN ELECTRO
w |9 DESIGNED BY B.MAYBERRY AA
[a
e CHECKED BY K.GOSDEN
=
< ApPROVED BY  MICHAEL COOPER - - - -~ REVISION
oxTe weeroves |FEB 2022 D - OHC Co7 SD 007 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-7



Overhead Distribution Construction Manual Section 3

Intermediate Delta Open Wire FRP Crossarm — Material List

-

1 \ 2 \ 3 \ L 5
A
B
Unit Assembly | Store Type [Item Ref| Stock Item |Stock Item Description Quantity
DELTA /11/3/FRP S 60E 320531 [Insulator, Pin Type 3
and DELTA 75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
1122/3/FRP 758 32292 |Bolt Hex M16 X450 - Thread Length 75mm 1
75W 32296 Bolt Hex M16 X 550 - Thread Length 75mm 1
76E 32332 OLT,Hex Head M20 x 150mm Gal. c/w Nut 1
82A 40441 Nut Hex M16 5
C 87D 65616  |Washer NS M16 6
T200C 323219 [CF XARM - 2840x100x100 - CA-100 SHS 2.834m ARM 1
T202 323225 |CF DELTA RISER - AOA01555 - 1833x100x100 - CA-100 SHS 1.824 RISER 1
T202A 323226 RACKET, riser, HV Delta 1
T203A 323316 [XARM BRACE - 716x40x8 1
T204A 322717 |PIN, INSULATOR - (MORLYNN - C20011) 198mm stem - 54mm to base of insulator from xarm 3
T208A 323306 |GAIN BLOCK 100mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 1
T228 40448 Nut Hex M24 (36mm across Flats, 21mm Thick) 2
D
£
F
G
H
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
= TasNetworks e stuie
A INTERMEDIATE DELTA 11kV OR 22kV OPEN WIRE NTS
<|z - FRP CROSSARM
DRAWN ELECTRO
1=z MATERIAL LIST
w2 DESIGNED BY | B.MAYBERRY A[+
e CHECKED BY | K.GOSDEN
4
< APPROVED BY  |MICHAEL COOPER B B B B REVISION
oare erRoveD [FEB 2022 D - OHC o071 SO 002 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-8



Overhead Distribution Construction Manual

Section 3

3.3
-

Intermediate Offset Open Wire FRP Crossarm

1 \ 2 \ 3 \ L 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
——— T208A
T204A [] I SO I (@]
oJ 4 T =
-TZOOD ‘ 1203 4J 2 &
= =
5 3
82A oo
=S
o
B goé
z25
72030 Oad
el
— 258
o265
0 1
C
o]
D
CONDUCTOR TIES TO SUIT CONDUCTOR S\ZE/TYPE
[—
d 82A (870 X 868 X751 =
72000 X T208A
72090
_s
F
G
s
NOTES
H
1. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS. APL Nos
2. SUPERSEDES STEEL X-ARM CONST. OFFSET/11/3/FRP DIMENSIONS ARE IN MILLIMETRES
D-0HC-C003-5D-001. OFFSET/22/3/FRP UNLESS OTHERWISE STATED
©Tusmumun Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w trad TasNet k STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as lasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
° 3 TasNetworks e SCALE
—1a INTERMEDIATE 11kV OR 22kV OFFSET OPEN WIRE 1.25
<|Z FRP CROSSARM
o |Z DRAWN ELECTRO
w |2 DESIGNED BY B.MAYBERRY AL
[a e
= e CHECKED BY K.GOSDEN
.
< APPROVED BY  [MICHAEL COOPER -~ _ _ -~ REVISION
e s [FEB 2077 D - OHC - €072 - 5D - 001 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-9




Overhead Distribution Construction Manual Section 3
Intermediate Offset Open Wire FRP Crossarm — Material List
i | 2 | 3 | b 5
F)
B
r
Store Type Item Ref Stock tem | Stock ltem Description Quantity
U [GFFSETHIARRP and 5 BOE 320531 |NGULATOR Pin 22KV Asro Porcelain 3
OFFSETR22AFRP T5E 32279 BOLT Hex Head M16 x 180mm Gal. ciw MNut 1
T8N 32287 BOLT Hex Head M16 x 325mm Gal. chw Mut 1
75T 32203 |BOLT Hex Head M18 x 475mm Gal, aiw N 1
= B2A, 40447 FOLIT Fex W16 Thread Galanised Seel [
HEE B5158 | WASHER Flat Round M16 x 50mm Gal 2
“BTD G5B16 | WASHER Flat Round M16 x 30mm Gal F)
i TED 323221 |CROSSARM, Fibregiass 2640x100100 Ofsel 7
z T203D 323318 BRACE Crossam 1854x75x75:8 Thick Gal 1
T204A 322717 PN Insulator 2dmmo1 88mm 22k Gal Steal 3
TZ06A 323306 |PLATE, Gain, Gross Am 1
T208D 56307 WASHER Flat Square M15x50x5 Gal.Steel 1
G
H
'[ H [ H 3'["’ LTJ WD PART OF THS DRAWING MAT A1 RIFSODWCID.
o O g a5 Taatrss e
= ABN: 25 16T W7 299 PAIOR PERMSSIOH [F TASHETWORKS
o |w g SEALE
- |z Tashetworks | ™|\ TERMEDIATE 1V OR 22kV OFFSET DPEN WIRE | wrs
| FRP CROSSARM
= DRARN ELETRE
=8 s MATERIAL LIST
= Al
: = CHEDT BY K COS008
o A0 B MICHAEL COOPER) _ A ; -~ REVEAM
T D - OHC — €072 - SD - 002 i
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-10




Overhead Distribution Construction Manual Section 3
3.4 Dead End Open Wire FRP Crossarm
1 \ 2 \ 3 \ L \ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
a
A d4da
-l
BLE
Pud - 4 i (o]
D.ZI
wZo N(T2000)
- 250 -
585 8
0
o<n
AEB F
Z<=
B o4
»—og
z85
>
- 208
@ 0
—0
[
C 618
] ="
HELICAL TERMINATION TO = ::
D SUIT CONDUCTOR SIZE/TYPE
<>
E
@ @ i @
F
G
NOTES
APL Nos:
H | 1. FIT INSULATION SLEEVING TO ALL BRIDGING. DE/11/1/FRP
2. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS. DE/11/3/FRP
3. SUPERSEDES STEEL X-ARM CONST. DE/22/1/FRP DIMENSIONS ARE IN MILLIMETRES
D-OHC-C006-SD-001. DE/22/3/FRP UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» trading as TasNetworks OB TRANSMITTED 8 ANY MEAWS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy TILE SCALE
-1 TasNetworks DEAD END 11kV OR 22kV OPEN WIRE 30
< |2 FRP CROSSARM
> |=Z DRAWN ELECTRO
w |2 DESIGNED BY B.MAYBERRY
o
= o CHECKED BY K.GOSDEN A[’L
5
< APPROVED BY  [MICHAEL COOPER _ _ B B REVISION
T D OHC COT74 SD 007 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-11




Overhead Distribution Construction Manual Section 3

Dead End Open Wire FRP Crossarm — Material List

—

1 \ 2 \ 3 L 5
A
B
Unit Assembly  |Store Type| Item Ref |Stock Item [Stock Item Description Quantity
[ | [DE/M1/1/FRP and S 60G 321260 |Insulator Disc Porcelain 16mm 70Kn 146mm 4
DE/22/1/FRP 61A 322056 |Ball Clevis & Pin 16mm 2
61B 322386 |Socket Termination 16mm 2
61D 322090 | 'W'Clip / Kink Pin 6
C 75E 32279 |Bolt Hex M16 X 180 - Thread Length 57mm 1
75P 32288 [Bolt Hex M16 X 375 - Thread Length 75mm 1
82A 40441 [Nut Hex M16 9
86B 65158 |Washer ELS M16 3
87D 65616 |Washer NS M16 9
[ T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 | XARM BRACE - 716x40x8 1
T206A 325628 |M16 EYE BOLT 150 - Thread Length 60mm 2
T206F 325638 |M16 EYE BOLT 375 - Thread Length 75mm 1
T208B 323307 |GAIN BLOCK 125mm 1
D T209D 66807 [M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
75U 32294  [Bolt Hex M16 X 500 - Thread Length 75mm 1
Unit Assembly |Store Type| Item Ref |Stock Item [Stock Item Description Quantity
DE/11/3/FRP and S 60G 321260 |Insulator Disc Porcelain 16mm 70Kn 146mm 6
DE/22/3/FRP 61A 322056 |Ball Clevis & Pin 16mm 3
— 61B 322386 |Socket Termination 16mm 3
61D 322090 | 'W' Clip / Kink Pin 9
75E 32279 |Bolt Hex M16 X 180 - Thread Length 57mm 1
75P 32288 [Bolt Hex M16 X 375 - Thread Length 75mm 1
82A 40441 [Nut Hex M16 9
£ 86B 65158 |Washer ELS M16 3
87D 65616 |Washer NS M16 9
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 | XARM BRACE - 716x40x8 1
T206A 325628 |M16 EYE BOLT 150 - Thread Length 60mm 2
i T206F 325638 |M16 EYE BOLT 375 - Thread Length 75mm 1
T208B 323307 |GAIN BLOCK 125mm 1
T209D 66807 [M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
75U 32294  [Bolt Hex M16 X 500 - Thread Length 75mm 1
F
G
H
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 tradng a5 Tashetwarks SIS RETEVAL ST A o
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
2132 TasNetworks Tme SCALE
Zla DEAD END 11kV OR 22kV OPEN WIRE NTS
== DRAWN ELECTRO FRP CROSSARM
x| Z MATERIAL LIST
w |2 DESIGNED BY | B.MAYBERRY A Z+
; © CHECKED BY K.GOSDEN
< appRoveD BY  MICHAEL COOPER REVISION
DATE APPROVED |FEB 2022 D OH[ [074 SD OOZ A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-12



Overhead Distribution Construction Manual Section 3

3.5 Strain Open Wire Underslung FRP Crossarm (Preferred)
—

1 \ 2 \ 3 \ L \ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE. @
CONDUCTOR TIES TO SUIT
CONDUCTOR SIZE/TYPE
' £
B
o
@
[ S 2
—
3
COMPRESSION SLEEVES OR A
| CLAMP CONNECTORS TQ SUIT N s
CONDUCTOR SIZE/TYPE B - T
a
]
D B
HEQ
g8
23
gzu_A
o<
ZY o
0
— oo
SE%
55| <
+~CE
zos
E £t
S
2aal
— COMPRESSION SLEEVES
OR CLAMP CONNECTORS
TO SUIT CONDUCTOR
SIZE/TYPE
F
®
G
HELICAL TERMINATIONS TO
SUIT CONDUCTOR SIZE/TYPE
NOTES
1. GENERALLY NO LV CONSTRUCTION BELOW THIS ARRANGEMENT
BECAUSE OF REDUCED CLEARANCES. APL Nos
H | 2. FIT INSULATION SLEEVING TO ALL BRIDGING. SU/11/1/FERP
3. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS. SU/11/3/FRP
4. SUPERSEDES STEEL X-ARM CONST. SU/22/1/FRP DIMENSIONS ARE IN MILLIMETRES
D-0HC-C008-SD-001. SU/22/3/FRP UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
” trad TasNetwork STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading das 1asNerworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°l3 TasNetworks e SCAE
A STRAIN UNDERSLUNG 11kV OR 22kV OPEN WIRE 130
<|Z FRP CROSSARM
« |2 DRAWN ELECTRO
w |2 DESIGNED BY | B.MAYBERRY
o
=|e CHECKED BY K.GOSDEN A['L
=
< APPROVED BY  MICHAEL COOPER -~ _ -~ -~ FEVISION
DATE APPROVED |FEB 2022 D O H [ [O 76 S D O O/‘ B

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-13



Overhead Distribution Construction Manual Section 3
Strain Open Wire Underslung FRP Crossarm — Material List
1 2 \ 3 \ 5
A
B
Unit Assembly |Store Type |Item Ref| Stock Item [Stock Item Description Quantity
[ | |SU/M1/1/FRP and S 60G 321260 |Insulator Disc Porcelain 16mm 70Kn 146mm 8
SU/22/1/FRP 61A 322056 [Ball Clevis & Pin 16mm 4
61B 322386 |Socket Termination 16mm 4
61D 322090 [ 'W'Clip / Kink Pin 12
75E 32279  |Bolt Hex M16 X 180 - Thread Length 57mm 1
C 75P 32288  |Bolt Hex M16 X 375 - Thread Length 75mm 1
82A 40441 Nut Hex M16 9
86B 65158 |Washer ELS M16 3
87D 65616 |Washer NS M16 9
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 [XARM BRACE - 716x40x8 1
[ T206B 325629 [M16 EYE BOLT 180 - Thread Length 60mm 2
T206H 325636 [M16 EYE BOLT 400 - Thread Length 75mm 1
T207B 325740 [M16 EYE NUT 2
T208B 323307 [GAIN BLOCK 125mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
) 75U 32294 Bolt Hex M16 X 500 - Thread Length 75mm 1
SU/11/3/FRP and S 59A 322721 |Pin, Insulator Short Shank 1
SU/22/3/FRP 60E 320531 [Insulator, Pin Type 1
60G 321260 |Insulator Disc Porcelain 16mm 70Kn 146mm 12
61A 322056 [Ball Clevis & Pin 16mm 6
| 61B 322386 [Socket Termination 16mm 6
61D 322090 [ 'W'Clip / Kink Pin 18
6A 323315 |Insulator Bracket Mk15 1
75E 32279  |Bolt Hex M16 X 180 - Thread Length 57mm 1
75P 32288 |Bolt Hex M16 X 375 - Thread Length 75mm 3
E 82A 40441 |Nut Hex M16 13
86B 65158 |Washer ELS M16 5
87D 65616 |Washer NS M16 11
T200E 323223 [CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 [XARM BRACE - 716x40x8 1
. T206B 325629 [M16 EYE BOLT 180 - Thread Length 60mm 2
T206H 325636 [M16 EYE BOLT 400 - Thread Length 75mm 1
T207B 325740 [M16 EYE NUT 2
T208B 323307 |GAIN BLOCK 125mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
F 75U 32294 Bolt Hex M16 X 500 - Thread Length 75mm 1
82B 40442 Nut Hex M20 1
87E 65617 |Washer NS M20 1
G
H
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n frading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
i TasNetworks Tme SCALE
A STRAIN UNDERSLUNG 11kV OR 22kV OPEN WIRE NTS
== DRAWN ELECTRO FRP CROSSARM
== MATERIAL LIST
w |2 DESIGNED BY | BMAYBERRY A Z+
; © CHECKED BY K.GOSDEN
< APPROVED BY  |MICHAEL COOPER REVISION
DATE APPROVED [FEB 2022 D OH[ SD OOZ A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-14




Overhead Distribution Construction Manual

Section 3

3.6 Strain Open Wire FRP Crossarm (Underslung Preferred)

—

1 \ 2 \ 3 \ 4 \ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
B .
o
..
Bhg
P UNDERSLUNG BRIDGING MAY
ﬂ.nZ:'lI i BE USED ON OUTER PHASES
oZon i = IF PREFERRED
OIS0} PROVIDE ADEQUATE
Znz CLEARANCE TO LV
o8o
8«
B 325
fl)'zfﬂ
>3
042
|—o§
25
Egé COMPRESSION SLEEVES OR
S8 CONDUCTOR TIES TO SUIT (55 X(56 )CLAMP CONNECTORS TO SUIT
BLS CONDUCTOR SIZE/TYPE CONDUCTOR SIZE/TYPE
non
C C ﬁ):ﬁ))ﬁ ™
— HELICAL TERMINATIONS TO SUIT [ R I -
CONDUCTOR SIZE/TYPE
UNDERSLUNG BRIDGING MAY
BE USED ON OUTER PHASES
IF PREFERRED
0 PROVIDE ADEQUATE
CLEARANCE TO LV
(.
72078 ) T209D
£
F &
G
NOTES
APL Nos
H | 1. FIT INSULATION SLEEVING TO ALL BRIDGING. S/11/1/FRP
2. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS. S/11/3/FRP
3. SUPERSEDES STEEL X-ARM CONST. S/22/1/FRP DIMENSIONS ARE IN MILLIMETRES
D-0HC-C007-5D-001. S/22/3/FRP UNLESS OTHERWISE STATED
©Tusmumun Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v trad TasNet k STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as lasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
212 TasNetworks e SIALE
A STRAIN 11kV OR 22kV OPEN WIRE 130
< |z FRP CROSSARM
I DRAWN ELECTRO
w |9 DESIGNED BY B.MAYBERRY
[a4
= o CHECKED BY K.GOSDEN AA
o
< APPROVED BY  [MICHAEL COOPER _ _ _ _ REVISION
DATE APPROVED (FEB 2022 D O H [ [O 75 S D O O/‘ A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-15




Overhead Distribution Construction Manual

Section 3

Strain Open Wire FRP Crossarm — Material List

—

1 \ 2 \ 3 L
A
B
Store Type| Item Ref |Stock Item |Stock Item Description Quantity
S/11/1/FRP S 60E 320531 |Insulator, Pin Type 2
[ ] [and 60G 321260 [Insulator Disc Porcelain 16mm 70Kn 146mm 8
S/22/1/FRP 61A 322056 |Ball Clevis & Pin 16mm 4
61B 322386 |Socket Termination 16mm 4
61D 322090 | 'W' Clip / Kink Pin 12
75E 32279 [Bolt Hex M16 X 180 - Thread Length 57mm 1
C 75P 32288 [Bolt Hex M16 X 375 - Thread Length 75mm 1
82A 40441 Nut Hex M16 9
86B 65158 |Washer ELS M16 3
87D 65616  |Washer NS M16 9
[ T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 |[XARM BRACE - 716x40x8 1
T204A 322717 |PIN, INSULATOR - (MORLYNN - C20011) 198mm stem - 54mm to base of insulator from xarm 2
T206B 325629 |M16 EYE BOLT 180 - Thread Length 60mm 2
T206H 325636 |M16 EYE BOLT 400 - Thread Length 75mm 1
D T207B 325740 |M16 EYE NUT 2
T208B 323307 |GAIN BLOCK 125mm 1
T209D 66807 |M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
75U 32294 |Bolt Hex M16 X 500 - Thread Length 75mm 1
S/11/3/FRP S 60E 320531 |Insulator, Pin Type 3
— |and 60G 321260 [Insulator Disc Porcelain 16mm 70Kn 146mm 12
S/22/3/FRP 61A 322056 |Ball Clevis & Pin 16mm 6
61B 322386 |Socket Termination 16mm 6
61D 322090 | 'W' Clip / Kink Pin 18
75E 32279 [Bolt Hex M16 X 180 - Thread Length 57mm 1
£ 75P 32288 [Bolt Hex M16 X 375 - Thread Length 75mm 1
82A 40441 Nut Hex M16 9
87D 65616  |Washer NS M16 9
86B 65158  |Washer ELS M16 3
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
| T203A 323316 |XARM BRACE - 716x40x8 1
T204A 322717 |PIN, INSULATOR - (MORLYNN - C20011) 198mm stem - 54mm to base of insulator from xarm 2
T206B 325629 |M16 EYE BOLT 180 - Thread Length 60mm 2
T206H 325636 |M16 EYE BOLT 400 - Thread Length 75mm 1
F T207B 325740 |M16 EYE NUT 2
T208B 323307 |GAIN BLOCK 125mm 1
T209D 66807 |M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
75U 32294 |Bolt Hex M16 X 500 - Thread Length 75mm 1
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
e TITLE SCALE
-2 TasNetworks STRAIN 11kV OR 22kV OPEN WIRE NTS
N DRAWN ELECTRD FRP_CROSSARM
x| = MATERIAL LIST
w |2 DESIGNED BY | BMAYBERRY A[+
; © CHECKED BY K.GOSDEN
< APPROVED BY  [MICHAEL COOPER) REVISION
DATE APPROVED |FEB 2022 D OH[ [075 SD A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-16




Overhead Distribution Construction Manual Section 3
3.7 Strain Delta Open Wire FRP Crossarm
1 \ 2 \ 3 \ L 5
NB: ENSURE THAT LOCKNUTS ARE
INSTALLED ON ALL BOLTS PASSING THROUGH POLE
A CONDUCTOR TIES TO SUIT
S CONDUCTOR SIZE/TYPE
Zz=
oo
N
an
oo
o
—w
=
53
B Vo
co
23
3
a .
. 8
el UNDERSLUNG BRIDGING MAY
) ; BE USED ON OUTER PHASES
o : IF PREFERRED
oo - PROVIDE ADEQUATE
[ 2p-4%) CLEARANCE TO LV
000 AJ 460
Znz
( SHo 86575P
5zg (82a)870) COMPRESSION SLEEVES
(A L (55 ) 0R CLAMP CONNECTORS
232 CONDUCTOR TIES TO SUIT (56 )T0 SUIT CONNECTOR
oz CONDUCTOR SIZE/TYPE @x SIZE/TYPE
1 £ez
=3 ToT
£S5t - e
ESE
SO8
s e )y——— I
) HELICAL TERMINATION T0O
SUIT CONDUCTOR SIZE/TYPE
£ R T S
(5]
UNDERSLUNG BRIDGING MAY
BE USED ON OUTER PHASES
Ll IF PREFERRED
— PROVIDE ADEQUATE
CLEARANCE TO LV
F
@
G
HELICAL TERMINATION TO
SUIT CONDUCTOR SIZE/TYPE
H | 1. FIT INSULATION SLEEVING TO ALL BRIDGING.
2. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS. APL No
3. SUPERSEDES STEEL X-ARM CONST. DELTA S/11/3/FRP DIMENSIONS ARE IN MILLIMETRES
D-0HC-C009-5D-001. DELTA S/22/3/FRP UNLESS OTHERWISE STATED
©Tusmumun Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v trad TasNet k STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as fasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
212 TasNetworks e SIALE
-2 STRAIN DELTA 1KV or 22KV OPEN WIRE 130
<|2 FRP CROSSARM
I DRAWN ELECTRO
w |9 DESIGNED BY B.MAYBERRY
[a4
= o CHECKED BY K.GOSDEN AL
o
< APPROVED BY  MICHAEL COOPER _ _ _ _ REVISION
DATE APPROVED [FEB 2022 D O H [ [O 77 S D O O/‘ A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-17




Overhead Distribution Construction Manual Section 3

Strain Delta Open Wire FRP Crossarm — Material List

—

1 \ 2 \ 3 b 5
A
B
Store Type |Item Ref| Stock Item |Stock Item Description Quantity
DELTA S 6A 323315 |Insulator Bracket Mk15 1
Z::Sét?: 59A 322721 Pin, Insulator Short Shank 1
S/22/3/FRP 60E 320531 Insulator, Pin Type 3
60G 321260 [Insulator Disc Porcelain 16mm 70Kn 146mm 12
61A 322056 |Ball Clevis & Pin 16mm 6
C 61B 322386 |Socket Termination 16mm 6
61D 322090 ‘W' Clip / Kink Pin 18
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75N 32287 Bolt Hex M16 X 350 - Thread Length 57mm 2
[ | 75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 1
75V 32295 Bolt Hex M16 X 525 - Thread Length 75mm 1
82A 40441 Nut Hex M16 13
85B 50250 Coach Screw M12x100 1
0 86B 65158  |Washer ELS M16 5
87D 65616 Washer NS M16 11
T200E 323223 [CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
L T203A 323316 |XARM BRACE - 716x40x8 1
T204A 322717 [PIN, INSULATOR - (MORLYNN - C20011) 198mm stem - 54mm to base of insulator from xarm 2
T206B 325629 [M16 EYE BOLT 180 - Thread Length 60mm 2
T206H 325636 [M16 EYE BOLT 400 - Thread Length 75mm 1
E T207B 325740 |M16 EYE NUT 3
T208B 323307 |GAIN BLOCK 125mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
82B 40442 Nut Hex M20 1
[ 87E 65617 |Washer NS M20 1
F
G
H
© Jazparian Nerware PTY. LTD. " i, W e o b e
v frading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y CALE
-1z TasNetworks | ™5 TRAIN DELTA 11KV or 22KV OPEN WIRE NTS
N DRAWN ELECTRO FRP CROSSARM
== MATERIAL LIST
w9 DESIGNED BY | BLMAYBERRY A[+
Z © (HECKED BY K.GOSDEN
APPROVED BY  MICHAEL COOPER REVISION
h DATE APPROVED |FEB 2022 D N OH[ B [077 N SD B 002 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-18



Overhead Distribution Construction Manual Section 3
3.8 Strain Right Angle Open Wire FRP Crossarm
1 \ 2 \ 3 \ L 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
(=]
A Q
o ] -
(=}
§
|
J%H); =
g
g
e
% g=g
610 618 61A 60G w3
=3
ZY o
C| coNoucToR TIES TO SuIT =
CONDUCTOR SIZE/TYPE — w 2%
oS
o=
=z
zgs
] HELICAL TERMINATIONS TO Egg
SUIT CONDUCTOR SIZE/TYPE g%g
COMPRESSION SLEEVES OR
D .55 CLAMP CONNECTORS TO SUIT
CONDUCTOR SIZE/TYPE
£
F
82A 86B
G 870 X T206F
T209D
.
NOTES
APL Nos
H 1. FIT INSULATION SLEEVING TO ALL BRIDGING. RS/11/1/FRP
2. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS. RS/11/3/FRP
3. SUPERSEDES STEEL X-ARM CONST. RS/22/1/FRP DIMENSIONS ARE IN MILLIMETRES
D-0HC-C010-SD-001. RS/22/3/FRP UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» trading as TasNetworks SR TRANSHITTED BY AKY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
= TasNetworks e SCALE
A STRAIN RIGHT ANGLE 11kV OR 22kV OPEN WIRE 1.35
<z FRP CROSSARM
I DRAWN ELECTRO
w |9 DESIGNED BY B.MAYBERRY
[a4
= o CHECKED BY K.GOSDEN AL
=
< APPROVED BY  [MICHAEL COOPER _ _ _ _ REVISION
DATE APPROVED [FEB 2022 D OH[ [078 SD OO/‘ A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-19




Overhead Distribution Construction Manual Section 3

Strain Right Angle Open Wire FRP Crossarm — Material List

—

1 \ 2 \ 3 \ b 5
A
| | |Unit Assembly |Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
RS/11/1/FRP S 60E 320531 |Insulator, Pin Type 2
aRnSd/22/1/FRP 60G 321260 [Insulator Disc Porcelain 16mm 70Kn 146mm 8
61A 322056 |Ball Clevis & Pin 16mm 4
B 61B 322386 |Socket Termination 16mm 4
61D 322090 | 'W' Clip / Kink Pin 12
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 2
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 2
I— 82A 40441 Nut Hex M16 18
86B 65158  |Washer ELS M16 6
87D 65616 |Washer NS M16 18
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 2
(C T203A 323316 | XARM BRACE - 716x40x8 2
T204A 322717 |PIN, INSULATOR - (MORLYNN - C20011) 198mm stem - 54mm to base of insulator from xarm 2
T206A 325629 |M16 EYE BOLT 150 - Thread Length 60mm 4
T206F 325638 |M16 EYE BOLT 375 - Thread Length 75mm 2
| — T208B 323307 |GAIN BLOCK 125mm 2
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 4
75U 32294 Bolt Hex M16 X500 - Thread Length 75mm 1
75V 32295 Bolt Hex M16 X 525 - Thread Length 75mm 1
D | |RS/M1/3/FRP S 60E 320531 |Insulator, Pin Type 2
aRnSd/22/3/FRP 60G 321260 [Insulator Disc Porcelain 16mm 70Kn 146mm 12
B61A 322056 |Ball Clevis & Pin 16mm 6
61B 322386  [Socket Termination 16mm 6
[ ] 61D 322090 | 'W' Clip / Kink Pin 6
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 2
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 2
82A 40441 Nut Hex M16 18
E 86B 65158 Washer ELS M16 6
87D 65616 |Washer NS M16 18
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 2
T203A 323316 | XARM BRACE - 716x40x8 2
[ T204A 322717 |PIN, INSULATOR - (MORLYNN - C20011) 198mm stem - 54mm to base of insulator from xarm 2
T206A 325629 |M16 EYE BOLT 150 - Thread Length 60mm 4
T206F 325638 |M16 EYE BOLT 375 - Thread Length 75mm 2
F T208B 323307 |GAIN BLOCK 125mm 2
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 4
75U 32294 Bolt Hex M16 X 500 - Thread Length 75mm 1
75V 32295 Bolt Hex M16 X 525 - Thread Length 75mm 1
G
H
© Josmanian Networks PTY. LTD. S2is 5 R B0 0 A
v frading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
=] TasNetworks e SCALE
4 STRAIN RIGHT ANGLE 1MkV OR 22kV OPEN WIRE NTS
<|Z P — FRP CROSSARM
== MATERIAL LIST
w |2 DESIGNED BY | BMAYBERRY A[+
Z ° (HECKED BY K.GOSDEN
APPROVED BY  [MICHAEL COOPER REVISION
< L D - OHC - (078 - SD - 002 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-20



Overhead Distribution Construction Manual Section 3
3.9 Tee Off Open Wire FRP Crossarm
1 \ \ 3 \ 5 \ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED
ON ALL BOLTS PASSING THROUGH POLE.
T20LA
A 60F
— S HCH
k=3
(=]
S
B
8 .
[=)
P
ww=
5=3
— w
£al
0Zn
)10}
Z0z
202
a<n
C g
<=
o2
Fo=
>0Z
Iz=
COMPRESSION SLEEVES OR EOE
CLAMP CONNECTORS TO SUIT gég
CONDUCTOR SIZE/TYPE %g@
CONDUCTOR TIES TO SUIT
D CONDUCTOR SIZE/TYPE
£
@
;;iw
— ™ T206F
87D
86B
b
F
@ @) = . ®
u
i
G
HELICAL TERMINATION TO SUIT
CONDUCTOR SIZE/TYPE
NOTES
APL Nos
H 1. FIT INSULATION SLEEVING TO ALL BRIDGING. T/N/1/FRP
2. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS. T/N/3/FRP
3. SUPERSEDES STEEL X-ARM CONST. T/22/1/FRP DIMENSIONS ARE IN MILLIMETRES
D-0HC-C011-SD-001. T/22/3/FRP UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD NO PART OF THIS DRAWING MAY BE REPRODUCED,
n ° ° STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
frading as TasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN- 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
e
212 TasNetworks e SULE
A TEE OFF MkV OR 22kV OPEN WIRE 130
< |z FRP CROSSARM
~ |= DRAWN ELECTRO
w |2 DESIGNED BY B.MAYBERRY A A
o
= o CHECKED BY K.GOSDEN
5
< APPROVED BY  [MICHAEL COOPER - - - - REVISION
DATE APPROVED [FEB 2022 D OH[ [079 SD OOW A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-21




Overhead Distribution Construction Manual

Section 3

Tee Off Open Wire FRP Crossarm — Material List

—

1 \ 2 \ 3 b
A
Store Type |Item Ref| Stock Item |Stock Item Description Quantity
T/11/1/FRP and S 60E 320531 |Insulator, Pin Type 3
TI22/1/FRP 60G 321260 |Insulator Disc Porcelain 16mm 70Kn 146mm 4
— 61A 322056 |Ball Clevis & Pin 16mm 2
61B 322386 |Socket Termination 16mm 2
61D 322090 | 'W' Clip / Kink Pin 6
75B 32274 Bolt Hex M16 X 130 - Thread Length 44mm 1
B 75N 32287 |Bolt Hex M16 X 350 - Thread Length 57mm 1
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 1
75T 32293 Bolt Hex M16 X475 - Thread Length 75mm 1
— 82A 40441 Nut Hex M16 14
86B 65158  |Washer ELS M16 5
87D 65616  |Washer NS M16 13
T200C 323219 |CF XARM - 2840x100x100 - CA-100 SHS 2.834m ARM 1
C T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 | XARM BRACE - 716x40x8 2
T204A 322717 [PIN, INSULATOR - (MORLYNN - C20011) 198mm stem - 54mm to base of insulator from xarm 3
T206A 325628 |M16 EYE BOLT 150 - Thread Length 60mm 2
— T206F 32638 |M16 EYE BOLT 375 - Thread Length 75mm 1
T208A 323306 |GAIN BLOCK 100mm 1
T208B 323307 |GAIN BLOCK 125mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 3
D 75V 32295 Bolt Hex M16 X525 - Thread Length 75mm 1
T/11/3/FRP and S 60E 320531 |Insulator, Pin Type 4
TI22/3/FRP 60G 321260 [Insulator Disc Porcelain 16mm 70Kn 146mm 6
61A 322056 |Ball Clevis & Pin 16mm 3
] 61B 322386  |Socket Termination 16mm 3
61D 322090 | 'W' Clip / Kink Pin 9
75B 32274 Bolt Hex M16 X 130 - Thread Length 44mm 1
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
E 75N 32287 Bolt Hex M16 X 350 - Thread Length 57mm 1
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 1
75T 32293 Bolt Hex M16 X475 - Thread Length 75mm 1
82A 40441 Nut Hex M16 14
[ 86B 65158  |Washer ELS M16 5
87D 65616 |Washer NS M16 13
T200C 323219 |CF XARM - 2840x100x100 - CA-100 SHS 2.834m ARM 1
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
F T203A 323316 | XARM BRACE - 716x40x8 2
T204A 322717 [PIN, INSULATOR - (MORLYNN - C20011) 198mm stem - 54mm to base of insulator from xarm 3
T206A 325628 |M16 EYE BOLT 150 - Thread Length 60mm 2
T206F 32638 |M16 EYE BOLT 375 - Thread Length 75mm 1
[ T208A 323306 |GAIN BLOCK 100mm 1
T208B 323307 |GAIN BLOCK 125mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 3
G 75V 32295 Bolt Hex M16 X525 - Thread Length 75mm 1
H
© Jasmarian Nervors BTY. LT 2,5 W i o e
v frading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y SCALE
-1z TasNetworks 1 ™76E OFF 1V OR 22kV OPEN WIRE NTS
N DRAWN ELECTRO FRP CROSSARM
= MATERIAL LIST
w |2 DESIGNED BY | B.MAYBERRY A [+
Z © CHECKED BY K.GOSDEN
APPROVED BY  MICHAEL COOPER] REVISION
= DATE APPROVED |FEB 2022 D - 0HC - C079 - SD - A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-22




Overhead Distribution Construction Manual Section 3
3.10 Transposition Strain 1, Rolling FRP Crossarm
1 \ 2 \ 3 \ L 5
(=]
©
NB ENSURE THAT LOCK NUTS ARE INSTALLED
ON ALL BOLTS PASSING THROUGH POLE.
A Z
I
o
T203A T200E
B =Y
wn
N
a
g
P s
2=8
SuE 6A BRACKET KINGBOLTS
Lo OMITTED FOR CLARITY
44
zVY o
S
8%
225
C PEE
292
2t 2061 X T2078 ) 72090
itz
258
D CONDUCTOR TIES TO SUIT CONDUCTOR SIZE/TYPE
£ 6A BRACKET KINGBOLTS sﬁj
OMITTED FOR CLARITY
COMPRESSION SLEEVES OR
CLAMP CONNECTORS TO SUIT
s SIZE/TYPE OF CONDUCTORS HELICAL TERMINATION TO
SUIT CONDUCTOR SIZE/TYPE
G
NOTES
H | 1. FIT INSULATION SLEEVING TO ALL BRIDGING.
2. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS. APL Nos
3. SUPERSEDES STEEL X-ARM CONST. TRI/11/3/FRP DIMENSIONS ARE IN MILLIMETRES
D-0HC-C012-5D-001. TRI/22/3/FRP UNLESS OTHERWISE STATED
©Tusmumun Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n frading as TasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
212 TasNetworks e SIALE
-9 TRANSPOSITION STRAIN 1 - ROLLING 140
<|2 11kV OR 22kV
DRAWN ELECTRO
1=z FRP CROSSARM
w = DESIGNED BY B.MAYBERRY AAL
= o CHECKED BY K.GOSDEN
o
< APPROVED BY  IMICHAEL COOPER -~ _ -~ -~ REVISION
DATE APPROVED [FEB 2022 D OH[ [080 SD OO/‘ A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-23




Overhead Distribution Construction Manual

Section 3

Transposition Strain 1, Rolling FRP Crossarm — Material List

—

1 2 \ 3 \ b
A
B
Store Type |Item Ref|Stock Item [Stock Item Description Quantity
TR1/11/3/FRP S B6A 323315 |Insulator Bracket Mk15 1
and 59A 322721 |Pin, Insulator Short Shank 1
TR1/22/3/FRP 60E 320531 |Insulator, Pin Type 3
60G 321260 [Insulator Disc Porcelain 16mm 70Kn 146mm 12
61A 322056 |Ball Clevis & Pin 16mm 6
61B 322386 [Socket Termination 16mm 6
C
61D 322090 | 'W' Clip / Kink Pin 18
75E 32279 |Bolt Hex M16 X 180 - Thread Length 57mm 1
75P 32288 [Bolt Hex M16 X 375 - Thread Length 75mm 3
75V 32295  [Bolt Hex M16 X 525 - Thread Length 75mm 1
— 82A 40441 Nut Hex M16 13
86B 65158 |Washer ELS M16 5
87D 65616 |Washer NS M16 11
T200E 323223 [CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 [XARM BRACE - 716x40x8 1
D T204A 322717 |PIN, INSULATOR - (MORLYNN - C20011) 198mm stem - 54mm to base of insulator from xarm 2
T206H 325636 |M16 EYE BOLT 400 - Thread Length 75mm 1
T206B 325629 [M16 EYE BOLT 180 - Thread Length 60mm 2
T207B 325704 |M16 EYE NUT 3
T208B 323307 |GAIN BLOCK 125mm 1
— T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
87E 65617  [Washer NS M20 1
82B 40442  |Nut Hex M20 1
£
F
G
H
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNefworks QOR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
213 TasNetworks Tme S
Zla TRANSPOSITION STRAIN 1 - ROLLING NTS
<|Z o T 17kV OR 22kV
DR CTR
o|& DESIGNED BY | B.MAYBERRY FRP_CROSSARM
= : MATERIAL LIST AL
CHECKED BY | K.GOSDEN
o
< appROVED BY  |MICHAEL COOPER _ _ _ _ REVISION
DATE APPROVED |FEB 2022 D OH[ [080 SD 002 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-24




Overhead Distribution Construction Manual

Section 3

3.11 Transposition Strain 2, Inner & Outer FRP Crossarm

—

1 \ 2 \ 3 \ 4 \ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
3
-
A
— Q 75€
5 70
L T200E
5 o
CONDUCTOR TIES TO SUIT X Y e
— CONDUCTOR SIZE/TYPE . L
@ -
]
( & .
fog
6A BRACKET KINGBOLTS nw®3
OMITTED FOR CLARITY =1
ZVY
Sn2
oL
wnwzg
>0
255
232
=
D e
EQ E
SZS
COMPRESSION SLEEVES OR I3
CLAMP CONNECTORS TO Bl
SUIT CONDUCTOR SIZE/TYPE
£
824 ) 866 L 87D X 75P 6A BRACKET KINGBOLTS
OMITTED FOR CLARITY
F
G
— HELICAL TERMINATION TO
SUIT CONDUCTOR SIZE/TYPE
NOTES
H | 1. FIT INSULATION SLEEVING TO ALL BRIDGING.
2. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS. APL Nos:
3. SUPERSEDES STEEL X-ARM CONST. TR2/11/3/FRP DIMENSIONS ARE IN MILLIMETRES
D-0HC-C013-SD-001. TR2/22/3/FRP UNLESS OTHERWISE STATED
©Tusmumun Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n frading as TasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
= TasNetworks e SCALE
—|a TRANSPOSITION STRAIN 2 - INNER & OUTER 1.40
< |2 1MkV OR 22kV
I DRAWN ELECTRO
] g DESIGNED BY B.MAYBERRY FRP [ROSSARM AAL
=1e CHECKED BY K.GOSDEN
=
< APPROVED BY  [MICHAEL COOPER -~ _ -~ -~ REVISION
AT D - OHC - (081 - SD - 007 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-25




Overhead Distribution Construction Manual Section 3
Transposition Strain 2, Inner & Outer FRP Crossarm — Material List
1 \ 2 \ 3 \ b 5
A
B Store Type [Item Ref| Stock Item |Stock Item Description Quantity
TR2/11/3/FRP S 59A 322721 [Pin, Insulator Short Shank 1
and N
TR2/22/3/FRP 60E 320531 |Insulator, Pin Type 2
60G 321260 |Insulator Disc Porcelain 16mm 70Kn 146mm 12
61A 322056 [Ball Clevis & Pin 16mm 6
61B 322386 |Socket Termination 16mm 6
61D 322090 ‘W' Clip / Kink Pin 18
6A 323315 |Insulator Bracket Mk15 1
C 75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 3
75V 32295 Bolt Hex M16 X 525 - Thread Length 75mm 1
82A 40441 Nut Hex M16 13
] 86B 65158 Washer ELS M16 5
87D 65616 Washer NS M16 11
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 | XARM BRACE - 716x40x8 1
D T204A 322717 |PIN, INSULATOR - (MORLYNN - C20011) 198mm stem - 54mm to base of insulator from xarm 1
T206B 325629 |[M16 EYE BOLT 180 - Thread Length 60mm 2
T206H 326636 [M16 EYE BOLT 400 - Thread Length 75mm 1
T207B 325740 |M16 EYE NUT 3
| — T208B 323307 |GAIN BLOCK 125mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
87E 65617 Washer NS M20 1
82B 40442 Nut Hex M20 1
£
F
G
H
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o~ trad TasNetwork STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as fasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
2132 TasNetworks TILE SCALE
Zla TRANSPOSITION STRAIN 2 - INNER & OUTER NTS
<|Z oo T 17kV OR 22kV
x |= o C
w g DESIGNED BY | B.MAYBERRY FRP CROSSARM A[+
=|e CHECKED BY | K.GOSDEN MATERIAL LIST
-
< APPROVED B [MICHAEL COOPER) _ _ _ _ REVISIN
DATE APPROVED |FEB 2022 D OH[ [08/‘ SD 002 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-26




Overhead Distribution Construction Manual

Section 3

3.12 Intermediate Vertical Double Circuit FRP Crossarm

—

1 \ 2 \ 3 \ L \ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A g
T204A [ B R EX |
F k=4 o
L g y
B g
[ i oN B |
k=3 o
o
] N
> /
[
0, A =
==l R
l_Lu_‘D
ey
[a 4
- i T200C /
Y=
OnS
203
<=0
a <<
wnoaex
<>
D ié%
o=
= - Y
By
3R
cox~—
Sa
3
e [ONDU[TOR TIES TO SUIT
5 CONDUCTOR SIZE/TYPE
E —
=
of:
F
206 270
G
5D €D 6D €7 €D G
“
NOTES
H
1. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS.
2. SUPERSEDES STEEL X-ARM CONST. ~——<= APL Nos DIMENSIONS ARE IN MILLIMETRES
D-0HC-C019-SD-001. IV/11/3/FRP, IV/22/3/FRP UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n frading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°l3 TasNetworks e SCALE
—|a INTERMEDIATE VERTICAL DOUBLE CIRCUIT 1.30
< |2 1MkV OR 22kV OPEN WIRE
DRAWN ELECTRO
= FRP CROSSARM
] = DESIGNED BY B.MAYBERRY AL
=1e CHECKED BY K.GOSDEN
=
< APPROVED BY  MICHAEL COOPER _ _ _ REVISION
DATE ApPROVED (FEB 2022 D O H [ [O 87 S D O O/‘ A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-27




Overhead Distribution Construction Manual Section 3
Intermediate Vertical Double Circuit FRP Crossarm — Material List
1 \ 2 \ 3 \ b 5
A
B
Unit Assembly |Store Type |Item Ref| Stock Item |Stock Item Description Quantity
IV/11/3/FRP and S 60E 320531 |Insulator, Pin Type 6
( VI22/3/FRP 75N 32287 Bolt Hex M16 X 350 - Thread Length 57mm 1
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 2
75T 32293 Bolt Hex M16 X475 - Thread Length 75mm 3
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 3
1 82A 40441 Nut Hex M16 15
86B 65158 Washer ELS M16 6
87D 65616 Washer NS M16 12
T200C 323219 |CF XARM - 2840x100x100 - CA-100 SHS 2.834m ARM 3
D T203A 323316 |XARM BRACE - 716x40x8 2
T204A 322717 |PIN, INSULATOR - (MORLYNN - C20011) 198mm stem - 54mm to base of insulator from xarm 3
T208A 323306 [GAIN BLOCK 100mm 2
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
£
F
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
212 TasNetworks e SCALE
— 14 INTERMEDIATE VERTICAL DOUBLE CIRCUIT NTS
<|z - 17kV OR 22kV OPEN WIRE
DRAWN ELECTRO
=z FRP CROSSARM
w 4 DESIGNED BY B.MAYBERRY MATER‘AL L‘ST AA
e CHECKED BY | K.GOSDEN
4
< APPROVED BY  |MICHAEL COOPER _ _ _ _ REVISION
oy AL D - OHC - €087 - SD - 002 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-28




Overhead Distribution Construction Manual

Section 3

3.13 Strain Underslung Vertical Double Circuit Open Wire FRP Crossarm

-

(Preferred)

N

1 \ \ 3 \ L 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
75
A Gz
T200F
—— \ D
i U
B
B .
[a}
.0
: iz
e :
[ i
[ Wali'4
eZo
OISI0]
— Zoz
(8]
209
o<
iz T
<=
oi2
D |—0§
235
Eog L
S35
0|
. 2E8
HELICAL TERMINATIONS
F ((53)T0 SUIT CONDUCTOR
! — SIZE/TYPE
< =
=k COMPRESSION SLEEVES OR
CLAMP CONNECTORS TO SUIT
CONDUCTOR SIZE/TYPE
F
: ]
B
G A
<t
NOTES
H | 1. FIT INSULATION SLEEVING TO ALL BRIDGING.
2. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS. L« APL Nos
3. SUPERSEDES STEEL X-ARM CONST. SUV/11/3/FRP DIMENSIONS ARE IN MILLIMETRES
0-OHC-C021-SD-001. SUV./22/3/FRP UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n frading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°ls TasNetworks e SCAE
Zla STRAIN UNDERSLUNG VERTICAL DOUBLE CIRCUIT 1.30
< |a 1kV OR 22kV OPEN WIRE
o |2 DRAWN ELECTRO
= FRP CROSSARM
w =z DESIGNED BY B.MAYBERRY AL
= o CHECKED BY K.GOSDEN
4
< APPROVED BY  IMICHAEL COOPER -~ _ -~ -~ REVISON
DATE APPROVED [FEB 2022 D O H[ [089 S D A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-29



Overhead Distribution Construction Manual Section 3
Strain Underslung Vertical Double Circuit Open Wire FRP Crossarm — Material List
1 \ 2 \ 3 \ L \ 5
A
B
Unit Assembly |Store Type [ltem Ref| Stock Iltem |Stock Item Description Quantity
SUV/11/3/FRP S 60G 321260 |Insulator Disc Porcelain 16mm 70Kn 146mm 24
C and 61A 322056 |Ball Clevis & Pin 16mm 12
SUV/22/3/FRP 61B 322386 [Socket Termination 16mm 12
61D 322090 'W' Clip / Kink Pin 36
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 3
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 3
75U 32294 Bolt Hex M16 X 500 - Thread Length 75mm 1
75V 32295 Bolt Hex M16 X 525 - Thread Length 75mm 2
82A 40441 Nut Hex M16 21
86B 65158 Washer ELS M16 6
D 87D 65616 Washer NS M16 24
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 3
T203A 323316 |XARM BRACE - 716x40x8 3
T206B 325928 |M16 EYE BOLT 180 - Thread Length 60mm 6
T207B 325704 |M16 EYE NUT 6
1 T208B 32337 GAIN BLOCK 125mm 3
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 3
£
F
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
n trading as TasNetwork STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
g orKs OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
212 TasNetworks Tme SCALE
—|a STRAIN UNDERSLUNG VERTICAL DOUBLE CIRCUIT NTS
< |z 1kV OR 22kV OPEN WIRE
o |2 DRAWN ELECTRO
w g DESIGNED BY | BMAYBERRY ;RAPT E[RR\E E SLA\ST A Z+
= 1o CHECKED BY K.GOSDEN
-
< APPROVED BY  MICHAEL COOPER _ _ _ REVISION
e |FEs 2022 D — OHC 089 SO 002 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-30




Overhead Distribution Construction Manual

Section 3

3.14 Strain Vertical Double Circuit Open Wire, FRP Crossarm (Underslung

1 \ 2 \ 3 b \ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
CONDUCTOR TIES TO SUIT
CONDUCTOR SIZE/TYPE
A
o
N
[ o
B L>
o
N
o
(
13
&
EEa
LuZD
8 go.g
- N 08
o << X
=Yg
S,2
T §e2
w=g
>z0
oS3
) “OZ
zys
COMPRESSION SLEEVES OR ESE
CLAMP CONNECTORS 10 (56 X(55) 328
SUIT CONDUCTOR SIZE/TYPE Bk
% );; =]
E HELICAL TERMINATION ﬂ =
TO SUIT CONDUCTOR
SIZE/TYPE 3
<
B B —?
: (=)
F zc>31{>:c -
T204A X T229A Y(T2298)
< "
G i
12078
NOTES
H | 1. FIT INSULATION SLEEVING TO ALL BRIDGING.
2. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS. APL Nos
3. SUPERSEDES STEEL X-ARM CONST. SV/11/3/FRP DIMENSIONS ARE IN MILLIMETRES
D-0HC-(020-SD-001. SV/22/3/FRP UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
n trad T Net K STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as TosNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
213 TasNetworks T SCALE
—|a STRAIN VERTICAL DOUBLE CIRCUIT 130
< | o e 1kV OR 22kV OPEN WIRE
x|z
w g DESIGNED BY B.MAYBERRY FRP [ROSSARM A[»L
= le CHECKED BY K.GOSDEN
o
« APPROVED BY | MICHAEL COOPER D OHC (088 sD 001 REVISION
DATE APPROVED | FEB 2022 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-31



Overhead Distribution Construction Manual Section 3

Strain Vertical Double Circuit Open Wire FRP Crossarm — Material List

—

1 \ 2 \ 3 \ b 5
A
B
Unit A bly [Store Type [Item Ref| Stock Item [Stock Item Description Quantity
SVI1I3/FRP S 60E 320531 _|Insulator, Pin Type 6
and N -
SV/22/3/FRP 60G 321260 |Insulator Disc Porcelain 16mm 70Kn 146mm 24
C 61A 322056 |Ball Clevis & Pin 16mm 12
61B 322386  |Socket Termination 16mm 12
61D 322090 | 'W' Clip / Kink Pin 36
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 3
— 75N 32287 Bolt Hex M16 X 350 - Thread Length 57mm 1
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 2
75U 32294 Bolt Hex M16 X 500 - Thread Length 75mm 1
75V 32295 Bolt Hex M16 X 525 - Thread Length 75mm 2
D 82A 40441 Nut Hex M16 21
86B 65158 Washer ELS M16 6
87D 65616 [Washer NS M16 24
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 3
1 T203A 323316 | XARM BRACE - 716x40x8 3
T204A 322717 |PIN, INSULATOR - (MORLYNN - C20011) 198mm stem - 54mm to base of insulator from xarm 6
T206B 325607 |M16 EYE BOLT 180 - Thread Length 60mm 6
T207B 325740 [M16 EYE NUT 6
E T208B 323307 |GAIN BLOCK 125mm 3
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 3
F
G
H
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» frading as TasNefworks OR TRANSHITTED By ANT MEANS WITHOUT Tot
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°|3 TasNetwork T SCALE
- |2 ashetworks STRAIN VERTICAL DOUBLE CIRCUIT NTS
< |z povwm e 17kV OR 22kV OPEN WIRE
il FRP CROSSARM
"] = DESIGNED BY B.MAYBERRY M A T E R ‘ AL L‘S T A [+
=lo CHECKED BY K.GOSDEN
< APPROVED BY  [MICHAEL COOPER _ _ _ _ REVISIN
DATE APPROVED |FEB 2022 D OH[ [088 SD 002 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-32



Overhead Distribution Construction Manual

Section 3

3.15 Right Angle Strain Vertical Double Circuit Open Wire FRP Crossarm

—

N

1 \ 2 \ 3 \ 4 \ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
CONDUCTOR TIES TO SUIT
CONDUCTOR SIZE/TYPE
T204A
A
o o
L 8 8
) *
72088 X T209D
B \; o
©
82A X 868 )Y 87D
75V Y 12088 )_1209D
(
o
]
0 868 (870
72088 X 12090 a
Y a
[
wwx
o
w
. ZHe
VZo
000
Zonz
o
08
o<n
£ )
>%s
o2
|—0§
725
—
S
08 ...
2FS
-
(OMPRESSION SLEEVES OR ®
CLAMP CONNECTORS TO SUIT T206A
CONDUCTOR SIZE/TYPE y
i s i
v B
G HELICAL TERMINATION
200 70 SUIT CONDUCTOR
= SIZE/TYPE
NOTES APL Nos
H @ RSV/11/3/FRP
1. FIT INSULATION SLEEVING TO ALL BRIDGING RSV/22/3/FRP
2. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS
3. SUPERSEDEEES STEEL X-ARM CONST. L] BmEENSSS‘Og‘%HéSvEN‘SE rg\TL;%EJRES
D-0HC-(022-5D-001
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v trad T Net k STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as fasNerworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
= TasNetworks e SCALE
A RIGHT ANGLE STRAIN VERTICAL DOUBLE CIRCUIT 130
<|Z 1kV OR 22kV OPEN WIRE
DRAWN ELECTRO
x|z FRP CROSSARM
w |9 DESIGNED BY B.MAYBERRY AL
[a4
= o CHECKED BY K.GOSDEN
=
< APPROVED BY | MICHAEL COOPER D QHC 090 ) 001 REVISION
DATE APPROVED | FEB 2022 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-33



Overhead Distribution Construction Manual Section 3
Right Angle Strain Vertical Double Circuit Open Wire FRP Crossarm — Material List
1 2 \ 3 \ b \ 5
A
Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
RSVI1/3/FRP S 60E 320531 _|[Insulator, Pin Type 6
and " N
B ||Rsvi2zi3/FRP 60G 321260 [Insulator Disc Porcelain 16mm 70Kn 146mm 24
61A 322056 [Ball Clevis & Pin 16mm 12
61B 322386 |Socket Termination 16mm 12
61D 322090 ‘W' Clip / Kink Pin 36
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 6
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 4
75Q 32290 Bolt Hex M16 X400 - Thread Length 75mm 2
75V 32295 Bolt Hex M16 X 525 - Thread Length 75mm 4
C 75W 32296 Bolt Hex M16 X 550 - Thread Length 75mm 2
82A 40441 Nut Hex M16 42
86B 65158 Washer ELS M16 12
87D 65616 Washer NS M16 48
I— T200E 323223 [CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 6
T203A 323316 [XARM BRACE - 716x40x8 6
T204A 322717 [PIN, INSULATOR - (MORLYNN - C20011) 198mm stem - 54mm to base of insulator from xarm 6
T206A 325628 [M16 EYE BOLT 150 - Thread Length 60mm 12
D T208B 323307 [GAIN BLOCK 125mm 6
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 6
£
F
G
H
© Jasmarian Netvorke PTV. 11D 2, e o e e
n trading as TasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
2132 TasNetworks e SCALE
—|a RIGHT ANGLE STRAIN VERTICAL DOUBLE CIRCUIT NTS
< | 17kV OR 22kV OPEN WIRE
o |2 DRAWN ELECTRD
w |8 DESIGNED BY | B.MAYBERRY FRP CROSSARM
= MATERIAL LIST AL
CHECKED BY K.GOSDEN
-
< APPROVED BY |MICHAEL COOPER _ _ _ _ REVISION
DATE APPROVED [FEB 2022 D OHC [090 SD OOZ A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-34




Overhead Distribution Construction Manual

Section 3

3.16 Horizontal Intermediate & Strain Double Circuit Open Wire FRP

1 \ 2 \ 3 \ 4 \ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
75E
82A
87D
A T20LA
{ |é 6 /;
T200C
o
N
L S P
B
8 S (e
[T L= NG
Seg )
%iﬁ T203A
0l
o <X
%:g CONDUCTOR TIES TO SUIT
( Nk CONDUCTOR SIZE/TYPE
nzg
SE0
%52
252
ig% 75T 82A 86B T209D
7 €5 e 870 X_T208A
£3<
B8R
D COMPRESSION SLEEVES OR CLAMP
CONNECTORS TO SUIT CONDUCTOR
SIZE/TYPE
E
HELICAL TERMINATION
- TO SUIT CONDUCTOR
SIZE/TYPE
F
TOP INTERMEDIATE
CROSS ARM OMITTED
I FOR CLARITY
G

NOTES

1. FIT INSULATION SLEEVING TO ALL BRIDGING
H | 2. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS
3. CENTRE PHASE ON TOP CIRCUIT TO BE STAGGERED & SWAP

APL Nos

SIDES ON ALTERNATE POLES

4. SUPERSEDES STEEL X-ARM CONST. D-0HC-C023-SD-001

DCI/11/3/FRP
DC1/22/3/FRP

DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED

© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,

o frading as TasNefworks OR TRANSHITTED, 57" AKY MEANS WITHOUT TH
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
=] TLE SCALE
- |2 TasNetworks HORIZONTAL INTERMEDIATE & STRAIN 130
<|Z DOUBLE CIRCUIT 11kV OR 22kV OPEN WIRE
o« |= DRAWN ELECTRO FRP [ROSSARM
w g DESIGNED BY B.MAYBERRY AL
Z © CHECKED BY K.GOSDEN

APPROVED BY  [MICHAEL CDOPER REVISION
h DATE APPROVED |FEB 2022 D - OHC - C091 - SD - 001 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-35



Overhead Distribution Construction Manual

Section 3

Horizontal Intermediate & Strain Double Circuit Open Wire FRP Crossarm — Material List

-

W \ 2 \ 3 \ : \
A
B
Store Type |Item Ref| Stock Item |Stock Item Description y
DCI/11/3/FRP S 60E 320531 |Insulator, Pin Type 6
I g”cdl 122/3/ERP 60G 321260 _|Insulator Disc Porcelain 16mm 70Kn 146mm 12
61A 322056 [Ball Clevis & Pin 16mm 6
61B 322386  [Socket Termination 16mm 6
C 61D 322090 ‘W' Clip / Kink Pin 18
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 2
[ 75T 32293 Bolt Hex M16 X475 - Thread Length 75mm 1
82A 40441 Nut Hex M16 14
86B 65158 Washer ELS M16 5
87D 65616 Washer NS M16 13
D T200C 323219 |CF XARM - 2840x100x100 - CA-100 SHS 2.834m ARM 1
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 | XARM BRACE - 716x40x8 2
T204A 322717 |PIN, INSULATOR - (MORLYNN - C20011) 198mm stem - 54mm to base of insulator from xarm 6
— T206B 325628 |M16 EYE BOLT 180 - Thread Length 60mm 2
T206H 325636 |M16 EYE BOLT 400 - Thread Length 75mm 1
T207B 325740 |M16 EYE NUT 3
T208A 323306 |GAIN BLOCK 100mm 1
E T208B 323307 |GAIN BLOCK 125mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 3
75V 32295 Bolt Hex M16 X 525 - Thread Length 75mm 1
F
G
H
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o fradng as Taskeworks SIS0 A FETRAL ST A o
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y SCALE
- |3 TasNetworks | ™40RIZONTAL INTERMEDIATE STRAIN DOUBLE CIRCUIT] s
<|2 povwm e 11 kV OR 22kV OPEN WIRE
== FRP CROSSARM
E g DESIGNED BY B.MAYBERRY M A TE R ‘ AL L‘ST A [+
. CHECKED BY K.GOSDEN
APPROVED BY  [MICHAEL COOPER| REVISION
= DATE APPROVED | FEB 2022 D B OH[ B [09/‘ B SD B A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-36




Overhead Distribution Construction Manual

Section 3

3.17 Double Circuit Strain Horizontal Open Wire FRP Crossarm

—

1 \ 2 \ 3 \ L \ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH THE POLE
T204LA
A
— i
I
< T203A
B T206H X T2078 T209D
o
=
— pa -8
E
e
W
Tuz
mmcﬁ
wlg
o <<
23
( 202
CONDUCTOR TIES TO SUIT — %Qg
CONDUCTOR SIZE/TYPE 25
k=l
o523
22
— zos
=0
ESE
333
E2a ™
HELICAL TERMINATIONS -
D TO SUIT CONDUCTOR
SIZE/TYPE
£
COMPRESSION SLEEVES OR CLAMP
CONNECTORS TO SUIT_CONDUCTOR
SIZE/TYPE
— 82A
F
§
NOTES
1. FIT INSULATION SLEEVING TO ALL BRIDGING
H | 2. THIS ARRANGEMENT CAN BE USED IN BIRD
PROBLEM AREAS APL Nos
3. SUPERSEDES STEEL X-ARM CONST. DS/11/3/FRP DIMENSIONS ARE IN MILLIMETRES
D-0HC-C024-5D-001 DS/22/3/FRP UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
n trad TasNet K STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as lasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN. 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
2 TasNetworks T S(ALE
A DOUBLE CIRCUIT STRAIN HORIZONTAL 130
< |2 1MkV OR 22kV OPEN WIRE
DRAWN ELECTRD
== FRP CROSSARM
() = DESIGNED BY B.MAYBERRY AA
e CHECKED BY K.GOSDEN
i,
- APPROVED BY | MICHAEL COOPER - - -~ - REVISION
ot s | P 2022 D - OHC - €092 - SD - 007 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-37




Overhead Distribution Construction Manual

Section 3

Double Circuit Strain Horizontal Open Wire FRP Crossarm — Material List

—

W \ 2 \ 3 \ : \
A
B
C
Unit Assembly | Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
I/33/3/FRP S 60F 320541 |Insulator, Pin Type 3
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 1
75T 32293 Bolt Hex M16 X475 - Thread Length 75mm 1
82A 40441 Nut Hex M16 5
87D 65616 Washer NS M16 4
D 86B 65158 Washer ELS M16 2
T200C 323219  [CF XARM - 2840x100x100 - CA-100 SHS 2.834m ARM 1
T203A 323316 [XARM BRACE - 716x40x8 1
T204B 322717 |PIN, INSULATOR - (MORLYNN - C3007) 298mm stem - 58mm to base of insulator from xarm 3
T208A 323306 |GAIN BLOCK 100mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 1
£
F
G
H
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» trad T Net K STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as lasNerworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°lz TasNetworks e SCaE
Z|a DOUBLE CIRCUIT STRAIN HORIZONTAL NTS
<|2 1MkV OR 22kV OPEN WIRE
~E DRAWN ELECTRD FRP (ROSSARM
w [ DESIGNED BY B.MAYBERRY
= MATERIAL LIST Ak
CHECKED BY K.GOSDEN
-
< APPROVED BY  [MICHAEL COOPER B B B REVISION
one e [P 2022 D - ORC - €092 - 50 - 002 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-38



Overhead Distribution Construction Manual Section 3
3.18 MS HVABC High Lift Suspension Intermediate
1 \ 2 \ 3 \ L 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE
A
LOCK NUT
] CATENARY 19/2.00 o
©
B
(=]
S
C
SUSPENSION CLAMPS TO SUIT
METALLIC SCREENED HVABC
D
- 1kV 35mm
| - kv 185mm’
- 22kV 35mm’
- 22kV 185mm’
METALLIC SCREENED HVABC
E
F v
G
APL Nos
H IH/HVABC11.35/3/PLM
IH/HVAB(C11.185/3/PLM
IH/HVAB(22.35/3/PLM DIMENSIONS ARE IN MILLIMETRES
IH/HVAB(22.185/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v frading as TasNefworks 08 TRANSHITTED B ANY HEANS MITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w TITLE SCALE
-2 TasNetworks MS HVABC HIGH LIFT SUSPENSION INTERMEDIATE | yrc
z § DRAWN ELECTRO
(] g DESIGNED BY BMAYBERRY ALL
e CHECKED BY K.GOSDEN
<t APPROVED BY MICHAEL COOPER _ _ _ _ REVISION
DATE APPROVED |FEB 2022 D O H[ [095 S D OOW A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-39



Overhead Distribution Construction Manual

Section 3

MS HVABC High Lift Suspension Intermediate - Material List

—

1 \ 2 \ 3 \ b 5
A
Store Type | Item Ref Stock Item  |Stock Item Description Quantity
IH/HVABC11.35/ S 75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 2
B [|3/PLM 82A 40441 Nut Hex M16 6
87D 65616 Washer NS M16 2
98C 149120 HVABC Mounting Bracket High Lift 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
T221A NEW Metallic Screen HV ABC Suspension Clamp 11kV 35mm2 (TYCO IBSH1050) 1
— T222 145601 HV ABC Suspension Hook M16 (TYCO HB16200) 1
T223A NEW Metallic Screen HV ABC Cable 11kV 35mm2 (Olex Product Code UJHA18AA003) 1
Store Type | Item Ref Stock Item  |Stock Item Description Quantity
IH/HVABC11.18 S 75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 2
5/3/PLM 82A 40441 Nut Hex M16 6
C 87D 65616 Washer NS M16 2
98C 149120 HVABC Mounting Bracket High Lift 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
T221B NEW Metallic Screen HV ABC Suspension Clamp 11kV 185mm2 (TYCO IBSH1075) 1
T222 145601 HV ABC Suspension Hook M16 (TYCO HB16200) 1
— T223B NEW Metallic Screen HV ABC Cable 11kV 185mm2 (Olex Product Code UJHA25AA003) 1
Store Type | Item Ref Stock Item  |Stock Item Description Quantity
IH/HVABC22.35/ S 75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 2
3/PLM 82A 40441 Nut Hex M16 6
87D 65616 Washer NS M16 2
D 98C 149120 HVABC Mounting Bracket High Lift 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
T221C NEW Metallic Screen HV ABC Suspension Clamp 22kV 35mm2 (TYCO IBSH1060) 1
T222 145601 HV ABC Suspension Hook M16 (TYCO HB16200) 1
T223C NEW Metallic Screen HV ABC Cable 22kV 35mm2 (Olex Product Code ULHA18AA003) 1
— Store Type | Item Ref Stock Item  |Stock Item Description Quantity
IH/HVABC22.18 S 75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 2
5/3/PLM 82A 40441 Nut Hex M16 6
87D 65616 Washer NS M16 2
98C 149120 HVABC Mounting Bracket High Lift 1
E T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
T221D NEW Metallic Screen HV ABC Suspension Clamp 22kV 185mm2 (TYCO IBSH1085) 1
T222 145601 HV ABC Suspension Hook M16 (TYCO HB16200) 1
T223D NEW Metallic Screen HV ABC Cable 22kV 185mm2 (Olex Product Code ULHA25AA003) 1
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 tradng as Taskeorks SIS RETEVAL STt A o
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
213 TasNetworks Tme SCALE
—|a MS HVABC HIGH LIFT SUSPENSION INTERMEDIATE NTS
<|2 P — MATERIALS LIST
@ |Z
w |8 DESIGNED BY | BMAYBERRY
=
; © CHECKED BY K GOSDEN A A
< APPROVED BY | MICHAEL CODPER REVISION
D - OHC - (095 - SD - 002 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-40




Overhead Distribution Construction Manual Section 3

3.19 MS HVABC Angle High Lift Double Hook Suspension
—

1 \ 2 \ 3 \ L \ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE
A
LOCK NUT
B o
w
o
=1
N
(
— |
(P )Cs2a )10 (72090
— |
[ CATENARY 19/2.00
OR
D 0R SUSPENSION CLAMPS TO SUIT
0R METALLIC SCREENED HVABC \
0R T223A ) - 1kV 35mm
0R T223B ) - 11kV 185mm’
R T223C ) - 22kV 35mm’
— T223D0 ) - 22kv 185mm’
+«USE THIS DOUBLE HOOK CONSTRUCTION FOR METALLIC SCREENED HVABC
LINE ANGLES 15 DEGREES AND GREATER.
£
F
G
APL Nos
H IHD/HVABC11.35/3/PLM
IHD/HVABC11.185/3/PLM
IHD/HVAB(22.35/3/PLM DIMENSIONS ARE IN MILLIMETRES
IHD/HVAB(22.185/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n frading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
=} TasNetworks e SCALE
A MS HVABC HIGH LIFT ANGLE NTS
< |2 DOUBLE HOOK SUSPENSION
o |2 DRAWN ELECTRO
w9 DESIGNED BY | B/ MAYBERRY
[a4
=|e CHECKED BY K. GOSDEN AL
2 APPROVED BY | MICHAEL COOPER REVISION
< — — — —
D - 0ORC - C09 - 50 - 001 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-41



Overhead Distribution Construction Manual

Section 3

MS HVABC Angle High Lift Double Hook Suspension - Material List

—

1 [ 2 [ 3 [ L
A
Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
IHD/HVABC11.3 S 75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 2
5/3/PLM 82A 40441 Nut Hex M16 8
87D 65616  |Washer NS M16 2
B 98C 149120 |HVABC Mounting Bracket High Lift 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
T221A NEW Metallic Screen HV ABC Suspension Clamp 11kV 35mm2 (TYCO IBSH1050) 2
T222 145601 |HV ABC Suspension Hook M16 (TYCO HB16200) 2
T223A NEW Metallic Screen HV ABC Cable 11kV 35mm2 (Olex Product Code UJHA18AA003) 1
[ Store Type |Item Ref| Stock Item |Stock Item Description Quantity
IHD/HVABC11.1 S 75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 2
85/3/PLM 82A 40441 Nut Hex M16 8
87D 65616  |Washer NS M16 2
C 98C 149120 |HVABC Mounting Bracket High Lift 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
T221B NEW Metallic Screen HV ABC Suspension Clamp 11kV 185mm2 (TYCO IBSH1075) 2
T222 145601 |HV ABC Suspension Hook M16 (TYCO HB16200) 2
T223B NEW Metallic Screen HV ABC Cable 11kV 185mm2 (Olex Product Code UJHA25AA003) 1
| Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
IHD/HVABC22.3 S 75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 2
5/3/PLM 82A 40441 Nut Hex M16 8
87D 65616  |Washer NS M16 2
D 98C 149120 |HVABC Mounting Bracket High Lift 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
T221C NEW Metallic Screen HV ABC Suspension Clamp 22kV 35mm2 (TYCO IBSH1060) 2
T222 145601 |HV ABC Suspension Hook M16 (TYCO HB16200) 2
T223C NEW Metallic Screen HV ABC Cable 22kV 35mm2 (Olex Product Code ULHA18AA003) 1
[ | Store Type |Item Ref| Stock Item |Stock Item Description Quantity
IHD/HVABC22.1 S 75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 2
85/3/PLM 82A 40441 Nut Hex M16 8
87D 65616  |Washer NS M16 2
£ 98C 149120 |HVABC Mounting Bracket High Lift 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
T221D NEW Metallic Screen HV ABC Suspension Clamp 22kV 185mm2 (TYCO IBSH1085) 2
T222 145601 |HV ABC Suspension Hook M16 (TYCO HB16200) 2
T223D NEW Metallic Screen HV ABC Cable 22kV 185mm2 (Olex Product Code ULHA25AA003) 1
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. STORED N A RETRIEVAL STSTEN N ANY FOR
v frading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y TNLE SCALE
-2 TasNetworks MS HVABC HIGH LIFT ANGLE NTS
< |z DOUBLE HOOK SUSPENSION
o |2 DRAWN ELECTRO
z MATERIALS LIST
w g DESIGNED BY B/ MAYBERRY A Z*'
e CHECKED BY | K. GOSDEN
j( APPROVED BY | MICHAEL COOPER D _ O H[ _ [09 6 _ S D _ REVISION
DATE APPROVED | FEB 2022 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-42




Overhead Distribution Construction Manual Section 3

3.20 MS HVABC Strain Unjointed
—

1 \ 2 \ 3 L 5
NB ENSURE THAT LOCKNUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
B SUSPENSION CLAMPS
TO SUIT METALLIC
SCREENED HVABC L\
(
D
CATENARY 19/2.00
£
— 3
2
Q BUNDLE CLAMPS
73328
OR TO SUIT METALLIC
F 1332C ) SCREENED HVABC
- 1kV 35mm
- 1KV 185mm ~—
- 22kV 35mm’
- 22kV 185mm’
G METALLIC SCREENED HVABC
APL Nos
H SUJ/HVABC11.35./3/PLM
SUJ/HVABC11.185/3/PLM
SUJ/HVAB(22.35/3/PLM DIMENSIONS ARE IN MILLIMETRES
SUJ/HVABC22.185/3/PLM UNLESS OTHERWISE STATED
©Tusmumun Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v trad TasNet k STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as fasNerworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
213 TasNetworks e SIALE
A MS HVABC - STRAIN - UNJOINTED NTS
< |
o Z DRAWN ELECTRO
w |2 DESIGNED BY B.MAYBERRY
[a4
=1e CHECKED BY K.GOSDEN A['L
2 APPROVED BY REVISION
< MICHAEL COOPER _ _ _
D - 0RC - €097 - SD - 007 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-43



Overhead Distribution Construction Manual Section 3
MS HVABC Strain Unjointed - Material List
1 | 2 | 3 L 5
A
Store Type [ltem Ref| Stock Item |Stock Item Description Quantity
SUJHVABC11 S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
.35/3/PLM 55J 146857 [Conductor Connection Slit Bolt 'D' Brass Clamp 2
B 61A 322056 |Ball Clevis & Pin 16mm 2
61B 322386 |Socket Termination 16mm 2
61D 322090 |W'Clip / Kink Pin 2
80E 37263 Bolt Eye M20 x 375 2
82B 40442 Nut Hex M20 4
— 86C 65159 Washer ELS M20 2
87E 65617 Washer NS M20 2
T220 149110 [HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
T221A NEW Metallic Screen HV ABC Suspension Clamp 11kV 35mm2 (TYCO IBSH1050) 2
T223A NEW Metallic Screen HV ABC Cable 11kV 35mm2 (Olex Product Code UJHA18AA003) 1
C T332A NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 11kV 35mm2 - 'Protect’ Trefoil Clamp 2
Store Type [ltem Ref| Stock Item |Stock Item Description Quantity
SUJHVABC11 S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
.185/3/PLM 55J 146857 [Conductor Connection Slit Bolt 'D' Brass Clamp 2
61A 322056 |Ball Clevis & Pin 16mm 2
1 61B 322386  |Socket Termination 16mm 2
61D 322090 (W' Clip/ Kink Pin 2
80E 37263 Bolt Eye M20 x 375 2
82B 40442 Nut Hex M20 4
86C 65159 Washer ELS M20 2
D 87E 65617 Washer NS M20 2
T220 149110 [HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
T221B NEW Metallic Screen HV ABC Suspension Clamp 11kV 185mm2 (TYCO IBSH1075) 2
T223B NEW Metallic Screen HV ABC Cable 11kV 185mm2 (Olex Product Code UJHA25AA003) 1
T332B NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 11kV 185mm2 - 'Protect’ Trefoil Clamp 2
| Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
SUJHVABC22 S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
.35/3/PLM 55J 146857  [Conductor Connection Slit Bolt 'D' Brass Clamp 2
61A 322056  [Ball Clevis & Pin 16mm 2
E 61B 322386 |Socket Termination 16mm 2
61D 322090 W' Clip/ Kink Pin 2
80E 37263 Bolt Eye M20 x 375 2
82B 40442 Nut Hex M20 4
86C 65159 Washer ELS M20 2
— 87E 65617 Washer NS M20 2
T220 149110 [HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
T221C NEW Metallic Screen HV ABC Suspension Clamp 22kV 35mm2 (TYCO IBSH1060) 2
T223C NEW Metallic Screen HV ABC Cable 22kV 35mm2 (Olex Product Code ULHA18AA003) 1
T332C NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 22kV 35mm2 - 'Protect' Trefoil Clamp 2
F Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
SUJ/HVABC22 S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
.185/3/PLM 55J 146857 [Conductor Connection Slit Bolt 'D' Brass Clamp 2
61A 322056 [Ball Clevis & Pin 16mm 2
61B 322386 |Socket Termination 16mm 2
— 61D 322090 |W'Clip / Kink Pin 2
80E 37263 Bolt Eye M20 x 375 2
82B 40442 Nut Hex M20 4
86C 65159 Washer ELS M20 2
87E 65617 Washer NS M20 2
G T220 149110 [HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
T221D NEW Metallic Screen HV ABC Suspension Clamp 22kV 185mm2 (TYCO IBSH1085) 2
T223D NEW Metallic Screen HV ABC Cable 22kV 185mm2 (Olex Product Code ULHA25AA003) 1
T332D NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 22kV 185mm2 - 'Protect’ Trefoil Clamp 2
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w © trading as TasNetworks OF TRANSHITTED BY'ANY HEANS WITHOUT T
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y TITLE SCALE
-2 TasNetworks MS HVABC - STRAIN - UNJOINTED NTS
<|z — — MATERIAL LIST
x|z
w (2 DESIGNED BY | B.MAYBERRY
: S CHECKED BY K.GOSDEN AL
< APPROVED BY [ MICHAEL COOPER REVISON
DATE APPROVED | FEB 2022 D - OHC = (097 = SD - 002 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-44




Overhead Distribution Construction Manual Section 3

3.21 MS HVABC Strain Jointed

—

1 | 2 | 3 A 5

NB ENSURE THAT LOCKNUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.

A BUNDLE CLAMPS TO SUIT
METALLIC SCREENED HVABC
or (13324
SNGEETD
N GED
73320
Y
%)
‘g%
B Z
oxCT2z1A
CATENARY 19/2.00 or G 12218 )
C or o121
12210
SUSPENSION CLAMPS TO SUIT
(8oe X a7E Y89 (828 Y(86C ) METALLIC SCREENED HVABC
SCREEN WIRE EARTH
TAILS TIED TO CATENARY
WITH NYLON TIES
D
COPPER LINKS TO SUIT
MS HVABC SCREENED HVABC
|| (T
3408
185mm
or(TZ2ER) B
ik g ar g
E NOTE 1 or L13378 OR
T337C T22LD
OR CABLE JOINTS TO SUIT
or G518 ) METALLIC SCREENED HVABC
_— OR - 1kV 35mm 51C
o0r$T2238 ) - 1ikv 185mn’ |-
OR - 22kV 35mm’
12230 ) - 22kV 185mm’* 21D N
19/2.14Cu EARTH
F METALLIC SCREENED HVABC O LAD PyC
G
NOTES:
1. HVABC SCREEN WIRES TO BE CONNECTED TO EARTH
H DOWNLEAD ON SOURCE SIDE ONLY, TERMINATE THE SCREEN APL Nos
WIRES TO A COPPER LINK & TAPE ON AWAY SIDE éjﬁwﬁggmﬁigfpm
& DO NOT TERMINATE TO EARTH DOWNLEAD. SJ/HVAB(22.35/3/PLM DIMENSIONS ARE IN MILLIMETRES
SJ/HVAB(22.185/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy SCALE
=) TasNetworks e
Z|a MS HVABC STRAIN JOINTED NTS
< |2
« :z’i DRAWN ELECTRO
w |8 DESIGNED BY B.MAYBERRY
o
= |o CHECKED BY K.GOSDEN Al”
-
<

APPROVED BY MICHAEL COOPER D _ O H [ _ [O 98 _ S D _ O O/‘ REVEUN

DATE APPROVED | FEB 2022

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-45




Overhead Distribution Construction Manual Section 3

MS HVABC Strain Jointed - Material List 1

—

1 [ 2 [ 3 L 5
A
Store Type | Item Ref Stock Item  |Stock Item Description Quantity
SJ/HVABC11.35/3/PLM S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
35E 141363 Lug Crimp Cu M12 Hole 70mm2 Cable 1
B 51A 103208 Conductor Cu Insulated Hard Drawn 1c 16mm2, 7/1.70 12
51D 103212 Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 10
55J 146857 Conductor Connection Slit Bolt 'D' Brass Clamp 4
61A 322056 Ball Clevis & Pin 16mm 2
61B 322386 Socket Termination 16mm 2
61D 322090 W' Clip / Kink Pin 2
— 80E 37263 Bolt Eye M20 x 375 2
82B 40442 Nut Hex M20 4
86C 65159 Washer ELS M20 2
87E 65617 Washer NS M20 2
T220 149110 HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
T221A NEW Metallic Screen HV ABC Suspension Clamp 11kV 35mm2 (TYCO IBSH1050) 2
C T223A NEW Metallic Screen HV ABC Cable 11kV 35mm2 (Olex Product Code UJHA18AA003) 1
T224A 149309 Metallic Screen HV ABC Cable Joint, 11kV 35mm2, 3x1 Core, 19/2.00-10mm Dia Gal Catenary 3
T330 144959 Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 4
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 20
T332A NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 11kV 35mm2 - 'Protect’ Trefoil Clamp 2
[ T337A 141410 Ferrule - Copper, Cable Links for MS HVABC Cable 11kV 35mm2 Screen Wires - CSA 13.62mm2 6
T340A 149311 Bracket, Tee Support, Pole Mounted 185mm2 MS HVABC Cable Tee Joints - AusNet Dwg. VX14/433/4. 1
T340B 149313 Clamp, Band Suits 35 & 185mm2 MS HVABC Cable Tee Joint Brackets - AusNet Dwg. VX14/298. 1
Store Type | Item Ref Stock Item  |Stock Item Description Quantity
SJ/HVABC11.185/3/PLM S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
35E 141363 Lug Crimp Cu M12 Hole 70mm2 Cable 1
D 51C 94180 Conductor Cu Insulated Hard Drawn 1¢ 50mm2, 19/1.78 12
51D 103212 Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 10
55J 146857 Conductor Connection Slit Bolt 'D' Brass Clamp 4
61A 322056 Ball Clevis & Pin 16mm 2
61B 322386 Socket Termination 16mm 2
61D 322090 W' Clip / Kink Pin 2
] 80E 37263 Bolt Eye M20 x 375 2
82B 40442 Nut Hex M20 4
86C 65159 Washer ELS M20 2
87E 65617 Washer NS M20 2
T220 149110 HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
E T221B NEW Metallic Screen HV ABC Suspension Clamp 11kV 185mm2 (TYCO IBSH1075) 2
T223B NEW Metallic Screen HV ABC Cable 11kV 185mm2 (Olex Product Code UJHA25AA003) 1
T224B NEW Metallic Screen HV ABC Cable Joint, 11kV 185mm2, 3x1 Core, 19/2.00-10mm Dia Gal Catenary 3
T330 144959 Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 4
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 20
T332B NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 11kV 185mm2 - 'Protect’ Trefoil Clamp 2
— T337B 141412 Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm2 6
T340A 149311 Bracket, Tee Support, Pole Mounted 185mm2 MS HVABC Cable Tee Joints - AusNet Dwg. VX14/433/4. 1
T340B 149313 Clamp, Band Suits 35 & 185mm2 MS HVABC Cable Tee Joint Brackets - AusNet Dwg. VX14/298. 1
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" trading as TasNetworks STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
= TITLE SCALE
-2 TasNetworks MS HVABC STRAIN JOINTED NTS
< |2 MATERIAL LIST - 35/185mm2 11KV ABC
o |2 DRAWN ELECTRO
w g DESIGNED BY | B.MAYBERRY A A
= |e CHECKED BY K.GOSDEN
-
< APPROVED BY | MICHAEL COOPER REVISION
DATE APPROVED |FEB 2022 D O H [ [ O 9 8 S D O O 2 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-46



Overhead Distribution Construction Manual Section 3

MS HVABC Strain Jointed - Material List 2

—

1 [ 2 [ 3 L 5
A
Store Type [ Item Ref Stock Item [Stock Item Description Quantity
SJ/HVABC22.35/3/PLM S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
35E 141363 Lug Crimp Cu M12 Hole 70mm2 Cable 1
B 51B 103209 Conductor Cu Insulated Hard Drawn 1c 25mm2, 19/1.35 12
51D 103212 Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 10
55J 146857 Conductor Connection Slit Bolt 'D' Brass Clamp 4
61A 322056 Ball Clevis & Pin 16mm 2
61B 322386 Socket Termination 16mm 2
— 61D 322090 W' Clip / Kink Pin 2
80E 37263 Bolt Eye M20 x 375 2
82B 40442 Nut Hex M20 4
86C 65159 Washer ELS M20 2
87E 65617 Washer NS M20 2
T220 149110 HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
C T221C NEW Metallic Screen HV ABC Suspension Clamp 22kV 35mm2 (TYCO IBSH1060) 2
T223C NEW Metallic Screen HV ABC Cable 22kV 35mm2 (Olex Product Code ULHA18AA003) 1
T224C 149301 Metallic Screen HV ABC Cable Joint, 22kV 35mm2, 3x1 Core, 19/2.00-10mm Dia Gal Catenary 3
T330 144959 Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 4
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 20
T332C NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 22kV 35mm2 - 'Protect' Trefoil Clamp 2
| T337C 141414 Ferrule - Copper, Cable Links for MS HVABC Cable 22kV 35mm2 Screen Wires - CSA 22.7mm2 6
T340A 149311 Bracket, Tee Support, Pole Mounted 185mm2 MS HVABC Cable Tee Joints - AusNet Dwg. VX14/433/4. 1
T340B 149313 Clamp, Band Suits 35 & 185mm2 MS HVABC Cable Tee Joint Brackets - AusNet Dwg. VX14/298. 1
Store Type [ Item Ref Stock Item [Stock Item Description Quantity
SJ/HVABC22.185/3/PLM S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
D 35E 141363 Lug Crimp Cu M12 Hole 70mm2 Cable 1
51C 94180 Conductor Cu Insulated Hard Drawn 1c 50mm?2, 19/1.78 12
51D 103212 Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 10
55J 146857 Conductor Connection Slit Bolt 'D' Brass Clamp 4
61A 322056 Ball Clevis & Pin 16mm 2
61B 322386 Socket Termination 16mm 2
— 61D 322090 W' Clip / Kink Pin 2
80E 37263 Bolt Eye M20 x 375 2
82B 40442 Nut Hex M20 4
86C 65159 Washer ELS M20 2
87E 65617 Washer NS M20 2
T220 149110 HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
E T221D NEW Metallic Screen HV ABC Suspension Clamp 22kV 185mm2 (TYCO IBSH1085) 2
T223D NEW Metallic Screen HV ABC Cable 22kV 185mm2 (Olex Product Code ULHA25AA003) 1
T224D 149303 Metallic Screen HV ABC Cable Joint, 22kV 185mm2, 3x1 Core 19/2.00-10mm Dia Gal Catenary 3
T330 144959 Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 4
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 20
— T332D NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 22kV 185mm?2 - 'Protect' Trefoil Clamp 2
T337B 141412 Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm2 6
T340A 149311 Bracket, Tee Support, Pole Mounted 185mm2 MS HVABC Cable Tee Joints - AusNet Dwg. VX14/433/4. 1
T340B 149313 Clamp, Band Suits 35 & 185mm2 MS HVABC Cable Tee Joint Brackets - AusNet Dwg. VX14/298. 1
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" trading as TasNetworks STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
=) TITLE SCALE
-2 TasNetworks MS HVABC STRAIN JOINTED NTS
< |2 MATERIAL LIST - 35/185mm2 22KV ABC
< DRAWN ELECTRO
x|z
w g DESIGNED BY | B.MAYBERRY A A
e CHECKED BY K.GOSDEN
-
< APPROVED BY | MICHAEL COOPER REVISION
D - OHC - C098 - SD - 003 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-47



Overhead Distribution Construction Manual Section 3
3.22 MS HVABC Right Angle Strain Jointed
1 \ 2 \ \ 4 5
NB ENSURE THAT LOCKNUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
B
SCREEN WIRE EARTH TAILS m@
TIED TO CATENARY WITH 328
( NYLON TIES (a0 (860) \ '
7331
BUNDLE CLAMPS TO SUIT
METALLIC SCREENED HVABC SUSPENSION CLAMPS
T332A T0 SUIT METALLIC
1 OR SCREENED HVABC
NGETD o |
3320 oRG122
’ R Tz
R Ty
D ©
700
<5l
KX HVABC SCREEN R
% EARTH TAILS ol
NOTE 1
WY
t Sl
OR Y
R COPPER LINKS TO SUIT \\.
MS HVABC SCREENED HVABC 0
TR0 - kv 35mn’ CABLE JOINTS TO
R ) SUIT METALLIC
or CT223B ) - 1kv 185mm SCREENED HVABC
(12230 - 22kv 35mm’ ./
R ,
- 22kV 185mm G ___/
METALLIC SCREENED HVABC  19/2.14Cu EARTH
F DOWN LEAD PVC
G
NOTES:
1. HVABC SCREEN WIRES TO BE CONNECTED TO EARTH
H DOWNLEAD ON SOURCE SIDE ONLY, TERMINATE THE SCREEN APL Nos
WIRES TO A COPPER LINK & TAPE ON AWAY SIDE ggj;:mg%m&g%m
& DO NOT TERMINATE TO EARTH DOWNLEAD. RSJ/HVABC22.35/3/PLM DIMENSIONS ARE IN MILLIMETRES
RSJ/HVAB(22.185/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v trad T Net k STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as fasNerworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
= TasNetworks e SCALE
A MS HVABC RIGHT ANGLE STRAIN JOINTED 130
<|=
o Z DRAWN ELECTRO
w |9 DESIGNED BY B.MAYBERRY
[a4
= o CHECKED BY K.GOSDEN AL
2 APPROVED BY | MICHAEL COOPER REVISION
<t — — —
D - QHC - (100 - SD - 001 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-48




Overhead Distribution Construction Manual Section 3

MS HVABC Right Angle Strain Jointed - Material List 1

—

1 [ 2 [ 3 [ L 5
A
Store Type |ltem Ref| Stock Item [Stock Item Description Quantity
RSJHVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
11.35/3/PLM 35E 141363  |Lug Crimp Cu M12 Hole 70mm2 Cable 1
51A 103208 Conductor Cu Insulated Hard Drawn 1c 16mm?2, 7/1.70 12
B 51D 103212 Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 10
55J 146857 |Conductor Connection Slit Bolt 'D' Brass Clamp 4
61A 322056 |Ball Clevis & Pin 16mm 2
61B 322386 [Socket Termination 16mm 2
61D 322090 |W' Clip / Kink Pin 2
[ 80E 37263 [Bolt Eye M20 x 375 2
82B 40442 Nut Hex M20 4
86C 65159 Washer ELS M20 2
87E 65617 Washer NS M20 2
C T220 149110 [HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
T221A NEW Metallic Screen HV ABC Suspension Clamp 11kV 35mm2 (TYCO IBSH1050) 2
T223A NEW Metallic Screen HV ABC Cable 11kV 35mm2 (Olex Product Code UJHA18AA003) 1
T224A 149309 |Metallic Screen HV ABC Cable Joint, 11kV 35mm2, 3x1 Core, 19/2.00-10mm Dia Gal Catenary 3
T330 144959 | Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 4
- T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 20
T332A NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 11kV 35mm?2 - 'Protect' Trefoil Clamp 2
T337A 141410 [Ferrule - Copper, Cable Links for MS HVABC Cable 11kV 35mm2 Screen Wires - CSA 13.62mm2 6
T340A 149311  [Bracket, Tee Support, Pole Mounted 185mm2 MS HVABC Cable Tee Joints - AusNet Dwg. VX14/433/4. 1
T340B 149313  [Clamp, Band Suits 35 & 185mm2 MS HVABC Cable Tee Joint Brackets - AusNet Dwg. VX14/298. 1
D Store Type [Item Ref| Stock Item [Stock Item Description Quantity
RSJHVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
11.185/3/PL 35E 141363 |Lug Crimp Cu M12 Hole 70mm2 Cable 1
M 51C 94180 Conductor Cu Insulated Hard Drawn 1c 50mm2, 19/1.78 12
51D 103212 [Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 10
— 55J 146857 |Conductor Connection Slit Bolt 'D' Brass Clamp 4
61A 322056 |Ball Clevis & Pin 16mm 2
61B 322386 [Socket Termination 16mm 2
61D 322090 [W' Clip / Kink Pin 2
80E 37263 Bolt Eye M20 x 375 2
E 82B 40442 Nut Hex M20 4
86C 65159 Washer ELS M20 2
87E 65617 Washer NS M20 2
T220 149110  [HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
[ T221B NEW Metallic Screen HV ABC Suspension Clamp 11kV 185mm2 (TYCO IBSH1075) 2
T223B NEW Metallic Screen HV ABC Cable 11kV 185mm2 (Olex Product Code UJHA25AA003) 1
T224B NEW Metallic Screen HV ABC Cable Joint, 11kV 185mm2, 3x1 Core, 19/2.00-10mm Dia Gal Catenary 3
T330 144959 | Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 4
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 20
F T332B NEW Ellis Bundle Clamp for Metallic Screen HYABC Cable 11kV 185mm2 - 'Protect’ Trefoil Clamp 2
T337B 141412 [Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm2 6
T340A 149311  [Bracket, Tee Support, Pole Mounted 185mm2 MS HVABC Cable Tee Joints - AusNet Dwg. VX14/433/4. 1
T340B 149313  [Clamp, Band Suits 35 & 185mm2 MS HVABC Cable Tee Joint Brackets - AusNet Dwg. VX14/298. 1
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w frading as TasNefworks OF TRANSHITTED By, ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
2|z TasNetworks Tme SCALE
—|a MS HVABC RIGHT ANGLE STRAIN JOINTED 1.30
< | MATERIAL LIST - 35/185mm2 11KV ABC
o |2 DRAWN ELECTRO
w |2 DESIGNED BY B.MAYBERRY
; S CHECKED BY | K.GOSDEN A A
APPROVED BY | MICHAEL COOPER REVISION
< D - OHC - (100 - SD - 002 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-49



Overhead Distribution Construction Manual Section 3
MS HVABC Right Angle Strain Jointed - Material List 2
1 [ 2 [ 3 [ L 5
A
Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
B RSJ/HVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
22.35/3/PLM 35E 141363 |Lug Crimp Cu M12 Hole 70mm2 Cable 1
51B 103209 |Conductor Cu Insulated Hard Drawn 1c 25mm2, 19/1.35 12
51D 103212 |Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 10
L 55J 146857  |Conductor Connection Slit Bolt 'D' Brass Clamp 4
61A 322056 |Ball Clevis & Pin 16mm 2
61B 322386  [Socket Termination 16mm 2
61D 322090 |W' Clip / Kink Pin 2
80E 37263 |Bolt Eye M20 x 375 2
(C 82B 40442 Nut Hex M20 4
86C 65159 Washer ELS M20 2
87E 65617 Washer NS M20 2
T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
T221C NEW Metallic Screen HV ABC Suspension Clamp 22kV 35mm2 (TYCO IBSH1060) 2
" T223C NEW Metallic Screen HV ABC Cable 22kV 35mm2 (Olex Product Code ULHA18AA003) 1
T224C 149301 Metallic Screen HV ABC Cable Joint, 22kV 35mm2, 3x1 Core, 19/2.00-10mm Dia Gal Catenary 3
T330 144959  |Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 4
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 20
T332C NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 22kV 35mm?2 - 'Protect’ Trefoil Clamp 2
D T337C 141414  |Ferrule - Copper, Cable Links for MS HVABC Cable 22kV 35mm2 Screen Wires - CSA 22.7mm2 6
T340A 149311 Bracket, Tee Support, Pole Mounted 185mm2 MS HVABC Cable Tee Joints - AusNet Dwg. VX14/433/4. 1
T340B 149313  |Clamp, Band Suits 35 & 185mm2 MS HVABC Cable Tee Joint Brackets - AusNet Dwg. VX14/298. 1
Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
| |[RSJHVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
22.185/3/PL 35E 141363 |Lug Crimp Cu M12 Hole 70mm2 Cable 1
M 51C 94180 Conductor Cu Insulated Hard Drawn 1c 50mm2, 19/1.78 12
51D 103212 |Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 10
55J 146857 |Conductor Connection Slit Bolt 'D' Brass Clamp 4
E 61A 322056 |Ball Clevis & Pin 16mm 2
61B 322386  [Socket Termination 16mm 2
61D 322090 |W' Clip / Kink Pin 2
80E 37263 Bolt Eye M20 x 375 2
82B 40442 Nut Hex M20 4
— 86C 65159  |Washer ELS M20 2
87E 65617 |Washer NS M20 2
T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
T221D NEW Metallic Screen HV ABC Suspension Clamp 22kV 185mm2 (TYCO IBSH1085) 2
T223D NEW Metallic Screen HV ABC Cable 22kV 185mm2 (Olex Product Code ULHA25AA003) 1
F T224D 149303 Metallic Screen HV ABC Cable Joint, 22kV 185mm2, 3x1 Core 19/2.00-10mm Dia Gal Catenary 3
T330 144959  [Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 4
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 20
T332D NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 22kV 185mm2 - 'Protect' Trefoil Clamp 2
T337B 141412  |Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm2 6
[ | T340A 149311 Bracket, Tee Support, Pole Mounted 185mm2 MS HVABC Cable Tee Joints - AusNet Dwg. VX14/433/4. 1
T340B 149313 [Clamp, Band Suits 35 & 185mm2 MS HVABC Cable Tee Joint Brackets - AusNet Dwg. VX14/298. 1
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
v frading as TasNeftworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
212 TasNetworks Tme SCALE
—|a MS HVABC RIGHT ANGLE STRAIN JOINTED 1.30
< | MATERIAL LIST - 35/185mm2 22KV ABC
o |2 DRAWN ELECTRO
w |2 DESIGNED BY B.MAYBERRY
; S CHECKED BY | K.GOSDEN A A
< APPROVED BY | MICHAEL COOPER REVISION
D - OHC - (100 - SD - 003 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-50




Overhead Distribution Construction Manual

Section 3

3.23 MS HVABC Strain Transition Open Wire FRP Crossarm

N
:
:
j

A
COMPRESSION SLEEVES OR
CLAMP CONNECTORS TO SUIT
L 6 CONDUCTOR SIZE/TYPE
&GO
0R 0R 0R
T225A X(T2258 )T225¢ )(T225D HELICAL TERMINATIONS
B | TERMINATIONS TO SUIT TO SUIT CONDUCTOR
METALLIC SCREENED HVABC SIZE/TYPE
/
OR /
O0R
OR
C R

HVABC SCREEN

EARTH TAILS

NOTE 1 P s
| S
\ P 1226 Y 510)

N~/

SUSPENSION CLAMPS \! —A

TO SUIT METALLIC v

D SCREENED HVABC @’

or (1221
=
OR <
OR (Tt 3 >
’
510
~ ‘,‘ 7330
:?,/ ]l
E v// I
i
//
g 2
o~
.~
- % i ,
v.% Sr(T223A) - 1KV 35mn
o0 or CT2238 ) - Tk 185mm’
8/ OR o o123 - 226V 35mm
) (73328 ) © - 22kV 185mm’
F OR METALLIC SCREENED HVABC
13320 |
BUNDLE CLAMPS ._/
T0 SUIT METALLIC G0
SCREENED HVABC DALty LARH NOTE: EARTH CABLE
\/ THE CROSS ARM T0

DIVERTER

NOTES:

1. HVABC SCREEN WIRES TO BE CONNECTED TO EARTH
DOWNLEAD ON SOURCE SIDE ONLY, TERMINATE THE SCREEN
WIRES TO A COPPER LINK & TAPE ON AWAY SIDE & DO NOT
H TERMINATE TO EARTH DOWNLEAD.

2. FIT INSULATION SLEEVING TO ALL BRIDGING.

3. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS.

APL Nos

ST/HVABC11.35./3/FRP
ST/HVABC11.185/3/FRP
ST/HVAB(22.35/3/FRP
ST/HVAB(22.185/3/FRP

510

61B 610

RUNS UNDER
EACH SURGE

DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED

© Tasmanian Networks PTY. LTD.

NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,

w trading as TasNetworks OR TRANSHITTED BY ANY MEANS WITHOUT THE

= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS

o |y SCALE

-2 TasNetworks | ™5y ABC STRAIN TRANSITION NTS

< |z OPEN WIRE FRP CROSSARM

o |2 DRAWN ELECTRO

w § DESIGNED BY B. MAYBERRY

: g CHECKED BY K. GOSDEN AL

< APPROVED BY | MICHAEL COOPER REVISION
DATE APPROVED | FEB 2022 D - O H [ - [ WOW - S D - O Ow A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-51



Overhead Distribution Construction Manual Section 3

MS HVABC Strain Transition Open Wire FRP Crossarm - Material List 1

—

1 [ 2 [ 3 [ L 5
A
B
Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
ST/HVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 1
11.35/3/FR 303567 303567 | Termination Bar for Surge Arresters & Stand Off insulator 3
P 119F 225772 |Surge Diverter 10kA - 11kV 3
— 35E 141363  |Lug Crimp Cu M12 Hole 70mm2 Cable 7
35F 152476  [Lug Bi-Metal Compression Tinned M12 Hole 35mm2 Cable 3
51A 103208 [Conductor Cu Insulated Hard Drawn 1c 16mm2, 7/1.70 12
51D 103212 [Conductor Cu Insulated Hard Drawn 1c 70mmz2, 19/2.14 24
55J 146857 |Conductor Connection Slit Bolt 'D' Brass Clamp 2
C 60G 321260 |Insulator Disc Porcelain 16mm 70Kn 146mm 6
61A 322056 |Ball Clevis & Pin 16mm 4
61B 322386 |Socket Termination 16mm 4
61D 322090 |W' Clip / Kink Pin 10
62G 225771 |Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 3
[ 75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75N 32287 Bolt Hex M16 X 350 - Thread Length 57mm 1
75U 32294 Bolt Hex M16 X 500 - Thread Length 75mm 1
77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 9
D 80E 37263 [Bolt Eye M20 x 375 1
82A 40441 Nut Hex M16 9
82B 40442 Nut Hex M20 2
82C 40440 Nut Hex M12 9
86B 65158 Washer ELS M16 3
(— 86C 65159  [Washer ELS M20 1
87C 65615 [Washer NS M12 9
87D 65616 [Washer NS M16 9
87E 65617 Washer NS M20 1
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
E T203A 323316 | XARM BRACE - 716x40x8 1
T206A 325628 |M16 EYE BOLT 150 - Thread Length 60mm 2
T206F 325638 |M16 EYE BOLT 375 - Thread Length 75mm 1
T208B 323307 |GAIN BLOCK 125mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
[ T220 149110 [HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 1
T221A NEW Metallic Screen HV ABC Suspension Clamp 11kV 35mm2 (TYCO IBSH1050) 1
T223A NEW Metallic Screen HV ABC Cable 11kV 35mm2 (Olex Product Code UJHA18AA003) 1
T225A NEW Metallic Screen HV ABC Cable Termination 11kV 35mm2, 3x1C, 19/2.00-10mm Dia Gal Catenary 3
T226A 323368 Bracket,stand off mounting FRP crossarm EDO 3
F T227 32334 Bolt Hex M24 X 180 - Thread Length 75mm 3
T228 40448 Nut Hex M24 (36mm across Flats, 21mm Thick) 3
T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 6
T330 144959 | Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 4
[ ] T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Am 9
T332A NEW Ellis Bundle Clamp for Metallic Screen HYABC Cable 11kV 35mm2 - 'Protect’ Trefoil Clamp 1
T337A 141410 [Ferrule - Copper, Cable Links for MS HVABC Cable 11kV 35mm2 Screen Wires - CSA 13.62mm2 3
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w frading as TasNefworks OF TRANSHITTED By, ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
= TITLE SCALE
-2 TasNetworks MS HVABC STRAIN TRANSITION NTS
< | OPEN WIRE FRP CROSSARM
o |2 DRAWN ELECTRO
z MATERIALS LIST - 35mm2 1KV ABC
w = DESIGNED BY B. MAYBERRY A Z*'
Z © CHECKED BY | K. GOSDEN
< AppROVED BY  [MICHAEL COOPER REVISION
DATE APPROVED [FEB 2022 D OH[ [/‘O/‘ SD OOZ A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-52



Overhead Distribution Construction Manual

Section 3

MS HVABC Strain Transition Open Wire FRP Crossarm - Material List 2

—

1 [ 2 [ 3 [ L
A
| Store Type |Item Ref| Stock Item |Stock Item Description Quantity
ST/HVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 1
11.185/3/F 303567 303567 |Termination Bar for Surge Arresters & Stand Off insulator 3
RP 119F 225772 |Surge Diverter 10kA - 11kV/ 3
35E 141363 |Lug Crimp Cu M12 Hole 70mm2 Cable 7
B 35K 152482 |Lug Bi-Metal Compression Tinned M12 Hole 185mm2 Cable 3
51C 94180 Conductor Cu Insulated Hard Drawn 1c 50mm2, 19/1.78 12
51D 103212 |Conductor Cu Insulated Hard Drawn 1c 70mmz2, 19/2.14 24
55J 146857 [Conductor Connection Slit Bolt 'D' Brass Clamp 2
L 60G 321260 |Insulator Disc Porcelain 16mm 70Kn 146mm 6
61A 322056 |Ball Clevis & Pin 16mm 4
61B 322386 |Socket Termination 16mm 4
61D 322090 |W'Clip / Kink Pin 10
62G 225771  |Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 3
C 75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75N 32287 Bolt Hex M16 X 350 - Thread Length 57mm 1
75U 32294 Bolt Hex M16 X 500 - Thread Length 75mm 1
77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 9
80E 37263 Bolt Eye M20 x 375 1
— 82A 40441 Nut Hex M16 9
82B 40442 |Nut Hex M20 2
82C 40440 [Nut Hex M12 9
86B 65158  |Washer ELS M16 4
86C 65159  |Washer ELS M20 1
D 87C 65615 |Washer NS M12 9
87D 65616 |Washer NS M16 9
87E 65617  |Washer NS M20 1
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 |XARM BRACE - 716x40x8 1
[ | T206A 325628 |M16 EYE BOLT 150 - Thread Length 60mm 2
T206F 325638 |M16 EYE BOLT 375 - Thread Length 75mm 1
T208B 323307 |GAIN BLOCK 125mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
£ T220 149110 [HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 1
T221B NEW Metallic Screen HV ABC Suspension Clamp 11kV 185mm2 (TYCO IBSH1075) 1
T223B NEW Metallic Screen HV ABC Cable 11kV 185mm2 (Olex Product Code UJHA25AA003) 1
T225B NEW Metallic Screen HV ABC Cable Termination 11kV 185mm2, 3x1C, 19/2.00-10mm Dia Gal Catenary 3
T226A 323368 |Bracket,stand off mounting FRP crossarm EDO 3
L T227 32334 Bolt Hex M24 X 180 - Thread Length 75mm 3
T228 40448 Nut Hex M24 (36mm across Flats, 21mm Thick) 3
T330 144959  [Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 4
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 9
T332B NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 11kV 185mm2 - 'Protect' Trefoil Clamp 1
F T337B 141412  |Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm?2 3
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w frading as TasNefworks OF TRANSHITTED By, ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
= TITLE SCALE
-2 TasNetworks MS HVABC STRAIN TRANSITION NTS
< | OPEN WIRE FRP CROSSARM
o |2 DRAWN ELECTRO
z MATERIALS LIST - 185mm2 11KV ABC
w g DESIGNED BY B. MAYBERRY A Z*'
; e CHECKED BY | K. GOSDEN
< APPROVED BY | MICHAEL COOPER REVISION
D - OHC - (101 - SD - 003 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-53




Overhead Distribution Construction Manual Section 3
MS HVABC Strain Transition Open Wire FRP Crossarm- Material List 3
1 [ [ 3 [ L 5
A
B Store Type [Item Ref| Stock Item |Stock Item Description Quantity
ST/HVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 1
22.35/3/FR 303567 303567 |Termination Bar for Surge Arresters & Stand Off insulator 3
P 119G 225773  |Surge Diverter 10kA - 22kV 3
35E 141363 |Lug Crimp Cu M12 Hole 70mm2 Cable 7
— 35F 152476 |Lug Bi-Metal Compression Tinned M12 Hole 35mm2 Cable 3
51B 103209 |Conductor Cu Insulated Hard Drawn 1c 25mm2, 19/1.35 12
51D 103212 |Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 24
55J 146857 [Conductor Connection Slit Bolt 'D' Brass Clamp 2
60G 321260 [Insulator Disc Porcelain 16mm 70Kn 146mm 6
C 61A 322056 |Ball Clevis & Pin 16mm 4
61B 322386  |Socket Termination 16mm 4
61D 322090 W' Clip / Kink Pin 10
62G 225771  |Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 3
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
| 75N 32287 Bolt Hex M16 X 350 - Thread Length 57mm 1
75U 32294 Bolt Hex M16 X 500 - Thread Length 75mm 1
77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 9
80E 37263 Bolt Eye M20 x 375 1
D 82A 40441 Nut Hex M16 9
82B 40442 Nut Hex M20 2
82C 40440 Nut Hex M12 9
86B 65158 Washer ELS M16 4
86C 65159 Washer ELS M20 1
L 87C 65615 Washer NS M12 9
87D 65616 Washer NS M16 9
87E 65617 Washer NS M20 1
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 |XARM BRACE - 716x40x8 1
E T206A 325628 |M16 EYE BOLT 150 - Thread Length 60mm 2
T206F 325638 |M16 EYE BOLT 375 - Thread Length 75mm 1
T208B 323307 |GAIN BLOCK 125mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 1
— T221C NEW Metallic Screen HV ABC Suspension Clamp 22kV 35mm2 (TYCO IBSH1060) 1
T223C NEW Metallic Screen HV ABC Cable 22kV 35mm2 (Olex Product Code ULHA18AA003) 1
T225C NEW Metallic Screen HV ABC Cable Termination 22kV 35mm2, 3x1C, 19/2.00-10mm Dia Gal Catenary 3
T226A 323368 |Bracket,stand off mounting FRP crossarm EDO 3
T227 32334 Bolt Hex M24 X 180 - Thread Length 75mm 3
F T228 40448 Nut Hex M24 (36mm across Flats, 21mm Thick) 3
T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 6
T330 144959  |Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 4
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 9
T332C NEW Ellis Bundle Clamp for Metallic Screen HYABC Cable 22kV 35mm?2 - 'Protect’ Trefoil Clamp 1
[ | T337C 141414  |Ferrule - Copper, Cable Links for MS HVABC Cable 22kV 35mm2 Screen Wires - CSA 22.7mm2 3
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o trading os TosNetworks LD A TV e o o
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
= TITLE SCALE
-2 TasNetworks MS HVABC STRAIN TRANSITION NTS
< | OPEN WIRE FRP CROSSARM
< DRAWN ELECTRD
@ |z MATERIALS LIST - 35mm2 22KV HVABC
w g DESIGNED BY B. MAYBERRY A A
; © CHECKED BY | K. GOSDEN
< APPROVED BY  [MICHAEL COOPER REVISION
D - OHC - (101 SD - 004 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-54




Overhead Distribution Construction Manual Section 3
MS HVABC Strain Transition Open Wire FRP Crossarm - Material List 4
[ 2 [ 3 [ L 5
A
" Store Type |Item Ref| Stock Item |Stock Item Description tity
ST/HVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 1
22.185/3/F 303567 303567 | Termination Bar for Surge Arresters & Stand Off insulator 3
RP 119G 225773 | Surge Diverter 10kA - 22kV 3
35E 141363  [Lug Crimp Cu M12 Hole 70mm2 Cable 7
B 35K 152482  [Lug Bi-Metal Compression Tinned M12 Hole 185mm2 Cable 3
51C 94180 Conductor Cu Insulated Hard Drawn 1c 50mm2, 19/1.78 12
51D 103212 |Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 24
55J 146857 |Conductor Connection Slit Bolt 'D' Brass Clamp 2
[ 60G 321260 |Insulator Disc Porcelain 16mm 70Kn 146mm 6
61A 322056 |Ball Clevis & Pin 16mm 4
61B 322386 |Socket Termination 16mm 4
61D 322090 |W' Clip / Kink Pin 10
62G 225771 |Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 3
C 75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75N 32287 Bolt Hex M16 X 350 - Thread Length 57mm 1
75U 32294 Bolt Hex M16 X500 - Thread Length 75mm 1
77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 9
80E 37263 |Bolt Eye M20 x 375 1
— 82A 40441 Nut Hex M16 9
82B 40442 Nut Hex M20 2
82C 40440 Nut Hex M12 9
86B 65158  [Washer ELS M16 4
86C 65159  [Washer ELS M20 1
D 87C 65615 [Washer NS M12 9
87D 65616 Washer NS M16 9
87E 65617 Washer NS M20 1
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 | XARM BRACE - 716x40x8 1
[ T206A 325628 |M16 EYE BOLT 150 - Thread Length 60mm 2
T206F 325638 |M16 EYE BOLT 375 - Thread Length 75mm 1
T208B 323307 |GAIN BLOCK 125mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
£ T220 149110  [HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 1
T221D NEW Metallic Screen HV ABC Suspension Clamp 22kV 185mm2 (TYCO IBSH1085) 1
T223D NEW Metallic Screen HV ABC Cable 22kV 185mm2 (Olex Product Code ULHA25AA003) 1
T225D NEW Metallic Screen HV ABC Cable Termination 22kV 185mm2, 3x1C 19/2.00-10mm Dia Gal Catenary 3
T226A 323368  |Bracket,stand off mounting FRP crossarm EDO 3
- T227 32334 Bolt Hex M24 X 180 - Thread Length 75mm 3
T228 40448 Nut Hex M24 (36mm across Flats, 21mm Thick) 3
T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 6
T330 144959  [Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 4
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 9
F T332D NEW Ellis Bundle Clamp for Metallic Screen HYABC Cable 22kV 185mm2 - 'Protect' Trefoil Clamp 1
T337B 141412  [Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm?2 3
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w frading as TasNefworks OF TRANSHITTED By, ANY MEANS WITHOUT TE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
= TITLE SCALE
-2 TasNetworks MS HVABC STRAIN TRANSITION NTS
< | OPEN WIRE FRP CROSSARM
o |2 DRAWN ELECTRD
z MATERIALS LIST - 185mm2 22KV ABC
w g DESIGNED BY B. MAYBERRY A A
; © CHECKED BY | K. GOSDEN
< APPROVED BY | MICHAEL COOPER REVISON
DATE APPROVED | FEB 2022 D OHC C1 O/‘ SO OO 5 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-55




Overhead Distribution Construction Manual Section 3
3.24 MS HVABC Dead End UG Cable Transition
1 \ 2 \ 3 \ L 5
NB ENSURE THAT LOCKNUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
SCREEN WIRE EARTH TAILS
B TIED TO CATENARY WITH
NYLON TIES
SUSPENSION CLAMPS
TO SUIT METALLIC
SCREENED HVABC
ey B EDC3 DD
oG 12218 )
‘ O T D GO ED
CATENARY 19/2.00
P
BUNDLE CLAMPS TO SUIT o = —(T1330)
|| METALLIC SCREENED HVABC r?,//?
et —
or( 13324 1 %/ OR R 0R
or (13328 /) 12254 X_T2258 X(_T225C X_T12250)
or &1332C TERMINATIONS TO SUIT
73320 METALLIC SCREENED HVABC
D (J320) HVABC SCREEN Sl
EARTH TAILS e 35E
NOTE 1 5
o
2 L &R
- T337A N
0R OR ‘.\\Q »
Bl 0R R OR \-’\";'
T337C f-.——’,,‘
1V 35t \‘\ (1335 X(T336)
- 1KV 185mm’ (Ca15F ) or 1156 = N\
E - 22kV 35mm’ =
- 22kV 185mmt
5 METALLIC SCREENED HVABC
I
— = 510
19/2.14Cu EARTH
DOWN LEAD PVC
U/G CABLE
F
(=]
I (¢l
N
DETAIL "A’
G
U/G CABLE
POSITION BOLT PARALLEL
] TO GROUND AND TIGHTEN FIRMLY
NOTES:
1. HVABC SCREEN WIRES TO BE CONNECTED TO EARTH APL Nos
H| DOWNLEAD ON SOURCE SIDE ONLY, TERMINATE THE SCREEN DEUCT /HVABC11.35/3/PLM
WIRES TO A COPPER LINK & TAPE ON AWAY SIDE DEUCT /HVABC1.185/3/PLM
& DO NOT TERMNATE T0 EARTH DOWNLEAD. DEUCT/HVABCZZ 155/ 5/ PLM ONLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n frading as TasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
= TasNetworks e SCALE
A MS HVABC DEAD END UG CABLE TRANSITION NTS
<|=
o Z DRAWN ELECTRO
w |9 DESIGNED BY B.MAYBERRY
[a4
= o CHECKED BY K.GOSDEN AL
=
< APPROVED BY  |MICHAEL COOPER _ _ _ _ REVISION
DATE APPROVED (FEB 2022 D O H [ [/‘O L* S D O O/‘ A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-56



Overhead Distribution Construction Manual Section 3

MS HVABC Dead End UG Cable Transition — Material List 1

—

1 | 2 | 3 | L 5
A
B Store Type |Item Ref| Stock Item |Stock Item Description Quantity
DE/HVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations)
22.185/3/FR 119G 225773 |Surge Diverter 10kA - 22kV
P 35E 141363 |Lug Crimp Cu M12 Hole 70mm2 Cable
35K 152482 |Lug Bi-Metal Compression Tinned M12 Hole 185mm2 Cable
| 51D 103212 |Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14
55J 146857 |Conductor Connection Slit Bolt 'D' Brass Clamp
61B 322386  [Socket Termination 16mm
61D 322090 |W' Clip / Kink Pin
62G 225771  |Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm
C 75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm
75N 32287 Bolt Hex M16 X 350 - Thread Length 57mm
778 33771 Bolt Tower M12 x 35 - Thread Length 20mm
80E 37263 [Bolt Eye M20 x 375
82A 40441 Nut Hex M16
] 82B 40442 [Nut Hex M20
82C 40440 Nut Hex M12
86B 65158 Washer ELS M16
86C 65159 Washer ELS M20
87C 65615  [Washer NS M12
D 87D 65616 [Washer NS M16
87E 65617 Washer NS M20

T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM

T203A 323316 | XARM BRACE - 716x40x8

T205A NEW M16 Spring Washer - Galvanised Spring Steel DIN127B (OD: 27mm, ID: 16.2 - 17.0mm, Thickness: 3.5)
T206C 325639 |M16 EYE BOLT 500 - Thread Length 75mm

T208B 323307 |GAIN BLOCK 125mm

T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm.

T220 149110 [HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975)

E T221D NEW Metallic Screen HV ABC Suspension Clamp 22kV 185mm2 (TYCO IBSH1085)

T223D NEW Metallic Screen HV ABC Cable 22kV 185mm2 (Olex Product Code ULHA25AA003)

T225D NEW Metallic Screen HV ABC Cable Termination 22kV 185mm2, 3x1C 19/2.00-10mm Dia Gal Catenary
T226A 323368  |Bracket,stand off mounting FRP crossarm EDO

T227 32334 Bolt Hex M24 X 180 - Thread Length 75mm

— T228 40448 Nut Hex M24 (36mm across Flats, 21mm Thick)

T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm)

T330 144959  |Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000)

[ BN N B ESY [ F3U) P31 PO RN TN N N N BN LN N I I [N PN 1S POV P 15,1 B TR I N IO B BN TN o [ N P BN

T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Am
T332D NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 22kV 185mmz2 - 'Protect' Trefoil Clamp
F T337B 141412 [Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm2

G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
: STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
v trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o (Y SCALE
] TasNetworks TLE
—|a MS HVABC DEAD END UG CABLE TRANSITION NTS
< |2 MATERIAL LIST - 35mm2 11KV ABC
o <zi DRAWN ELECTRO
w § DESIGNED BY B.MAYBERRY
-4
= e (HECKED BY K.GOSDEN AL
-
< APPROVED BY  [MICHAEL COOPER _ _ _ _ REVISON
DATE APPROVED |FEB 2022 D OH[ [/‘04 SD OOZ A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-57



Overhead Distribution Construction Manual Section 3

MS HVABC Dead End UG Cable Transition - Material List 2

—

1 | 2 | 3 | L 5
A
B Store Type |Item Ref| Stock Item |Stock Item Description Q ity
DEUCT/HV S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 1
ABC11.185 303567 303567 |Termination Bar for Surge Arresters & Stand Off insulator 3
/3/FRP 119F 225772  |Surge Diverter 10kA - 11kV 3
35E 141363  |Lug Crimp Cu M12 Hole 70mm2 Cable 1
] 35K 152482  |Lug Bi-Metal Compression Tinned M12 Hole 185mm2 Cable 6
51C 94180 Conductor Cu Insulated Hard Drawn 1c 50mm2, 19/1.78 18
51D 103212 [Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 12
55J 146857 |Conductor Connection Slit Bolt 'D' Brass Clamp 2
61A 322056 |Ball Clevis & Pin 16mm 1
C 61B 322386 [Socket Termination 16mm 1
61D 322090 [W' Clip / Kink Pin 1
62G 225771  |Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 3
75Q 32290 Bolt Hex M16 X400 - Thread Length 75mm 2
| 77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 6
80E 37263 [Bolt Eye M20 x 375 1
82A 40441 Nut Hex M16 4
82B 40442 [Nut Hex M20 2
82C 40440 Nut Hex M12 9
D 86B 65158 Washer ELS M16 2
86C 65159 Washer ELS M20 1
87C 65615 Washer NS M12 6
87D 65616 [Washer NS M16 2
87E 65617 [Washer NS M20 1
— 9C 322063 |Stand Off Bracket, UG Cable Termination used with Synthetic Insulators 1
T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 1
T221B NEW Metallic Screen HV ABC Suspension Clamp 11kV 185mm2 (TYCO IBSH1075) 1
T223B NEW Metallic Screen HV ABC Cable 11kV 185mm2 (Olex Product Code UJHA25AA003) 1
T225B NEW Metallic Screen HV ABC Cable Termination 11kV 185mm2, 3x1C, 19/2.00-10mm Dia Gal Catenary 3
E T330 144959  [Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 4
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 4
T332B NEW Ellis Bundle Clamp for Metallic Screen HYABC Cable 11kV 185mm2 - 'Protect' Trefoil Clamp 1
T334 NEW Bolt Hex Angled M12 X180 + Nut, Tinned Brass - Thread Length 50mm - Earthing Point 11/22kV S/Arresters 3
T335 154486 |Coupling Hex M12 Female Threaded Coupling Tinned Brass - Earthing Point 11/22kV Surge Arresters 3
| T336 NEW Wildlife Cover for 11/22kV Surge Arrester Earthing Point Bolt (Bolt Length 150mm) 3
T337B 141412  |Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm2 3
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w © trading as TasNetworks OF TRANSHITTED 8 ANY HEANS WTHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oly TILE SCALE
-2 TasNetworks MS HVABC DEAD END UG CABLE TRANSITION NTS
< |z MATERIAL LIST - 185mm2 11KV ABC
x |2 DRAWN ELECTRO
w |8 DESIGNED BY B.MAYBERRY
: S (HECKED BY | K.GOSDEN AL
< AppRovED BY  [MICHAEL COOPER REVISION
DATE APPROVED [FEB 2022 D B OH[ B [/‘O[* B SD B 003 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-58



Overhead Distribution Construction Manual Section 3

MS HVABC Dead End UG Cable Transition - Material List 3

—

1 | 2 | 3 | L 5
A
Store Type |Item Ref| Stock Item |Stock Item Description Q y
DEUCT/HV S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 1
B ABC22.35/ 303567 303567 |Termination Bar for Surge Arresters & Stand Off insulator 3
3/FRP 119G 225773  |Surge Diverter 10kA - 22kV 3
35E 141363 |Lug Crimp Cu M12 Hole 70mm2 Cable 1
35F 152476  [Lug Bi-Metal Compression Tinned M12 Hole 35mm2 Cable 6
| 51B 103209 [Conductor Cu Insulated Hard Drawn 1c 25mm2, 19/1.35 18
51D 103212 [Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 12
55J 146857  |Conductor Connection Slit Bolt 'D' Brass Clamp 2
61A 322056 |Ball Clevis & Pin 16mm 1
61B 322386  |Socket Termination 16mm 1
C 61D 322090 [W' Clip / Kink Pin 1
62G 225771 |Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 3
75Q 32290 Bolt Hex M16 X400 - Thread Length 75mm 2
77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 6
80E 37263 Bolt Eye M20 x 375 1
— 82A 40441 Nut Hex M16 4
82B 40442 Nut Hex M20 2
82C 40440 Nut Hex M12 9
86B 65158  [Washer ELS M16 2
86C 65159  [Washer ELS M20 1
D 87C 65615 [Washer NS M12 6
87D 65616 Washer NS M16 2
87E 65617 Washer NS M20 1
9C 322063 |Stand Off Bracket, UG Cable Termination used with Synthetic Insulators 1
T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 1
| T221C NEW Metallic Screen HV ABC Suspension Clamp 22kV 35mm2 (TYCO IBSH1060) 1
T223C NEW Metallic Screen HV ABC Cable 22kV 35mm2 (Olex Product Code ULHA18AA003) 1
T225C NEW Metallic Screen HV ABC Cable Termination 22kV 35mm2, 3x1C, 19/2.00-10mm Dia Gal Catenary 3
T330 144959  |Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 4
E T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 4
T332C NEW Ellis Bundle Clamp for Metallic Screen HYABC Cable 22kV 35mm?2 - 'Protect' Trefoil Clamp 1
T334 NEW Bolt Hex Angled M12 X180 + Nut, Tinned Brass - Thread Length 50mm - Earthing Point 11/22kV S/Arresters 3
T335 154486  [Coupling Hex M12 Female Threaded Coupling Tinned Brass - Earthing Point 11/22kV Surge Arresters 3
T336 NEW Wildlife Cover for 11/22kV Surge Arrester Earthing Point Bolt (Bolt Length 150mm) 3
—_— T337C 141414  |Ferrule - Copper, Cable Links for MS HVABC Cable 22kV 35mm2 Screen Wires - CSA 22.7mm?2 3
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v © trading as TasNetworks OF TRANSHITTED 8 ANY HEANS WTHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy TILE SCALE
-2 TasNetworks MS HVABC DEAD END UG CABLE TRANSITION NTS
< |z MATERIAL LIST - 35mm2 22KV ABC
x |2 DRAWN ELECTRO
w |8 DESIGNED BY | B.MAYBERRY
: S CHECKED BY [ K.GOSDEN AL
< APPROVED Y [MICHAEL COOPER REVISON
DATE APPROVED [FEB 2022 D - OHC - (104 - SD - 004 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-59



Overhead Distribution Construction Manual Section 3

MS HVABC Dead End UG Cable Transition - Material List 4

—

1 | 2 | 3 | L 5
A
Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
B | [DEUCT/HV S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 1
303567 303567 [Termination Bar for Surge Arresters & Stand Off insulator 3
119G 225773 |Surge Diverter 10kA - 22kV 3
35E 141363 |Lug Crimp Cu M12 Hole 70mm2 Cable 1
35K 152482  |Lug Bi-Metal Compression Tinned M12 Hole 185mm2 Cable 6
| 51C 94180 Conductor Cu Insulated Hard Drawn 1¢c 50mm2, 19/1.78 18
51D 103212 |Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 12
55J 146857 [Conductor Connection Slit Bolt 'D' Brass Clamp 2
61A 322056 |Ball Clevis & Pin 16mm 1
61B 322386 [Socket Termination 16mm 1
C 61D 322090 |W'Clip / Kink Pin 1
62G 225771 |Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 3
75Q 32290 Bolt Hex M16 X400 - Thread Length 75mm 2
77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 6
| 80E 37263  |Bolt Eye M20 x 375 1
82A 40441 Nut Hex M16 4
82B 40442 Nut Hex M20 2
82C 40440 Nut Hex M12 9
86B 65158 Washer ELS M16 2
D 86C 65159 Washer ELS M20 1
87C 65615 Washer NS M12 6
87D 65616 Washer NS M16 2
87E 65617 Washer NS M20 1
aC 322063 |Stand Off Bracket, UG Cable Termination used with Synthetic Insulators 1
— T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 1
T221D NEW Metallic Screen HV ABC Suspension Clamp 22kV 185mm2 (TYCO IBSH1085) 1
T223D NEW Metallic Screen HV ABC Cable 22kV 185mm2 (Olex Product Code ULHA25AA003) 1
T225D NEW Metallic Screen HV ABC Cable Termination 22kV 185mm2, 3x1C 19/2.00-10mm Dia Gal Catenary 3
T330 144959 |Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 4
E T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 4
T332D NEW Ellis Bundle Clamp for Metallic Screen HYABC Cable 22kV 185mm?2 - 'Protect' Trefoil Clamp 1
T334 NEW Bolt Hex Angled M12 X 180 + Nut, Tinned Brass - Thread Length 50mm - Earthing Point 11/22kV S/Arresters 3
T335 154486 [Coupling Hex M12 Female Threaded Coupling Tinned Brass - Earthing Point 11/22kV Surge Arresters 3
T336 NEW Wildlife Cover for 11/22kV Surge Arrester Earthing Point Bolt (Bolt Length 150mm) 3
| T337B 141412  [Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm2 3
F
€
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 © Fiting 2 Tosvore AL S
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy TILE SCALE
-z TasNetworks MS HVABC DEAD END UG CABLE TRANSITION NTS
< |z MATERIAL LIST - 185mm2 22KV ABC
o 2 DRAWN ELECTRO
w |8 DESIGNED BY B.MAYBERRY
: S CHECKED BY | K.GOSDEN AL
< APPROVED B [MICHAEL COOPER REVISON
DATE APPROVED |FEB 2022 D - OHC - [/‘O[* - SD - OOS A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-60



Overhead Distribution Construction Manual Section 3
3.25 MS HVABC 35mm? Strain with Tee-off
1 \ 2 \ 3 \ L 5
NB ENSURE THAT LOCKNUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A SUSPENSION CLAMPS
T0 SUIT METALLIC
200 SCREENED HVABC
T
o
%ﬁ OR
- S onT221E)
)
Sy
"i»x
B Q
CATENARY
19/2.00 55
(
D
3
— 7337A X 13378 X 1337C \."
& COPPER LINKS TO SUIT 8
g
% MS HVABC SCREEN WIRES HVABC SCREEN
¢ EARTH TAILS NOTE 1
(TR, o o8
; o8 e g
(13320) 200A 3-WAY ELBOW JOINT N
OR 7O SUIT 35mm' MS HVABC
BUNDLE CLAMPS TO SUIT 19/2.14Cu EARTH
L METALLIC SCREENED HVABC DOWN LEAD PVC
o T223A ) - 11KV 35mt
o 612238 ) - 11kV 185mm’
F oR CTZ23C ) - 22kV 35’
- 22kV 185mm’
METALLIC SCREENED HVABC
G
NOTES:
1. HVABC SCREEN WIRES TO BE CONNECTED TO EARTH
H DOWNLEAD ON SOURCE SIDE ONLY, TERMINATE THE SCREEN
WIRES TO A COPPER LINK & TAPE ON AWAY SIDE AL N
0s
& DO NOT TERMINATE TO EARTH DOWNLEAD. STO/HVABC1.35/3/PLM DIMENSIONS ARE IN MILLIMETRES
STO/HVABC22.35/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n frading as TasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
212 TasNetworks e SIALE
A MS HVABC 35mm2 STRAIN WITH TEE-OFF NTS
<|=
o Z DRAWN ELECTRO
w |9 DESIGNED BY B.MAYBERRY
[a4
= o CHECKED BY K.GOSDEN AL
=
< APPROVED BY | MICHAEL COOPER -~ _ -~ -~ REVISION
oxTe oo [FEB 2022 D - OHC - (105 sD - 007 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-61




Overhead Distribution Construction Manual Section 3

MS HVABC 35mm? Strain with Tee-off - Material List

—

1 [ 2 [ 3 L 5
A
Store Type |Item Ref| Stock Item |Stock Item Description Quantity
— |[STO/HVABC S T220 149110 [HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 3
11.35/3/PLM T221A NEW Metallic Screen HV ABC Suspension Clamp 11kV 35mm2 (TYCO IBSH1050) 3
T223A NEW Metallic Screen HV ABC Cable 11kV 35mm2 (Olex Product Code UJHA18AA003) 3
T332A NEW Ellis Bundle Clamp for Metallic Screen HYABC Cable 11kV 35mm?2 - 'Protect' Trefoil Clamp 3
T337A 141410 [Ferrule - Copper, Cable Links for MS HVABC Cable 11kV 35mm2 Screen Wires - CSA 13.62mm2 9
B T338A 149315  [Bracket, Tee Support, Pole Mounted 35mm2 MS HVABC Cable Tee Joints - AusNet Dwg. VX14/433/5. 1
T338B 149317  [Insulator, Rack, Single Groove to Support 11kV 35mm2 MS HVABC Cable Core. Core Dia - 23.5mm. 9
T339A 149305 [200A Tee, 3-Way Elbow Jnt 11kV 35mm2 MS HVABC Cable. One per Phase. AusNet Dwg. EVX9/140/43 3
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 5
T340B 149313 |Clamp, Band Suits 35 & 185mm2 MS HVABC Cable Tee Joint Brackets - AusNet Dwg. VX14/298. 1
[ 80E 37263 |Bolt Eye M20 x 375 3
86C 65159 Washer ELS M20 3
82B 40442 Nut Hex M20 6
89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 3
C 87E 65617 [Washer NS M20 3
61A 322056 |Ball Clevis & Pin 16mm 3
61B 322386 [Socket Termination 16mm 3
61D 322090 W' Clip / Kink Pin 3
51A 103208 |Conductor Cu Insulated Hard Drawn 1c 16mm2, 7/1.70 5
[ 77A 33770 Bolt Tower M12 x 30 - Thread Length 20mm 1
35E 141363  [Lug Crimp Cu M12 Hole 70mm2 Cable 1
87C 65615  [Washer NS M12 1
82C 40440 [Nut Hex M12 1
51D 103212 |Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 12
D T330 NEW Conductor Clamp Cu Par/Groove 16-95mmz2 (TE Connectivity HEL-3030 Prod Code 831160-000) 4
55J 146857 [Conductor Connection Slit Bolt 'D' Brass Clamp 6
Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
STO/HVABC S T220 149110 [HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 3
22.35/3/PLM T221C NEW Metallic Screen HV ABC Suspension Clamp 22kV 35mm2 (TYCO IBSH1060) 3
| T223C NEW Metallic Screen HV ABC Cable 22kV 35mm2 (Olex Product Code ULHA18AA003) 3
T332C NEW Ellis Bundle Clamp for Metallic Screen HYABC Cable 22kV 35mm2 - 'Protect' Trefoil Clamp 3
T337C 141414  [Ferrule - Copper, Cable Links for MS HVABC Cable 22kV 35mm2 Screen Wires - CSA 22.7mm2 9
T338A 149315 |Bracket, Tee Support, Pole Mounted 35mm2 MS HVABC Cable Tee Joints - AusNet Dwg. VX14/433/5. 1
T338C 149319 |Insulator, Rack, Single Groove to Support 22kV 35mm2 MS HVABC Cable Core. Core Dia - 27.8mm. 9
E T339B 149307  |200A Tee, 3-Way Elbow Jnt 22kV 35mm2 MS HVABC Cable. One per Phase. AusNet Dwg. EVX9/140/43 3
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 5
T340B 149313  [Clamp, Band Suits 35 & 185mm2 MS HVABC Cable Tee Joint Brackets - AusNet Dwg. VX14/298. 1
80E 37263 Bolt Eye M20 x 375 3
[ | 86C 65159  [Washer ELS M20 3
82B 40442 [Nut Hex M20 6
89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 3
87E 65617 Washer NS M20 3
61A 322056 |[Ball Clevis & Pin 16mm 3
F 61B 322386 |Socket Termination 16mm 3
61D 322090 |W' Clip / Kink Pin 3
51B 103209 [Conductor Cu Insulated Hard Drawn 1c 25mm2, 19/1.35 5
77A 33770 Bolt Tower M12 x 30 - Thread Length 20mm 1
35E 141363  |Lug Crimp Cu M12 Hole 70mm2 Cable 1
— 87C 65615 Washer NS M12 1
82C 40440 Nut Hex M12 1
51D 103212 [Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 12
T330 NEW Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 4
G 55J 146857 [Conductor Connection Slit Bolt 'D' Brass Clamp 6
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o frading as TasNefworks R TRANSHITTED Y ANY HEANS WITHAUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
= TITLE SCALE
-2 TasNetworks MS HVABC 35mm2 STRAIN WITH TEE-OFF NTS
<|Z poow —_ MATERIAL LIST
x|z
w |2 DESIGNED BY B.MAYBERRY
; S CHECKED BY [ K.GOSDEN A L
< APPROVED BY  [MICHAEL COOPER REVISIN
vt e [P 2022 D - OHC - €105 - SD - 0027 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-62



Overhead Distribution Construction Manual Section 3

3.26 MS HVABC Strain with Transformer Tee-off Including EDOS, FRP

-

Crossarm

1 \ 2 3 L 5

NB ENSURE THAT LOCKNUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.

OR R
A 7337A X 13378 ) 1337C
OR OR  OR SUSPENSION CLAMPS
0 SUT HETALLI
77B SCREENED HVABC
0R
BEND PVC COPPER TAIL OR &
AT 90 TG HVABC 0R _—
)
'//
e
L= 5
B OR OR HVABC SCREEN
((1337A (13378 X T337C EARTH TALLS NOTE 1 F@"
COPPER LINKS TO SUIT ‘ I
CATENARY 4
HVABC SCREEN WIRES 5D ALS
),‘ 19./2.00 "’////
STRIP 150mm PVC
(| FOR OPERATIONAL
EARTH CONNECTION
75E
82A | TERMINATIONS TO
- 870 SUIT METALLIC
SCREENED HVABC
o %
R
) R op L1225
K
I
8
T226A
g
1227 ) 1228
. T279R
<+
£
] 1226A X 51D
— (7178 )(82C
2 Q -
R T223A ) - 1KV 35mm] \"‘
] RT3 ) - ey s 5
OR - 22kV 35mm
- 22kV 185mm
METALLIC SCREENED HVABC NOTE: EARTH CABLES RUNS UNDER THE
F CROSSARM TO EACH SURGE DIVERTER.
3324 ) o
13328 ) o
o TRANSFORMER HV
13320 N & CATENARY EARTH
BUNDLE CLAMPS TO SUIT \m
METALLIC SCREENED HVABC 90710y EARTH
. u
DOWN LEAD PVC
G
NOTES:
1. HVABC SCREEN WIRES TO BE CONNECTED TO EARTH
DOWNLEAD ON SOURCE SIDE ONLY, TERMINATE THE SCREEN APL Nos:
H WIRES TO A COPPER LINK & TAPE ON AWAY SIDE égg;:&ﬁggﬁgj{fggp
f E?T ﬁ‘ﬁ;ulimEASTLEEETVO‘NEGA%HAEEWBNRL‘E’;%G STTO/HVAB(22.35/3/FRP DIMENSIONS ARE IN MILLIMETRES
: : STTO/HVAB(22.185/3/FRP UNLESS OTHERWISE STATED
NO PART OF THIS DRAWING MAY BE REPRODUCED,
n © Tasmanian Nefworks PTY. LTD. STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
frading as TasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
> TasNetworks e SUALE
12 MS HVABC STRAIN WITH TRANSFORMER
— |0 NTS
< |2 TEE - OFF INCLUDING EDOs
x |= DRAWN ELECTRO FRP [ROSSARM
w |9 DESIGNED BY B.MAYBERRY A L
[a
= 1o CHECKED BY K.GOSDEN
-
< APPROVED BY  |MICHAEL COOPER REVISION
D - OHC - 107 - SD - 007 A

DATE APPROVED |FEB 2022

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-63




Overhead Distribution Construction Manual Section 3

MS HVABC Strain with Transformer Tee-off Including EDOS, FRP Crossarm - Material List 1

—

1 [ 2 [ 3 [ L [ 5
A
Store Type |Item Ref| Stock Item |Stock Item Description Quantity
STTO/HVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
11.35/3/FRP 113 0 Expulsion Drop Out Fuse Element AK1 - Size as Required 3
303567 303567 |Termination Bar for Surge Arresters & Stand Off insulator 3
B 30C 235501 Fuse Tube EDO, Suits NGK and ABB Fuse Carriers 3
35E 141363  [Lug Crimp Cu M12 Hole 70mm2 Cable 13
35F 152476  |Lug Bi-Metal Compression Tinned M12 Hole 35mm2 Cable 6
51A 103208 |Conductor Cu Insulated Hard Drawn 1c 16mm2, 7/1.70 12
51D 103212 |Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 22
— 55J 146857  |Conductor Connection Slit Bolt 'D' Brass Clamp 4
60J 320452 Insulator, Synthetic 11kV Stand Off 3
61A 322056 |Ball Clevis & Pin 16mm 2
61B 322386 |Socket Termination 16mm 2
61D 322090 |W'Clip / Kink Pin 2
C 62G 225771 Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 3
63M 236323 |Switch Fuse EDO 24kV 8kA 3
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 1
75V 32295 Bolt Hex M16 X 525 - Thread Length 75mm 1
] 77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 3
77C 33772 Bolt Tower M12 x 40 - Thread Length 20mm 3
78C 33782 Bolt Tower M16 x 45 - Thread Length 24mm 3
80E 37263 |Bolt Eye M20 x 375 2
D 82A 40441 Nut Hex M16 8
82B 40442 [Nut Hex M20 4
82C 40440 Nut Hex M12 12
86B 65158 Washer ELS M16 2
86C 65159 Washer ELS M20 2
[ 87C 65615 Washer NS M12 9
87D 65616 Washer NS M16 4
87E 65617 Washer NS M20 2
88B 66413 [Washer Tower M16 3
T200C 323219 |CF XARM - 2840x100x100 - CA-100 SHS 2.834m ARM 1
E T203A 323316 | XARM BRACE - 716x40x8 1
T208A 323306 |GAIN BLOCK 100mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 1
T220 149110 [HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
T221A NEW Metallic Screen HV ABC Suspension Clamp 11kV 35mm2 (TYCO IBSH1050) 2
— T223A NEW Metallic Screen HV ABC Cable 11kV 35mm2 (Olex Product Code UJHA18AA003) 2
T225A NEW Metallic Screen HV ABC Cable Termination 11kV 35mm2, 3x1C, 19/2.00-10mm Dia Gal Catenary 6
T226A NEW Surge Arrester/Stand Off Insulator/EDO Mounting Bracket - Crossarm Mounted (‘L' Bracket 360 x 52x10) 6
T227 32334 Bolt Hex M24 X 180 - Thread Length 75mm 3
T228 40448 Nut Hex M24 (36mm across Flats, 21mm Thick) 3
F T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 3
T330 NEW Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 5
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 8
T332A NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 11kV 35mm?2 - 'Protect' Trefoil Clamp 2
L T337A 141410 |Ferrule - Copper, Cable Links for MS HVABC Cable 11kV 35mm2 Screen Wires - CSA 13.62mm2 6
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o trading o5 TosNetworks SIS A TRV SR o e
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
2|z TasNetworks Tme SCALE
Zla MS HVABC STRAIN WITH TRANSFORMER NTS
< | TEE - OFF INCLUDING EDOs, FRP X-ARM
< DRAWN ELECTRO
x|z MATERIAL LIST - 35mm2 11KV ABC
w g DESIGNED BY B.MAYBERRY A Z*'
Z e CHECKED BY | K.GOSDEN
< APPROVED BY | MICHAEL COOPER REVISION
DATE APPROVED | FEB 2022 D OHC €107 SD 002 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-64



Overhead Distribution Construction Manual Section 3

MS HVABC Strain with Transformer Tee-off Including EDOS, FRP Crossarm - Material List 2

—

1 [ 2 [ 3 [ L [ 5
A
B Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
STTO/HVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
11.185/3/FRP 113 0 Expulsion Drop Out Fuse Element AK1 - Size as Required 3
303567 303567 |Termination Bar for Surge Arresters & Stand Off insulator 3
- 30C 235501 Fuse Tube EDO, Suits NGK and ABB Fuse Carriers 3
35E 141363 |Lug Crimp Cu M12 Hole 70mm2 Cable 13
35K 152482  |Lug Bi-Metal Compression Tinned M12 Hole 185mm2 Cable 6
51C 94180 Conductor Cu Insulated Hard Drawn 1c 50mmz2, 19/1.78 12
51D 103212 [Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 22
(C 55J 146857  [Conductor Connection Slit Bolt 'D' Brass Clamp 4
60J 320452 |Insulator, Synthetic 11kV Stand Off 3
61A 322056 [Ball Clevis & Pin 16mm 2
61B 322386  |Socket Termination 16mm 2
61D 322090 |W' Clip / Kink Pin 2
— 62G 225771 Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 3
63M 236323  [Switch Fuse EDO 24kV 8kA 3
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 1
75V 32295 Bolt Hex M16 X 525 - Thread Length 75mm 1
D 77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 3
77C 33772 Bolt Tower M12 x 40 - Thread Length 20mm 3
78C 33782 Bolt Tower M16 x 45 - Thread Length 24mm 3
80E 37263 Bolt Eye M20 x 375 2
82A 40441 Nut Hex M16 8
[ 82B 40442 Nut Hex M20 4
82C 40440 Nut Hex M12 12
86B 65158 Washer ELS M16 2
86C 65159 Washer ELS M20 2
£ 87C 65615 Washer NS M12 9
87D 65616 Washer NS M16 4
87E 65617 Washer NS M20 2
88B 66413 Washer Tower M16 3
T200C 323219 |CF XARM - 2840x100x100 - CA-100 SHS 2.834m ARM 1
L T203A 323316 | XARM BRACE - 716x40x8 1
T208A 323306 |GAIN BLOCK 100mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 1
T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
T221B NEW Metallic Screen HV ABC Suspension Clamp 11kV 185mm2 (TYCO IBSH1075) 2
F T223B NEW Metallic Screen HV ABC Cable 11kV 185mm2 (Olex Product Code UJHA25AA003) 2
T225B NEW Metallic Screen HV ABC Cable Termination 11kV 185mm2, 3x1C, 19/2.00-10mm Dia Gal Catenary 6
T226A NEW Surge Arrester/Stand Off Insulator/EDO Mounting Bracket - Crossarm Mounted ('L' Bracket 360 x 52x10) 6
T227 32334 Bolt Hex M24 X 180 - Thread Length 75mm 3
T228 40448 Nut Hex M24 (36mm across Flats, 21mm Thick) 3
— T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 3
T330 NEW Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 5
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 8
T332B NEW Ellis Bundle Clamp for Metallic Screen HYABC Cable 11kV 185mm2 - 'Protect' Trefoil Clamp 2
T337B 141412  |Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm2 6
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w frading as TasNefworks OF TRANSHITTED 5. ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
212 TasNetworks Tme SCALE
Zla MS HVABC STRAIN WITH TRANSFORMER NTS
< | TEE - OFF INCLUDING EDOs, FRP X-ARM
o |2 DRAWN ELECTRO
z MATERIAL LIST - 185mm2 11KV ABC
w g DESIGNED BY B.MAYBERRY A Z*'
; e CHECKED BY K.GOSDEN
< APPROVED BY  |MICHAEL COOPER REVISION
DATE APPROVED |FEB 2022 D OH[ [/‘07 SD OOS A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-65



Overhead Distribution Construction Manual Section 3

MS HVABC Strain with Transformer Tee-off Including EDOS, FRP Crossarm - Material List 3

—

1 [ 2 [ 3 [ L [ 5
A
B Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
STTO/HVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
11.185/3/FRP 113 0 Expulsion Drop Out Fuse Element AK1 - Size as Required 3
303567 303567 |Termination Bar for Surge Arresters & Stand Off insulator 3
- 30C 235501 Fuse Tube EDO, Suits NGK and ABB Fuse Carriers 3
35E 141363 |Lug Crimp Cu M12 Hole 70mm2 Cable 13
35K 152482  |Lug Bi-Metal Compression Tinned M12 Hole 185mm2 Cable 6
51C 94180 Conductor Cu Insulated Hard Drawn 1c 50mmz2, 19/1.78 12
51D 103212 [Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 22
(C 55J 146857  [Conductor Connection Slit Bolt 'D' Brass Clamp 4
60J 320452 |Insulator, Synthetic 11kV Stand Off 3
61A 322056 [Ball Clevis & Pin 16mm 2
61B 322386  |Socket Termination 16mm 2
61D 322090 |W' Clip / Kink Pin 2
— 62G 225771 Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 3
63M 236323  [Switch Fuse EDO 24kV 8kA 3
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 1
75V 32295 Bolt Hex M16 X 525 - Thread Length 75mm 1
D 77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 3
77C 33772 Bolt Tower M12 x 40 - Thread Length 20mm 3
78C 33782 Bolt Tower M16 x 45 - Thread Length 24mm 3
80E 37263 Bolt Eye M20 x 375 2
82A 40441 Nut Hex M16 8
[ 82B 40442 Nut Hex M20 4
82C 40440 Nut Hex M12 12
86B 65158 Washer ELS M16 2
86C 65159 Washer ELS M20 2
£ 87C 65615 Washer NS M12 9
87D 65616 Washer NS M16 4
87E 65617 Washer NS M20 2
88B 66413 Washer Tower M16 3
T200C 323219 |CF XARM - 2840x100x100 - CA-100 SHS 2.834m ARM 1
L T203A 323316 | XARM BRACE - 716x40x8 1
T208A 323306 |GAIN BLOCK 100mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 1
T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
T221B NEW Metallic Screen HV ABC Suspension Clamp 11kV 185mm2 (TYCO IBSH1075) 2
F T223B NEW Metallic Screen HV ABC Cable 11kV 185mm2 (Olex Product Code UJHA25AA003) 2
T225B NEW Metallic Screen HV ABC Cable Termination 11kV 185mm2, 3x1C, 19/2.00-10mm Dia Gal Catenary 6
T226A NEW Surge Arrester/Stand Off Insulator/EDO Mounting Bracket - Crossarm Mounted ('L' Bracket 360 x 52x10) 6
T227 32334 Bolt Hex M24 X 180 - Thread Length 75mm 3
T228 40448 Nut Hex M24 (36mm across Flats, 21mm Thick) 3
— T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 3
T330 NEW Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 5
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 8
T332B NEW Ellis Bundle Clamp for Metallic Screen HYABC Cable 11kV 185mm2 - 'Protect' Trefoil Clamp 2
T337B 141412  |Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm2 6
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w frading as TasNefworks R TRANSHITTED Y ANY HEANS WITHAUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
2|z TasNetworks Tme SCALE
Zla MS HVABC STRAIN WITH TRANSFORMER NTS
< | TEE - OFF INCLUDING EDOs, FRP X-ARM
< DRAWN ELECTRD
@ |z MATERIAL LIST - 185mm2 11KV ABC
w g DESIGNED BY B.MAYBERRY A Z*'
; i CHECKED BY K.GOSDEN
< APPROVED BY  |MICHAEL COOPER REVISION
DATE APPROVED |FEB 2022 D OH[ [/‘07 SD OOS A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-66



Overhead Distribution Construction Manual Section 3

MS HVABC Strain with Transformer Tee-off Including EDOS, FRP Crossarm - Material List 4

—

1 [ 2 [ 3 [ L [ 5
A
B Store Type |ltem Ref| Stock Iltem |Stock Iltem Description Quantity
STTO/HVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
22.185/3/FRP 113 0 Expulsion Drop Out Fuse Element AK1 - Size as Required 3
303567 303567 |Termination Bar for Surge Arresters & Stand Off insulator 3
[ 30C 235501 Fuse Tube EDO, Suits NGK and ABB Fuse Carriers 3
35E 141363  |Lug Crimp Cu M12 Hole 70mm2 Cable 13
35K 152482  |Lug Bi-Metal Compression Tinned M12 Hole 185mm2 Cable 6
51C 94180 Conductor Cu Insulated Hard Drawn 1c 50mm2, 19/1.78 12
51D 103212 Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 22
C 55J 146857  |Conductor Connection Slit Bolt 'D' Brass Clamp 4
60K 320453 Insulator, Synthetic 22kV Stand Off 3
61A 322056 |Ball Clevis & Pin 16mm 2
61B 322386  |Socket Termination 16mm 2
61D 322090 |W'Clip / Kink Pin 2
— 62G 225771 Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 3
63M 236323  |Switch Fuse EDO 24kV 8kA 3
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 1
75V 32295 Bolt Hex M16 X 525 - Thread Length 75mm 1
D 77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 3
77C 33772 Bolt Tower M12 x 40 - Thread Length 20mm 3
78C 33782 Bolt Tower M16 x 45 - Thread Length 24mm 3
80E 37263 Bolt Eye M20 x 375 2
82A 40441 Nut Hex M16 8
| 82B 40442 Nut Hex M20 4
82C 40440 Nut Hex M12 12
86B 65158 Washer ELS M16 2
86C 65159 Washer ELS M20 2
87C 65615 Washer NS M12 9
E 87D 65616 Washer NS M16 4
87E 65617 Washer NS M20 2
88B 66413 Washer Tower M16 3
T200C 323219 |CF XARM - 2840x100x100 - CA-100 SHS 2.834m ARM 1
L T203A 323316 | XARM BRACE - 716x40x8 1
T208A 323306 |GAIN BLOCK 100mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 1
T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
T221D NEW Metallic Screen HV ABC Suspension Clamp 22kV 185mm2 (TYCO IBSH1085) 2
F T223D NEW Metallic Screen HV ABC Cable 22kV 185mm2 (Olex Product Code ULHA25AA003) 2
T225D NEW Metallic Screen HV ABC Cable Termination 22kV 185mm2, 3x1C 19/2.00-10mm Dia Gal Catenary 6
T226A NEW Surge Arrester/Stand Off Insulator/EDO Mounting Bracket - Crossarm Mounted ('L’ Bracket 360 x 52x10) 6
T227 32334 Bolt Hex M24 X 180 - Thread Length 75mm 3
T228 40448 Nut Hex M24 (36mm across Flats, 21mm Thick) 3
— T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 3
T330 NEW Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 5
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 8
T332D NEW Ellis Bundle Clamp for Metallic Screen HYABC Cable 22kV 185mm2 - 'Protect’ Trefoil Clamp 2
G T337B 141412  |Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm2 6
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w frading as TasNefworks OF TRANSHITTED 5. ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
212 TasNetworks Tme SCALE
Zla MS HVABC STRAIN WITH TRANSFORMER NTS
< | TEE - OFF INCLUDING EDOs, FRP X-ARM
o |2 DRAWN ELECTRO
z MATERIAL LIST - 185mm2 22KV ABC
w g DESIGNED BY B.MAYBERRY A Z*'
Z e CHECKED BY | K.GOSDEN
< APPROVED BY  |MICHAEL COOPER REVISION
DATE APPROVED [FEB 2022 D OHC - C107 SO 005 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-67



Overhead Distribution Construction Manual Section 3
3.27 MS HVABC Strain Tee-off to Open Wire FRP Crossarm
1 \ 2 \ 3 \ L \ 5
NB ENSURE THAT LOCKNUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
NOTE- EARTH CABLE RUNS UNDER THE
SUSPENSION CLAMPS
CROSSARM TO EACH SURGE DIVERTER o et Ve TaLLIe
A SCREENED HVABC
T221A ®
T221B
T221C
R
[ ORCT2210
TREFOIL CABLE CLEAT >
T SUIT MS HVABC 0
+ EARTH TAILS 1331
¢ T220 - 1kV 35mm’
- 1V 185mm’
- 22KV 35mm’
- 22kV 185mm’
L HVABC SCREEN METALLIC SCREENED HVABC
EARTH TAILS
NOTE 1
T337A 51A
COPPER LINKS TO SUIT RT3 3mSR
HVABC SCREEN WIRES 0R
C 7337C 51
7337~ X 13378 ) 1337C 0R 0r 0r
0R OR 12257 X 12258 X_T225C X 12250 )
CATENARY TERMINATIONS TO SUIT
T332A : METALLIC SCREENED HVABC
— BUNDLE CLAMPS ("T3328 g; R
TO SUIT METALLIC
SCREENED HVABC T332C oR 19F 119G 30.35.67
73320 & 778 X_87C )X 82C
530 358 X 626 X _35F )or( 35K
s 60G X 61A Y 618 X 61D
D 78C 1
8 824
88B
° 331
L Q
T203A S
]
] 756 ) 82A
51D P
t g S T206F X 82A X 86
30C 20 2 B 51D
113 T209D 87D
g (L63M S N COMPRESSION SLEEVES OR
8 S 510 55 X(56 ) CLAMP CONNECTORS TO
—| @\ SUIT CONDUCTOR SIZE/TYPE
T227
F z 1228 75v X 12088 )X 87D 8
g T229A 72090 )X 82A )X 86B
72298
Q
T200€ 820 X 87C 8
—| 778 ) 35E
T206A
T226A ) 51D
870 X 62A 5
HELICAL TERMINATIONS TO
G O o e ||
_ 19/2.14 CU EARTH
DOWN LEAD PVC
NOTES
1. HVABC SCREEN WIRES TO BE CONNECTED TO EARTH
DOWNLEAD ON SOURCE SIDE ONLY, TERMINATE THE SCREEN APL Nos
H | WRES TO A COPPER LINK & TAPE ON AWAY SIDE STO/HVABCI1.35./3/FRP
& DO NOT TERMINATE TO EARTH DOWNLEAD. STO/HVABCI1.185/3/FRP
2. FIT INSULATION SLEEVING TO ALL BRIDGING. STO/HVAB(22.35/3/FRP DIMENSIONS ARE IN MILLIMETRES
STO/HVABC22.185/3/FRP UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
n trad T Net K STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as fasNerworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
A TasNetwork: TITLE SALE
-2 ashetworks MS HVABC STRAIN, TEE - OFF NTS
= j( ORAWN ELECTRO TO OPEN W‘RE
@ |z FRP CROSSARM
[} 5 DESIGNED BY B MAYBERRY AA
=|e CHECKED BY K GOSDEN
4
= APPROVED BY  [MICHAEL COOPER B o - B REVISION
DATE APPROVED |FEB 2022 D OH[ EWO8 SD OO/‘ A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-68




Overhead Distribution Construction Manual Section 3
MS HVABC Strain Tee-off to Open Wire FRP Crossarm - Material List 1
1 | 2 | 3 | L 5
A
~ [Store Ty| ™ |Item R ~ | Stock Ite_~ |Stock Item Description ~ [Quant ~
STO/HVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
11.35/3/FRP 113 Expulsion Drop Out Fuse Element AK1 - Size as Required 3
B 303567 303567 |Termination Bar for Surge Arresters & Stand Off insulator 3
119F 225772  |Surge Diverter 10kA - 11kV 3
30C 235501 Fuse Tube EDO, Suits NGK and ABB Fuse Carriers 3
35E 141363  [Lug Crimp Cu M12 Hole 70mm2 Cable 13
35F 152476  [Lug Bi-Metal Compression Tinned M12 Hole 35mm2 Cable 6
| 51A 103208 [Conductor Cu Insulated Hard Drawn 1c 16mm2, 7/1.70 12
51D 103212 |Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 35
55J 146857 |Conductor Connection Slit Bolt 'D' Brass Clamp 4
60G 321260 [Insulator Disc Porcelain 16mm 70Kn 146mm 6
61A 322056 |Ball Clevis & Pin 16mm 5
C 61B 322386  [Socket Termination 16mm 5
61D 322090 [W'Clip / Kink Pin 11
62G 225771  |Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 3
63M 236323 |Switch Fuse EDO 24kV 8kA 3
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
. 75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 1
75V 32295 Bolt Hex M16 X 525 - Thread Length 75mm 1
77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 9
77C 33772 Bolt Tower M12 x 40 - Thread Length 20mm 3
78C 33782 Bolt Tower M16 x 45 - Thread Length 24mm 3
D 80E 37263 [Bolt Eye M20 x 375 2
82A 40441 Nut Hex M16 12
82B 40442 [Nut Hex M20 4
82C 40440 Nut Hex M12 12
|| 85B 50250 Coach Screw M12x100 1
86B 65158 Washer ELS M16 3
86C 65159  [Washer ELS M20 2
87C 65615  [Washer NS M12 12
87D 65616 [Washer NS M16 9
E 87E 65617 Washer NS M20 2
88B 66413 Washer Tower M16 3
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 [XARM BRACE - 716x40x8 1
T206A 325628 [M16 EYE BOLT 150 - Thread Length 60mm 2
— T206F 325638 |M16 EYE BOLT 375 - Thread Length 75mm 1
T208B 323307 |GAIN BLOCK 125mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
T221A NEW Metallic Screen HV ABC Suspension Clamp 11kV 35mm2 (TYCO IBSH1050) 2
F T223A NEW Metallic Screen HV ABC Cable 11kV 35mm2 (Olex Product Code UJHA18AA003) 2
T225A NEW Metallic Screen HV ABC Cable Termination 11kV 35mmz2, 3x1C, 19/2.00-10mm Dia Gal Catenary 6
T226A 323368 Bracket,stand off mounting FRP crossarm EDO 6
T227 32334 Bolt Hex M24 X 180 - Thread Length 75mm 3
T228 40448 Nut Hex M24 (36mm across Flats, 21mm Thick) 3
| T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 3
T330 144959  [Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 5
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 9
T332A NEW Ellis Bundle Clamp for Metallic Screen HYABC Cable 11kV 35mmz2 - 'Protect' Trefoil Clamp 2
G T333E NEW Ellis Cable Cleat Pole Mnted for MS HVABC Cable 11kV 35mm2 Cable + Earths - 'Emperor’ Trefoil Cleat 1
T337A 141410 |Ferrule - Copper, Cable Links for MS HVABC Cable 11kV 35mm2 Screen Wires - CSA 13.62mm2 6
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 © Fiting s Tosvore B T, e AR
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oly TILE SCALE
-2 TasNetworks MS HVABC STRAIN, TEE - OFF NTS
< |z TO OPEN WIRE FRP CROSSARM
ME AU L MATERIALS LIST - 35mm2 11KV ABC
= mm
w g DESIGNED BY | B MAYBERRY AL
: e CHECKED BY | K GOSDEN
< APPROVED BY  [MICHAEL COOPER REVISION
UATE APPROVED |FEB 2022 D - OHC - (108 - SD - 002 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-69




Overhead Distribution Construction Manual Section 3

MS HVABC Strain Tee-off to Open Wire FRP Crossarm - Material List 2

—

1 | 2 | 3 | L 5
A
Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
—1|STO/HVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
11.185/3/FR 113 Expulsion Drop Out Fuse Element AK1 - Size as Required 3
P 303567 303567 |Termination Bar for Surge Arresters & Stand Off insulator 3
119F 225772 [Surge Diverter 10kA - 11kV 3
30C 235501 Fuse Tube EDO, Suits NGK and ABB Fuse Carriers 3
B 35E 141363  |Lug Crimp Cu M12 Hole 70mm2 Cable 13
35K 152482  [Lug Bi-Metal Compression Tinned M12 Hole 185mm2 Cable 6
51C 94180 Conductor Cu Insulated Hard Drawn 1c 50mm2, 19/1.78 12
51D 103212 [Conductor Cu Insulated Hard Drawn 1c 70mm?2, 19/2.14 35
55J 146857  |Conductor Connection Slit Bolt 'D' Brass Clamp 4
| 60G 321260 |Insulator Disc Porcelain 16mm 70Kn 146mm 6
61A 322056 |Ball Clevis & Pin 16mm 5
61B 322386  [Socket Termination 16mm 5
61D 322090 |W' Clip / Kink Pin 11
62G 225771  |Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 3
c 63M 236323  |Switch Fuse EDO 24kV 8kA 3
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 1
75V 32295 Bolt Hex M16 X 525 - Thread Length 75mm 1
| 77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 9
77C 33772 Bolt Tower M12 x 40 - Thread Length 20mm 3
78C 33782 Bolt Tower M16 x 45 - Thread Length 24mm 3
80E 37263 Bolt Eye M20 x 375 2
82A 40441 Nut Hex M16 12
D 82B 40442 [Nut Hex M20 4
82C 40440 [Nut Hex M12 12
85B 50250 Coach Screw M12x100 1
86B 65158 Washer ELS M16 3
86C 65159 Washer ELS M20 2
1 87C 65615  [Washer NS M12 12
87D 65616 [Washer NS M16 9
87E 65617 [Washer NS M20 2
88B 66413 Washer Tower M16 3
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
E T203A 323316 | XARM BRACE - 716x40x8 1
T206A 325628 [M16 EYE BOLT 150 - Thread Length 60mm 2
T206F 325638 |M16 EYE BOLT 375 - Thread Length 75mm 1
T208B 323307 [GAIN BLOCK 125mm 1
| T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
T221B NEW Metallic Screen HV ABC Suspension Clamp 11kV 185mm2 (TYCO IBSH1075) 2
T223B NEW Metallic Screen HV ABC Cable 11kV 185mm2 (Olex Product Code UJHA25AA003) 2
T225B NEW Metallic Screen HV ABC Cable Termination 11kV 185mm2, 3x1C, 19/2.00-10mm Dia Gal Catenary 6
F T226A 323368 |Bracket,stand off mounting FRP crossarm EDO 6
T227 32334 Bolt Hex M24 X 180 - Thread Length 75mm 3
T228 40448 Nut Hex M24 (36mm across Flats, 21mm Thick) 3
T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 3
T330 144959  [Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 5
— T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 9
T332B NEW Ellis Bundle Clamp for Metallic Screen HYABC Cable 11kV 185mm2 - 'Protect’ Trefoil Clamp 2
T333F NEW Ellis Cable Cleat Pole Mnted for MS HVABC Cable 11kV 185mm2 Cable + Earths - 'Emperor' Trefoil Cleat 1
T337B 141412  |Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm2 6
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v © trading as TasNetworks OF TRANSHITTED Y'ANY HEANS WITHOUT TH
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy TILE SCALE
-2 TasNetworks MS HVABC STRAIN, TEE - OFF NTS
< |z TO OPEN WIRE FRP CROSSARM
ME i el MATERIALS LISTB - 185mm2 11KV ABC
= mm
w g DESIGNED BY B MAYBERRY AL
: © CHECKED BY | K GOSDEN
< APPROVED BY  [MICHAEL COOPER) REVISON
DATE APPROVED [FEB 2022 D- 0OHC - (€108 - SD - 003 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-70




Overhead Distribution Construction Manual Section 3

MS HVABC Strain Tee-off to Open Wire FRP Crossarm - Material List 3

—

1 | 2 | 3 | L 5
A
Store Type |Item Ref| Stock Item |Stock Item Description Quantity
STO/HVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
22.35/3/FRP 113 Expulsion Drop Out Fuse Element AK1 - Size as Required 3
B 303567 303567 | Termination Bar for Surge Arresters & Stand Off insulator 3
119G 225773  |Surge Diverter 10kA - 22kV 3
30C 235501 Fuse Tube EDO, Suits NGK and ABB Fuse Carriers 3
35E 141363 |Lug Crimp Cu M12 Hole 70mm2 Cable 13
35F 152476  [Lug Bi-Metal Compression Tinned M12 Hole 35mm2 Cable 6
— 51B 103209 [Conductor Cu Insulated Hard Drawn 1c 25mm2, 19/1.35 12
51D 103212 [Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 35
55J 146857 |Conductor Connection Slit Bolt 'D' Brass Clamp 4
60G 321260 |Insulator Disc Porcelain 16mm 70Kn 146mm 6
61A 322056 |Ball Clevis & Pin 16mm 5
C 61B 322386  [Socket Termination 16mm 5
61D 322090 |W' Clip / Kink Pin 11
62G 225771  |Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 3
63M 236323  |Switch Fuse EDO 24kV 8kA 3
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
| 75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 1
75V 32295 Bolt Hex M16 X525 - Thread Length 75mm 1
77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 9
77C 33772 Bolt Tower M12 x 40 - Thread Length 20mm 3
D 78C 33782 Bolt Tower M16 x 45 - Thread Length 24mm 3
80E 37263 Bolt Eye M20 x 375 2
82A 40441 Nut Hex M16 12
82B 40442 [Nut Hex M20 4
82C 40440 [Nut Hex M12 12
— 85B 50250 Coach Screw M12x100 1
86B 65158 Washer ELS M16 3
86C 65159 Washer ELS M20 2
87C 65615 Washer NS M12 12
87D 65616 [Washer NS M16 9
E 87E 65617 [Washer NS M20 2
88B 66413 Washer Tower M16 3
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 | XARM BRACE - 716x40x8 1
T206A 325628 |M16 EYE BOLT 150 - Thread Length 60mm 2
| T206F 325638 |M16 EYE BOLT 375 - Thread Length 75mm 1
T208B 323307 [GAIN BLOCK 125mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
T221C NEW Metallic Screen HV ABC Suspension Clamp 22kV 35mm2 (TYCO IBSH1060) 2
F T223C NEW Metallic Screen HV ABC Cable 22kV 35mm2 (Olex Product Code ULHA18AA003) 2
T225C NEW Metallic Screen HV ABC Cable Termination 22kV 35mmz2, 3x1C, 19/2.00-10mm Dia Gal Catenary 6
T226A 323368  |Bracket,stand off mounting FRP crossarm EDO 6
T227 32334 Bolt Hex M24 X 180 - Thread Length 75mm 3
| T228 40448 Nut Hex M24 (36mm across Flats, 21mm Thick) 3
T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 3
T330 144959 |Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 5
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 9
T332C NEW Ellis Bundle Clamp for Metallic Screen HYABC Cable 22kV 35mm?2 - 'Protect' Trefoil Clamp 2
G T333G NEW Ellis Cable Cleat Pole Mnted for MS HVABC Cable 22kV 35mm2 Cable + Earths - 'Emperor' Trefoil Cleat 1
T337C 141414  |Ferrule - Copper, Cable Links for MS HVABC Cable 22kV 35mm2 Screen Wires - CSA 22.7mm2 6
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» © trading as TasNetworks OF TRANSHITED 8 ANY HEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oly TILE SCALE
-\g TasNetworks MS HVABC STRAIN, TEE - OFF NTS
< |z TO OPEN WIRE FRP CROSSARM
< DRAWN ELECTRO
x|Z MATERIALS LIST - 35mm2 22KV ABC
w g DESIGNED BY B MAYBERRY AL
: e CHECKED BY [ K GOSDEN
< APPROVED BY  [MICHAEL COOPER) REVISION
DATE APPROVED [FEB 2022 D- 0OHC - (108 - SD - 004 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-71




Overhead Distribution Construction Manual Section 3

MS HVABC Strain Tee-off to Open Wire FRP Crossarm - Material List 4

—

1 | 2 | 3 | L 5
A
Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
STO/HVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
22.185/3/FR 113 Expulsion Drop Out Fuse Element AK1 - Size as Required 3
P 303567 303567 |Termination Bar for Surge Arresters & Stand Off insulator 3
B 119G 225773  |Surge Diverter 10kA - 22kV 3
30C 235501 Fuse Tube EDO, Suits NGK and ABB Fuse Carriers 3
35E 141363  [Lug Crimp Cu M12 Hole 70mm2 Cable 13
35K 152482 |Lug Bi-Metal Compression Tinned M12 Hole 185mm2 Cable 6
| 51C 94180 Conductor Cu Insulated Hard Drawn 1c 50mm2, 19/1.78 12
51D 103212 |Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 35
55J 146857 |Conductor Connection Slit Bolt 'D' Brass Clamp 4
60G 321260 |Insulator Disc Porcelain 16mm 70Kn 146mm 6
61A 322056 |Ball Clevis & Pin 16mm 5
C 61B 322386 [Socket Termination 16mm 5
61D 322090 |W' Clip / Kink Pin 11
62G 225771  |Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 3
63M 236323 |Switch Fuse EDO 24kV 8kA 3
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
— 75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 1
75V 32295 Bolt Hex M16 X 525 - Thread Length 75mm 1
77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 9
77C 33772 Bolt Tower M12 x 40 - Thread Length 20mm 3
78C 33782 Bolt Tower M16 x 45 - Thread Length 24mm 3
D 80E 37263 [Bolt Eye M20 x 375 2
82A 40441 Nut Hex M16 12
82B 40442 Nut Hex M20 4
82C 40440 |Nut Hex M12 12
| 85B 50250  [Coach Screw M12x100 1
86B 65158 Washer ELS M16 3
86C 65159  [Washer ELS M20 2
87C 65615  [Washer NS M12 12
87D 65616 Washer NS M16 9
E 87E 65617 [Washer NS M20 2
88B 66413 Washer Tower M16 3
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 | XARM BRACE - 716x40x8 1
T206A 325628 |M16 EYE BOLT 150 - Thread Length 60mm 2
— T206F 325638 |M16 EYE BOLT 375 - Thread Length 75mm 1
T208B 323307 |GAIN BLOCK 125mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
T221D NEW Metallic Screen HV ABC Suspension Clamp 22kV 185mm2 (TYCO IBSH1085) 2
F T223D NEW Metallic Screen HV ABC Cable 22kV 185mm2 (Olex Product Code ULHA25AA003) 2
T225D NEW Metallic Screen HV ABC Cable Termination 22kV 185mm2, 3x1C 19/2.00-10mm Dia Gal Catenary 6
T226A 323368 |Bracket,stand off mounting FRP crossarm EDO 6
T227 32334 Bolt Hex M24 X 180 - Thread Length 75mm 3
T228 40448 Nut Hex M24 (36mm across Flats, 21mm Thick) 3
| T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 3
T330 144959  [Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 5
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 9
T332D NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 22kV 185mm?2 - 'Protect' Trefoil Clamp 2
G T333H NEW Ellis Cable Cleat Pole Mnted for MS HVABC Cable 22kV 185mm2 Cable + Earths - 'Emperor' Trefoil Cleat 1
T337B 141412 |Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm2 6
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w © trading as TasNetworks OF TRANSHTTED 8 ANY HEANS WTHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oly TILE SCALE
-2 TasNetworks MS HVABC STRAIN, TEE - OFF NTS
< |z TO OPEN WIRE FRP CROSSARM
< DRAWN ELECTRO
x|Z MATERIALS LIST - 185mm2 22KV ABC
w g DESIGNED BY B MAYBERRY AL
: e CHECKED BY | K GOSDEN
< APPROVED BY  MICHAEL COOPER REVISON
DATE APPROVED |FEB 2022 D- 0OHC - (108 - SD - 005 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-72




Overhead Distribution Construction Manual Section 3

STEEL CROSSARMS HV CONSTRUCTIONS

3.28 Intermediate Steel Mk4 Crossarm
[ ]

1 \ 2 \ 3 L 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.

A [FRP_CROSSARMS PREFERRED]

o
% o
[T { SHL X
- [
oW
o | &%
=
=}
=
w_2
232
o =
= o
C S Snz
2 <5
asy
WZQ
<
>V
>
WS
22
— > =
— TZ=
EQ E
c
sz S
\fmm
eeiaagaal
D s

L l@ TIE TO SUIT CONDUCTOR SIZE/TYPE
E < é

.

F
s
SEE NOTE 1
A
6 W
INSULATOR SPACER
|| nNoes DETAIL
1. FIT INSULATOR PIN SPACER TO STEEL/CONCRETE AND STEEL LATTICE POLES
ON BOTH CROSSARM AND ‘L' BRACKET. (CROSSARM ARRANGEMENT SHOWN)
THESE ~ SPACERS NEED TO BE FITTED TO PROVIDE EXTRA CLEARANCE FOR
BIRDS ON CONDUCTIVE POLE TYPES.
APL Nos
H 1/11/1/PLM
1/11/3/PLM
1/22/1/PLM DIMENSIONS ARE IN MILLIMETRES
1/22/3/PLM UNLESS OTHERWISE STATED
] © Tasmanian Networks PTY. LTD NO PART OF THIS DRAWING MAY BE REPRODUCED,
n = trad TasNet K ° ° STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
Q o rading as tasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
Z |w| E ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
° 12| 2 2k 5§ TasNetworks e SCALE
1?3 AN INTERMEDIATE 11kV OR 22kV
= GESL 32 NTS
<|Z| 7 = Zo35)53 MK4 CROSSARM
= DRAWN (5 PRO-SOLUTIONS
«|5| & OPEN WIRE
(] g w = DESIGNED BY ELECTRO AL
Sl S L £ CHECKED BY | HWESTBURY
- = o @ REVISION
< o ; é APPROVED BY A KETLEY _ _ _ _
= 2 < DATE APPROVED | 17/MAY/19 D OHC €007 SD 001 B

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-73



Overhead Distribution Construction Manual Section 3

Intermediate Steel Crossarm - Material List

1 | 2 | 3 L | 5
A Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
I11/1/PLMand S 4 323311 |BRACKET,RIGHT ANGLE 75 X 12MM GAL 1
122/1/PLM 1D 323304 |CROSSARM,STEEL 75 X 75 X 2210MM MK4 GAL 1
B 59A 322721 |PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 2
60E 320531 |INSULATOR,PIN 22KV AERO PORCELAIN 2
] 75M 32287 |BOLT,HEX HEAD M16 X 325MM GAL. C/W NUT 2
c 77B 33771 |BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 2
82A 40441 |NUT,HEX M16 THREAD GALANISED STEEL 2
86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 2
. 88A 66412 |WASHER,FLAT ROUND M12 X 24MM GAL 2
2A 323314 |BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 2
I/11/3/PLM and S 4 323311 |BRACKET,RIGHT ANGLE 75 X 12MM GAL 1
D 122/3/PLM 1D 323304 |CROSSARM,STEEL 75 X 75 X 2210MM MK4 GAL 1
59A 322721 |PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 3
60E 320531 [INSULATOR,PIN 22KV AERO PORCELAIN 3
| 75M 32287 |BOLT,HEX HEAD M16 X 325MM GAL. C/W NUT 1
75N 32288 |BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 1
77B 33771 |BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 2
E 82A 40441 |NUT,HEX M16 THREAD GALANISED STEEL 2
86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 2
88A 66412 |WASHER,FLAT ROUND M12 X 24MM GAL 2
L 2A 323314 |BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 2
Insulator raisers 6D 323399 [SPACER,INSULATOR PIN 150X100X5X100MM RHS 1
F for steel/conc poles 87E 65617 |WASHER,FLAT ROUND M20 X 37MM GAL 1
(per phase conductor) 76G TBA |M20x 45 Bolt and Nut 1
G
H
- O g o5 Magharwors -1 S WA SG & AT
= ABN. 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
-2 TasNetworks | " \\ TERMEDIATE 11kV OR 22kV NTS
< 2‘ DRAWN (5 PRO-SOLUTIONS MKA [ROSSARM
Z é DESIGNED BY ELECTRO OPEN W‘RE
- |Z MATERIALS LIST AL
. CHECKED BY H.WESTBURY
APPROVED BY A KETLEY REVISION
h DATE APPROVED | 11/MAY/19 D - O H [ - [ O 0 /‘ - S D - O O 2 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-74



Overhead Distribution Construction Manual Section 3

3.29Intermediate Delta Mk4 Crossarm Open Wire

B B
2 | 3 | L 5

A FRP_CROSSARMS PREFERRED |
| 53\ g (s0E)
zz ()
B = ; .
38 &
5 %
| [ [ ES N - £
3§ / >
== (7sMX82a)(368)
C
D
@
. INTERMEDIATE POSITION
[
F
[
|
G
|
H
APL Nos DIMENSIONS ARE IN MILLIMETRES
IH/22/3/PLM UNLESS OTHERWISE STATED
2 © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
I trading as TasNetworks R TRANSHITTED B ARY MEANS MITHOUT THE
= g E E ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°lal = L7} TITLE SCALE
12 5| N% TasNetworks INTERMEDIATE DELTA 11kV OR 22kV NTS
<[Z| s__¢F MK4 CROSSARM
@ E & DRAWN (5 PRO-SOLUTIONS OPEN \/\”RE
w S [ DESIGNED BY ELECTRO AA
: <’ ; CHECKED BY H.WESTBURY
< = APPROVED BY _ _ _ _ REVISION
= DATE APPROVED | 21/MAY/19 D O H [ [ O O 2 S D O O /‘ B
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-75



Overhead Distribution Construction Manual Section 3

Intermediate Delta Mk4 Crossarm Open Wire - Material List

1 | 2 | 3 | L 5
A
Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
B IH/22/3/PLM S 4 323311| BRACKET,RIGHT ANGLE 75 X 12MM GAL 1
CROSSARM,STEEL 75 X 75 X 2210MM MK4
1D 323304/GAL 2
— PIN,INSULATOR 20MM DIA X 22KV GAL
59A 322721 |STEEL
60E 320531/ INSULATOR,PIN 22KV AERO PORCELAIN
C BOLT,HEX HEAD M16 X 325MM GAL. C/W
75M 32287 NUT 2
BOLT,HEX HEAD M16 X 350MM GAL. C/W
- 75N 32288 NUT 2
BOLT,HEX HEAD M12 X 35MM GAL. C/W
778 33771/ NUT 4
0 82A 40441 NUT,HEX M16 THREAD GALANISED STEEL 8
86B 65158 WASHER,FLAT ROUND M16 X 50MM GAL 4
88A 66412 WASHER,FLAT ROUND M12 X 24MM GAL 4
H BRACE,CROSSARM 40 X 700 X SMM THICK
2A 323314/GAL 4
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
T ian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 © 1z 3 ot BT 3 e ot o
= ABN 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy SCALE
-2 TasNetworks |\ ""\\ TERMEDIATE DELTA 11kV OR 22V NTS
<|z — MK& CROSSARM OPEN WIRE
HE e MATERIALS LIST
w = DESIGNED BY ELECTRO AL
: © CHECKED BY HWESTBURY
< APPROVED BY A KETLEY REVISION
DATE APPROVED | 21/MAY/19 D - O H [ - [ O O 2 - S D - 0 0 2 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-76



Overhead Distribution Construction Manual Section 3

3.30 Intermediate Offset Crossarm Open Wire
[ 1

1 | 2 | 3 | b 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A [FRP_CROSSARMS PREFERRED |
o
PR @
I J
¢
|| p=Y ]
= SEN T i +]
I
T
tSEE DRAWING D-0H1-0637-SD-001
B STEELWORK FOR DETAILS
- : 2
3 =
g &
< =
n i
SEE D-OHC-N005-5D-012 =
C STEELWORK FOR DETAILS - Z
o
=
b
=)
D CONDUCTOR TIE TO SUIT CONDUCTOR SIZE/TYPE ((54 ) %
% & |
il
T
oy}
— =<
(ww)
()]
E =
(@)
| <5
|
F
|
|
G
<
|
H
REFERENCE DRAWINGS APL Nos: DIMENSIONS ARE IN MILLIMETRES
D-0HC-N005-SD-012, D-OH1-0772-5D-001, D-OHC-B013-5D-001 OFFSET/22/3/PLM UNLESS OTHERWISE STATED
v N
< (© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
. " STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
) % s trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
Z|wl 2 2 ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°lal & 2k 8 5 TasNetworks [ St
il e I wE2LSLS INTERMEDIATE 11kV OR 22kV OFFSET CROSSARM NTS
2| x b SR ER
<|2| = E kS OPEN WIRE
= o DRAWN (5 PRO-SOLUTIONS
x |o o
w g : g N DESIGNED BY | ELECTRO ARRANGEMENT AA
el = bEELE CHECKED BY | HVESTBLRY
) w ¥ e =34
= Eclsfs APPROVED BY | A KETLEY REVISION
< E EaEZ[ES - - = -
= EYEFE= DATE APPROVED | 21/MAY/19 D O H [ [ O O 3 S D O O /‘ B

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-77



Overhead Distribution Construction Manual Section 3
Intermediate Offset Crossarm Open Wire - Material List
1 | 2 | 3 | 4 5
A
Store Stock
B Unit Assembly Type Item Ref Item Stock Item Description Quantity
PIN,INSULATOR 20MM DIA X 22KV
Offset/22/3/PLM s 59A | 322721 |GALSTEEL 3
| INSULATOR,PIN 22KV AERO
60E | 320531 |PORCELAIN 3
BOLT,HEX HEAD M16 X 325MM GAL.
75M 32287 |C/W NUT 2
¢ BOLT,HEX HEAD M12 X 35MM GAL.
778 33771 |C/W NUT 1
NUT,HEX M16 THREAD GALANISED
— 82A 40441 |STEEL 2
WASHER,FLAT ROUND M16 X 50MM
86B 65158 |GAL 2
D WASHER,FLAT ROUND M12 X 24MM
88A 66412 |GAL 1
CROSSARM,OFFSET HV 75X75X6 2-
- 1H 323410 |PIECEKIT 1
E
F
G
H
T Net ks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED.
- R e G
= ABN. 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w SCALE
-2 TasNetworks | "\ TERMEDIATE 11kV OR 22kV OFFSET CROSSARM | NTs
<[z — — OPEN WIRE ARRANGEMENT
E E DESIGNED BY ELECTRO MATER‘ALS L‘ST AL
: © CHECKED BY H.WESTBURY
< APPROVED BY | A KETLEY _ _ _ _ REVISION
DATE APPROVED | 21/MAY/19 D O H [ [ 0 0 3 S D 0 0 2 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-78



Overhead Distribution Construction Manual Section 3

3.31 Intermediate Open Wire with Special Bracket for Centre Phase
[ 1

1 | 2 | 3 | 4 | 5
A NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE
B
* +
1 o
a2
2.
W
ragrp
WS
Tws
03
C oI
23
SENE
2laly
Gez
>0
255
— 233
zgf
EQ e
SE
Sz S
2F8
D
P~
E
TIE TO SUIT CONDUCTOR
SIZE/TYPE
|
F NB OUTER INSULATORS AND
CONDUCTORS OMITTED FOR
CLARITY. |
d
752 X 88B [
‘ J.
|
<
NOTES
1. THIS ARRANGEMENT TO BE USED FOR THE CONVERSION FROM 1 PHASE TO
3 PHASE ON EXISTING CONSTRUCTIONS ONLY, WHERE THERE IS NO ‘L' BRACKET
H INSTALLED.
APL Nos
1B/11/3/PLM DIMENSIONS ARE IN MILLIMETRES
1B/22/3/PLM UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM N ANY FORM,
) trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
2 TasNetworks T SIALE
|4 SPECIAL BRACKET FOR ADDING CENTRE PHASE 1.25
<|= TO INTERMEDIATE OPEN WIRE
@« ; DRAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
o
= |e CHECKED BY H.WESTBURY Al”
-
< APPROVED BY [ A KETLEY _ _ _ _ REVISION
DATE APPROVED | 21/MAY/19 D O H [ [ O O [F S D O O /‘ A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-79



Overhead Distribution Construction Manual

Section 3

Intermediate Open Wire with Special Bracket for adding Centre Phase - Material List

1 | 2 | 3 | L |
A
Store Stock
L Unit Assembly Type Item Ref Item Stock Item Description Quantity
1B/11/3/PLM and S 59A 322721 |PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 1
1B/22/3/PLM 60E 320531 |INSULATOR,PIN 22KV AERO PORCELAIN 1
B 6D 323399 |SPACER,INSULATOR PIN 150X100X5X100MM RHS 1
752 32261 |BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 1
88B 66413 |WASHER,FLAT ROUND M16 X 30 X 5MM GAL 1
(
D
3
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY, LTD. NO PART OF THIS DRAWNG MAY BE REPRODUCED.
0 radng a5 Toshetuorks G P
=z ABN. 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy TITLE SCALE
-2 TasNetworks SPECIAL BRCKET FOR ADDING CENTRE PHASE NTS
<|z - TO INTERMEDIATE OPEN WIRE
x % DRAWN (5 PRO-SOLUTIONS MATER‘ALS L‘ST
w = DESIGNED BY ELECTRO AL
=\ (HECKED BY HWESTBURY
-
< APPROVED BY | A KETLEY _ _ _ _ REVISION
DATE APPROVED | 21/MAY/19 D O H [ [ O O L’ S D O O 2 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-80



Overhead Distribution Construction Manual Section 3
1 | 2 | 3 | L | 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
- - na
\MKL (ROSSARM
INTERMEDIATE CONSTRUCTION
B
il
< 88A
GO O
(
| S0
R : 44— —IH
] Il - IN
/ NG 3
/t\\
D =/ \F
Y — )
_J \ /
- W0oD POLE— [
L= SECTION /A e
E RAISER ARRANGEMENT
2060
‘ 160 ‘ 4
- —
3 Py ] =
RN — —f
50
4 HOLES @1t 4 HOLES @18
v [t
. .
| ¢ |
' 460
ITEM 4C - RAISER BEAM
— MATERIAL: 125X65 CHANNEL -TYPE 2 (A=41) 500
S.I. No. 32.32.36
NOTE: 3 HOLES @ 1. DRILLED
G IN BRACE ON SITE
NOTES ITEM 4B - BRACE
1. 125 x 65 CHANNEL (TYPE 2) TO BE USED FOR MEDIUM TENSION SINGLE PIN TYPE !"”ﬁf"*éz 3%55 FLAT 500 LONG APPROX
CONSTRUCTION NO ANGLE UP TO 19./3.25 AAC. 1 No. 32.32.
- 2. HIGH VOLTAGE RAISERS ARE SUITABLE FOR TEMPORARY INTERMEDIATE TYPE INSTALLATION
ONLY.
3. HOLES TO BE DRILLED IN CHANNEL TO ALLOW BOLT HEADS ON STEEL/CONCRETE POLE TO
PROTRUDE THROUGH CHANNEL TO ENABLE RAISER TO FIT FLAT AGAINST POLE FACE.
L. FIT LOCK NUTS TO BOLTS WHICH PASS THROUGH POLE.
H
APL Nos DIMENSIONS ARE IN MILLIMETRES
RAISER/2/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED.
STORED IN A RETREVAL SYSTEM IN ANY FORM,
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |
213 TasNetworks T SIALE
—|a 1kV OR 22kV HV POLE TOP RAISER NTS
< |z FOR INTERMEDIATE OPEN WIRE
I~ ; DRAWN (5 PRO-SOLUTIONS
w |2 DESIGNED BY ELECTRO
[-4
= (e CHECKED BY H.WESTBURY AL
_
< APPROVED BY | A KETLEY _ _ _ B REVISION
DATE APPROVED | 21/MAY/19 D O H [ [ O O 5 S D OO /‘ A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-81



Overhead Distribution Construction Manual

Section 3

HV Poletop Raiser - Material List

| 2 | 3 b |
A
Store Stock
— Unit Assembly Type Item Ref Item Stock Item Description Quantity
RAISER/2/PLM s 4B 323235 |BRACE,RAISER BEAM 40X 5 X 500MM GAL 1
ac 323236 |BEAM,RAISER 125 X 65 X 2060MM TYPE-2 2
B 75M | 32287 |BOLT,HEX HEAD M16 X 325MM GAL. C/W NUT| 2
778 33771 |BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 7
82A 40441 |NUT,HEX M16 THREAD GALANISED STEEL 4
] 88A 66412 |WASHER,FLAT ROUND M12 X 24MM GAL 7
C
D
3
F
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 irodng as Toshetworks S L ST
= ABN 2L 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o (¥ TITLE SCALE
-2 TasNetworks 1V OR 22kV HV POLE TOP RAISER NTS
<|z — pyp— FOR INTERMEDIATE OPEN WIRE
x |Z -
w E DESIGNED BY ELECTRO MATER‘ALS L‘ST AL
Ll S (HECKED BY H.WESTBURY
-
< APPROVED BY A KETLEY _ _ _ _ REVISION
DATE APPROVED | 21/MAY/19 D O H [ [ O O 5 S D O O 2 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-82



Overhead Distribution Construction Manual Section 3

3.33 Dead End Flat Steel Mk5 Crossarm
- .

w \ 2 \ 3 \ L 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
o
& ®
R — )+ e
[T TR
— & > n
o w g
on >
wnw_ o
— Z2w
< @
Ehl )
B Sne 3 Q@
<o x
a v <
wmw = a
<
>
o 232
e
2=
EQ E
c
< g S L=
C >x 3
o ™
NB CENTRE DISC INSULATORS
OMITTED FOR CLARITY
D
— HELICAL TERMINATION TO
SUIT CONDUCTOR SIZE/TYPE
£
<
F
5
o
RS S R
- . °
____________ _<_>___f_______§
+ +g¢ 4 4 ¢
G
APL Nos
H DES/11/1/PLM
DES/11/3/PLM
DES/22/1/PLM DIMENSIONS ARE IN MILLIMETRES
DES5/22/3/PLM UNLESS OTHERWISE STATED
P © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w : = tradin as TasNefworks STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
w o g OR TRANSMITTED BY ANY MEANS WITHOUT THE
Z|w é E ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o Rl & 7] T TITLE SCALE
- 5 asNetworks
el I §§§ DEAD END MkV OR 22kV NTS
= :=
<|Z| © FES MKS5 CROSSARM OPEN WIRE
M EI DRAWN (5 PRO-SOLUTIONS
w g t DESIGNED BY | ELECTRO AL
Tl & | (HECKED BY | HMESTBURY
o
= 3 APPROVED BY | A KETLEY REVISION
< = & _ — — _
= H DATE APPROVED | 22/MAY/19 D OHC C006 SO 001 B

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-83



Overhead Distribution Construction Manual Section 3
Dead End Flat MK5 Crossarm — Material List
1 | 2 | 3 4 5
A
Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
B DE5/11/1/PLMand 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
DE5/22/1/PLM 1 323305 |CROSSARM,STEEL 100 X 100 X 2210MM GAL 2
60G | 321260 |INSULATOR,SUSPENSION 146MM DISC D705 2
61A | 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 2
] 61B | 322386 |CONNECTOR,ROD-END 16MM 8OKN MIN-FAIL MCI 2
61D | 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 2
75N 32288 |BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 2
C 752 32261 |BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 4
778 33771 |BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 4
82A | 40441 |NUT,HEX M16 THREAD GALANISED STEEL 4
88A | 66412 |WASHER,FLATROUND M12 X 24MM GAL 4
— 88B 66413 |WASHER,FLAT ROUND M16 X 30 X 5MM GAL 4
2A | 323314 |BRACE,CROSSARM 40 X 700 X SMM THICK GAL 4
DE5/11/3/PLM and 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
DE5/22/3/PLM 1E 323305 |CROSSARM,STEEL 100 X 100 X 2210MM GAL 2
0 60G | 321260 |INSULATOR,SUSPENSION 146MM DISC D705 3
61A | 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 3
61B | 322386 |CONNECTOR,ROD-END 16MM 8OKN MIN-FAIL MCI 3
- 61D | 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 3
75P 32289 |BOLT,HEX HEAD M16 X 375MM GAL. C/W NUT 1
752 32261 |BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 4
778 33771 |BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 4
E 82A | 40441 |NUT,HEX M16 THREAD GALANISED STEEL 4
88A | 66412 |WASHER,FLATROUND M12 X 24MM GAL 4
88B 66413 |WASHER,FLAT ROUND M16 X 30 X 5MM GAL 4
] 2A | 323314 |BRACE,CROSSARM 40 X 700 X SMM THICK GAL 4
F
G
H
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
« © trading as TasNetworks OR TRANSMITTED By, ANY MEANS WITHOUT THE
=z ABN. 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy TITLE SCALE
-2 TasNetworks DEAD END 1kV OR 22kV NTS
<|= — — MK5 CROSSARM OPEN WIRE
x|z - MATERIALS LIST
w = DESIGNED BY ELECTRO AL
Ll K= CHECKED BY H.WESTBURY
-
< APPROVED BY | A KETLEY _ _ _ _ REVISION
DATE APPROVED | 22/MAY/19 D O H [ [ O O 6 S D O O 2 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-84



Overhead Distribution Construction Manual Section 3

3.34 Strain Flat Mk5 Crossarm
-

w \ 2 \ 3 L 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A [FRP_CROSSARMS PREFERRED |
o — 2
B \ \ 55‘ .
U—‘ZE
=
w®3
nig
u<<x
Rt
L 5| 382
.
Zis
z9f
C ESE
328
2F2
)
CONDUCTOR TIES TO SUIT COMPRESSION SLEEVES OR
CONDUCTOR S\ZE/TYPE CLAMPS TO SUIT CONDUCTORS
—
D —
HELICAL TERMINATIONS TO SUIT
CONDUCTOR SIZE/TYPE
3 NB CENTRE DISC INSULATORS
OMITTED FOR CLARITY
F
P + sde + <+ g
. ) T
APL Nos
H S5/11/1/PLM
S5/11/3/PLM
S5/22/1/PLM DIMENSIONS ARE IN MILLIMETRES
S5/22/3/PLM UNLESS OTHERWISE STATED
] © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w . 3 tradin as TasNefworks STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
[ o g OR TRANSMITTED BY ANY MEANS WITHOUT THE
Z|w § E ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o3& 9 s & T TITLE SCALE
bo 5 8 asNetworks
- 128 | QFELLE STRAIN 11kV OR 22kV NTS
- x AN
< |Z|Y Ll EINESSER MKS5 CROSSARM OPEN WIRE
x |5 o DRAWN (5 PRO-SOLUTIONS
Sl &
(] g : z DESIGNED BY ELECTRO AL
Sl E R b 2 (HECKED BY | HMESTBURY
2 = % 2 APPROVED BY | A KETLEY REVISION
<| |g T _ _ _ _
= 2" < DATE APPROVED | 22/MAY/19 D OHC co07 SO 001 B

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-85



Overhead Distribution Construction Manual Section 3
Strain Flat MKS5 Crossarm - Material List
1 | | L 5
A
Store Stock
B Unit Assembly Type Item Ref ltem Stock Item Description Quantity
$5/11/1/PLMand 3 323310 [PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
$5/22/1/PLM 4 323311 |BRACKET,RIGHT ANGLE 75 X 12MM GAL 1
— 1E 323305 [CROSSARM,STEEL 100 X 100 X 2210MM GAL 2
59A | 322721 |PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 3
60E 320531 [INSULATOR,PIN 22KV AERO PORCELAIN 3
c 60G | 321260 [INSULATOR,SUSPENSION 146MM DISC D705 4
61A | 322056 [CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 4
61B 322386 |CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 4
61D | 322090 [CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 4
] 75N 32288 |BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 2
752 32261 |BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 4
778 33771 |BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 4
) 2A 40441 |NUT,HEX M16 THREAD GALANISED STEEL 4
868 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 2
88A 66412 |WASHER,FLAT ROUND M12 X 24MM GAL 4
838 66413 |WASHER,FLAT ROUND M16 X 30 X 5MM GAL 4
] 2A 323314 |BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 4
$5/11/3/PLM and 3 323310 [PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
$5/22/3/PLM 4 323311 |BRACKET,RIGHT ANGLE 75 X 12MM GAL 1
E 1E 323305 [CROSSARM,STEEL 100 X 100 X 2210MM GAL 2
59A | 322721 [PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 3
60E 320531 [INSULATOR,PIN 22KV AERO PORCELAIN 3
. 60G | 321260 [INSULATOR,SUSPENSION 146MM DISC D70S 6
61A | 322056 [CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 6
61B 322386 |CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 6
61D | 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 6
F 75N 32288 |BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 2
752 32261 |BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 4
778 33771 |BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 4
- 2A 40441 |NUT,HEX M16 THREAD GALANISED STEEL 4
868 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 2
88A 66412 |WASHER,FLAT ROUND M12 X 24MM GAL 4
838 66413 |WASHER,FLAT ROUND M16 X 30 X 5MM GAL 4
G 2A 323314 |BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 4
H
) T T e g
=z ABN 2L 167 357 299 PRIOR PERMISSION OF TASNETWORKS
213 TasNetworks | ™5 7R AIN 11V OR 22KV NTS
< ;‘ DRAWN (5 PRO-SOLUTIONS MKS [ROSSARM OPEN W‘RE
Z E DESIGNED BY ELECTRO MATER‘ALS L‘ST AL
: © CHECKED BY H.WESTBURY
APPROVED BY [ A KETLEY REVISION
= DATE APPROVED | 22/MAY/19 D - O H [ - [ O O 7 - S D - O O 2 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-86



Overhead Distribution Construction Manual Section 3

3.35 Strain Flat Underslung Steel Mk5 Crossarm
[ 1

1 | 2 | 3 | L | 5

NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.

FRP_CROSSARMS PREFERRED |

A
(P T\ “\
B TIE TO SUIT CONDUCTOR
SIZE/TYPE
- (59 X60E)
C HELICAL TERMINATION TO
SUIT CONDUCTOR SIZE/TYPE
NB CENTRE DISC INSULATORS |
OMITTED FOR CLARITY j
3
2
D

L60

o
~
o~

\_O
— COMPRESSION SLEEVE OR CLAMP
CONNECTOR

|
F
° |
R S L
o
( >:u 3
e e R + o+ 8
|
G
|
NOTES
1. NO LV CONSTRUCTION WITH THIS ARRANGEMENT BECAUSE OF REDUCED
CLEARANCES.
2. THIS ARRANGEMENT CAN BE USED IN BIRD PROBLEM AREAS. APL Nos
H SUS/11/1/PLM
SuUs/11/3/PLM
SU5/22/1/PLM DIMENSIONS ARE IN MILLIMETRES
SU5/22/3/PLM UNLESS OTHERWISE STATED
7 i NO PART OF THIS DRAWING MAY BE REPRODUCED,
] © Tasmanian Networks PTY. LTD. g
vl s RS trading s TasNetworks R TRANSMITIED BY ANY 1EANS WITHOUT THE
Z|w| = 3 ABN: 24 167 357 299 PRIOR OF TASNETWORKS
°lg| 3 8| | g TasNetworks T SCALE
- 2 4 %gg NI STRAIN UNDERSLUNG 11kV OR 22kV NTS
) B B R
<|Z| & CEJESES MKS5 (ROSSARM OPEN WIRE
« || o DRAWN (5 PRO-SOLUTIONS
w|E = E DESIGNED BY | ELECTRO
[=] L 3| >~
- €|len e (HECKTD BY [ HVESTBURY AL
b = el R REVISION
< 5 §E§§§§ APPROVED BY | A KETLEY _ _ _ _
= 0 "ES== DATE APPROVED | 22/MAY/19 D O H [ [ O O 8 S D O O /‘ B

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-87



Overhead Distribution Construction Manual Section 3
Strain Flat Underslung Mk5 Crossarm - Material List
1 | 2 | 3 L 5
A
Unit Assembly|Store Type [ltem Ref| Stock Item |Stock Item Description Quantity
B |[sus/11/1/PLM
and S 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
SuU5/22/1/PLM 1E 323305 |CROSSARM,STEEL 100 X100 X2210MM GAL 2
60G 321260 |INSULATOR,SUSPENSION 146MM DISC D70S 4
61B 322386 |CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 4
| 61D 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 4
75N 32288 BOLT,HEXHEAD M16 X 350MM GAL. C/W NUT 2
752 32261 BOLT,HEXHEAD M16 X45MM GAL. C/W NUT 4
77B 33771 BOLT,HEXHEAD M12 X 35MM GAL. C/W NUT 4
C 82A 40441 NUT,HEX M16 THREAD GALANISED STEEL 4
88A 66412 WASHER,FLAT ROUND M12 X 24MM GAL 4
88B 66413 WASHER,FLAT ROUND M16 X 30 X 5MM GAL 4
2A 323314 |BRACE,CROSSARM 40 X700 X 5MM THICK GAL 4
SU5/11/3/PLM
| |land S 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
SU5/22/3/PLM 1E 323305 |CROSSARM,STEEL 100 X 100 X 2210MM GAL 2
59A 322721 PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 1
60E 320531 INSULATOR,PIN 22KV AERO PORCELAIN 1
60G 321260 INSULATOR,SUSPENSION 146MM DISC D70S 6
D 61A 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 6
61B 322386 |CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 6
61D 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 6
75N 32288 BOLT,HEXHEAD M16 X 350MM GAL. C/W NUT 4
75B 32261 BOLT,HEXHEAD M16 X45MM GAL. C/W NUT 4
| 77B 33771 BOLT,HEXHEAD M12 X 35MM GAL. C/W NUT 4
88A 66412 WASHER,FLAT ROUND M12 X 24MM GAL 4
88B 66413 WASHER,FLAT ROUND M16 X 30 X 5MM GAL 4
2A 323314 |BRACE,CROSSARM 40 X700 X 5MM THICK GAL 4
E B6A 323315 |BRACKET,INSULATOR 50 X6MM C/W BRACE 1
85B 50250 COACH SCREW,HEXHEAD 12MM X 100MM GAL 1
|
F
|
|
G
|
H
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
« trading as TasNetworks O TRANSHITTED B ARY WEARS WiTHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
2 TasNetworks TILE S(ALE
-3 STRAIN UNDERSLUNG 11kV OR 22kV NTS
<|2 . MKS CROSSARM OPEN WIRE
DRAWN (5 PRO-SOLUTION
E MATERIALS LIST
w (2 DESIGNED BY | ELECTRO AL
o
= o CHECKED BY H.WESTBURY
-
< APPROVED BY A KETLEY _ _ _ _ REVISION
DATE APPROVED | 22/MAY/19 D O H [ [ O O 8 S D O O 2 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-88



Overhead Distribution Construction Manual Section 3
3.36 Strain Delta Steel Mk5 Crossarm
1 | 2 | 3 4 5
. 59A X 60E
A gz ] [ FRP_CROSSARMS PREFERRED |
E 2
25
< <
iy
u i /@
28
g
(I @) S———— O
B 3
(778 X(88)
COMPRESSION SLEEVES OR CLAMP CONNECTORS CONDUCTOR TIE TO SUIT
c TO SUIT CONDUCTOR SIZE/TYPE [ONDU[TOR SIZE/TYPE
HELICAL TERMINATION TO
SUIT CONDUCTOR SIZE/TYPE
D ~
C et~
|| 1|
(7sn )(8eB)
E
I
F
I
o El -
e e s
I
G HELICAL TERMINATION TO
SUIT CONDUCTOR SIZE/TYPE
I
n STRAIN POSITION
H
APL No DIMENSIONS ARE IN MILLIMETRES
SHS5/22/3/PLM UNLESS OTHERWISE STATED
@ © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w1 |y H trading as TasNefworks OR TRANSHITTED BY' ARY WEARS WiTHOUT THE
= g § ; ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
2|2l i1 TasNetworks e SCALE
—(a|wn )
- |4l8 2 STRAIN DELTA NTS
< |38 Sk MK5 CROSSARM OPEN WIRE
x |5 L& DRAWN (5 PRO-SOLUTIONS
w |- <l DESIGNED BY ELECTRO
(=2 M 3|
: <% (] | kEELE CHECKED BY | HWESTBURY AL
< 5 o s APPROVED BY | A KETLEY _ _ _ _ REVISION
= Q ;25 DATE APPROVED | 22/MAY/19 D O H [ [ O O 9 S D O O/‘ B
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-89



Overhead Distribution Construction Manual Section 3

Strain Delta MKS5 Crossarm - Material List

1 | 2 | 3 L 5
A
] Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
SH5/22/3/PLM and S 3 323310/ PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 4
B 1E 323305/CROSSARM,STEEL 100 X 100 X 2210MM GAL 4
59A 322721/ PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 6
60E 320531/ INSULATOR,PIN 22KV AERO PORCELAIN 6
— 60G 321260/ INSULATOR,SUSPENSION 146MM DISC D70S 24
61A 322056/ CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 12
61B 322386/ CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 12
C 61D 322090|CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 12
75N 32288|BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 2
75P 32289|BOLT,HEX HEAD M16 X 375MM GAL. C/W NUT 2
752 32261|BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 8
— 778 33771|BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 8
82A 40441 NUT,HEX M16 THREAD GALANISED STEEL 8
86B 65158 WASHER,FLAT ROUND M16 X 50MM GAL 4
D 88A 66412 WASHER,FLAT ROUND M12 X 24MM GAL 8
88B 66413 WASHER,FLAT ROUND M16 X 30 X 5MM GAL 8
4 323311 BRACKET,RIGHT ANGLE 75 X 12MM GAL 1
102A 325842 EYE-NUT,M20 THREAD GAL STEEL 1
| 80C 37260|EYE BOLT,FORGED M20 X 325MM GAL C/W NUT 1
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED.
0 O lising 5 oskercans S s, S 8 it
= ABN. 24 167 357 299 PRIOR OF TASNETWORKS
o |y TILE SCALE
-1z TasNetworks STRAIN DELTA NTS
<z — pryr— MK5 CROSSARM OPEN WIRE
HE e MATERIALS LIST
w = DESIGNED BY ELECTRO AL
: © C(HECKED BY H.WESTBURY
< APPROVED BY | A KETLEY REVISION
DATE APPROVED | 22/MAY/19 D - O H [ - [ O O 9 - S D - O O 2 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-90



Overhead Distribution Construction Manual Section 3
3.37 Right Angle Strain Mk5 Crossarm
1 \ 2 \ 3 L \ 5
[FRP CROSSARMS PREFERRED |
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE. o
2
A — _ 9
J+ - ) . + —
a
\Z‘KJH .
oo
5 £23
VzZzx
<C
Ou v
B 202
ek
wniwowuv
" a4
- F‘r >z
NB CENTRE DISC INSULATORS 45%
OMITTED FOR CLARITY vz
[ChS
| E— >=
zZ.
e>E
L ESQ
SET
[N e
C CONDUCTOR TIE TO SUIT COMPRESSION SLEEVES OR CLAMP
CONDUCTOR SIZE/TYPE CONNECTORS TO SUIT CONDUCTOR
SIZE/TYPE
m NB CENTRE DISC INSULATORS
OMITTED FOR CLARITY
OR
HELICAL TERMINATIONS TO
SUIT CONDUCTOR SIZE/TYPE
D
E
[
[
- + +
:
I
: A4
F o N 3
(o + + 4 + *
= : e
PR A
I S T T S
+ +
Y
G [
ISR
|
[
—_— o Q loooocooPO O
AN WER S SHS
APL Nos
H RS5/11/1/PLM
RS5/11/3/PLM
RS5/22/1/PLM DIMENSIONS ARE IN MILLIMETRES
RS5/22/3/PLM UNLESS OTHERWISE STATED
] © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w . = fradin as TasNefworks STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
g [=] g OR TRANSMITTED BY ANY MEANS WITHOUT THE
Z|lw|l & ; ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o33 3L o = TasNetworks T SALE
L HERE STRAIN RIGHT ANGLE 11kV OR 22kV 130
24 == .
<|2|8 EEOESES MKS CROSSARM OPEN WIRE
o % a DRAWN (5 PRO-SOLUTIONS
S| & w
w | & 2 DESIGNED BY ELECTRO
o 2
= < & |m 5§>5 (HECKED BY H.WESTBURY AL
Sl w
— {0 REVISION
< 5 Sgg APPROVED BY | A KETLEY _ _ _ _
= égi DATE APPROVED | 22/MAY/19 D O H [ [ O /‘ O S D O O /‘ B
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-91




Overhead Distribution Construction Manual Section 3

Right Angle Strain MK5 Crossarm - Material List

1 | 2 | 3 L | 5
A
Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
B RS5/11/1/PLMand S 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 4
RS5/22/1/PLM 1E 323305 |CROSSARM,STEEL 100 X 100 X 2210MM GAL 4
59A 322721 |PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 2
60E 320531 |INSULATOR,PIN 22KV AERO PORCELAIN 2
| 60G 321260 |INSULATOR,SUSPENSION 146MM DISC D70S 4
61A 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 4
61B 322386 |CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 4
C 61D 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 4
75N 32288 |BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 4
752 32261 |BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 8
86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 4
] 88A 66412 |WASHER,FLAT ROUND M12 X 24MM GAL 8
88B 66413 |WASHER,FLAT ROUND M16 X 30 X 5MM GAL 8
74K 32212 |BOLT,HEX HEAD M12 X 50MM GAL. C/W NUT 8
D 2A 323314 |BRACE,CROSSARM 40X 700 X 5MM THICK GAL 8
RS5/11/3/PLMand S 3 323310/ PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 4
RS5/22/3/PLM 1E 323305/ CROSSARM,STEEL 100 X 100 X 2210MM GAL 4
— 59A 322721/ PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 2
60E 320531/ INSULATOR,PIN 22KV AERO PORCELAIN 2
60G 321260/ INSULATOR,SUSPENSION 146MM DISC D70S 6
61A 322056/ CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 6
t 61B 322386/ CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 6
61D 322090|CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 6
75N 32288|BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 4
— 752 32261|BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 8
86B 65158 WASHER,FLAT ROUND M16 X 50MM GAL 4
88A 66412 WASHER,FLAT ROUND M12 X 24MM GAL 8
F 83B 66413 WASHER,FLAT ROUND M16 X 30 X 5MM GAL 8
74K 32212 BOLT,HEX HEAD M12 X 50MM GAL. C/W NUT 8
2A 323314/ BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 8
G
H
. O T IR e
z - ABN. 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
- |2 TasNetworks | ™o rp AN RIGHT ANGLE T1kV OR 22kV Nre
< ;: —_— T MKS5 CROSSARM OPEN WIRE
E E DESIGNED BY ELECTRO MATER‘ALS UST AL
: g (HECKED BY H.WESTBURY
APPROVED BY [ A KETLEY REVISION
= DATE APPROVED | 22/MAY/19 D - O H [ - [ O w O - S D - O O 2 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-92



Overhead Distribution Construction Manual Section 3

3.38 Tee Off Mk5 Crossarm

— .
w \ 2 \ 3 L 5

NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.

A [FRP_CROSSARMS PREFERRED |
-
) %
— [ - ° ° ° - 7]
o
T
228 g N
B £83
w=
=z
ooy
z =
8 & =—g ‘---‘-
a=o —_—
— wgw NB CENTRE DISC INSULATORS
235 OMITTED FOR CLARITY
— =
=k
= J
TSeg ]
C Ecs
Sz O 75N
2

CONDUCTOR TIE TO SUIT
CONDUCTOR SIZE/TYPE

1E
: Ce)
(6_oDo00000] Qo R
[ I
[ I
ol o
[ I
[ ! 752 888
F [ ]
o
®
[ |
| I
[ I
A TN
INPL
=N\ s
@) ° ° @) ° ° { @
[ |
° °
| |
G [ I
[ I
| I
o | o
| ! HELICAL TERMINATION TO SUIT
— | ! CONDUCTOR SIZE/TYPE
a L
===
APL Nos
H T5/11/1/PLM
T15/11/3/PLM
15/22/1/PLM DIMENSIONS ARE IN MILLIMETRES
15/22/3/PLM UNLESS OTHERWISE STATED
] © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
wn . — trad T Net Kk STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
¥ o rading as fasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
Z|lwlx E ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°|3R|% O | 5 s T TITLE SCALE
5ol 5 § asNetworks
- 219 %g NN TEE OFF 17kV OR 22kV 130
e ZZeSpe?
< |Z|° = EoEsEs MKS5 CROSSARM OPEN WIRE
x |Ele DRAWN (5 PRO-SOLUTIONS
w || ) DESIGNED BY ELECTRO
O |w <3 x
el ] L EELE CHECKED BY | H.WESTBURY AL
- ] = olC TIBY
= SCESE APPROVED BY | A KETLEY REVISION
< =} ZoEz<2 _ _ _ _
= 2o E e DATE APPROVED | 22/MAY/19 D OHC C O X SO O O 1 B

Ver. 2.0

11-12.7-22 kV and SWER Constructions

Page 3-93




Overhead Distribution Construction Manual Section 3
Tee Off Mk5 Crossarm - Material List
1 2 | 3 4 5
A
Store Stock
B Unit Assembly Type Item Ref Item Stock Item Description Quantity
T5/11/1/PLMand 3 323310| PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
T5/22/1/PLM 1E 323305/ CROSSARM,STEEL 100 X 100 X 2210MM GAL 2
H 59A 322721/ PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 1
60E 320531/ INSULATOR, PIN 22KV AERO PORCELAIN 1
60G 321260| INSULATOR,SUSPENSION 146MM DISC D70S 2
61A 322056 CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 2
( 61B 322386/ CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 2
61D 322090| CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 2
75N 32288| BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 2
— 752 32261|BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 4
778 33771|BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 4
868 65158/ WASHER, FLAT ROUND M16 X 50MM GAL 2
D 88A 66412| WASHER, FLAT ROUND M12 X 24MM GAL 4
888 66413| WASHER, FLAT ROUND M16 X 30 X 5MM GAL 4
2A 323314/ BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 4
| | [m5r13PLMand 3 323310| PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
T5/22/3/PLM 1E 323305/ CROSSARM,STEEL 100 X 100 X 2210MM GAL 2
59A 322721/ PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 1
60E 320531/ INSULATOR,PIN 22KV AERO PORCELAIN 1
E 60G 321260/ INSULATOR,SUSPENSION 146MM DISC D70S 3
61A 322056 CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 3
61B 322386/ CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MC 3
— 61D 322090| CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 3
75N 32288|BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 2
752 32261|BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 4
F 778 33771|BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 4
868 65158/ WASHER, FLAT ROUND M16 X S0MM GAL 2
88A 66412| WASHER, FLAT ROUND M12 X 24MM GAL 4
- 838 66413| WASHER,FLAT ROUND M16 X 30 X 5MM GAL 4
2A 323314/ BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 4
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
=z - ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
Z1g TasNetworks | "™¢E OFF 11V OR 22V NTe
<|z — — MK5 CROSSARM OPEN WIRE
E E DESIGNED BY ELECTRO MATER‘ALS L‘ST AL
: g CHECKED BY H.WESTBURY
APPROVED BY A KETLEY REVISION
= DATE APPROVED | 22/MAY/19 D - O H [ - [ O w w - S D - A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-94




Overhead Distribution Construction Manual Section 3

3.39 Transposition 1, Strain, Rolling, Steel Mk5 Crossarm
- o

NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.

60E
A 31 29 [FRP_CROSSARMS PREFERRED]
L
I 1E
&
B a 60G
&
LB
£83 N + \
n=&
— <<
2.2
358
Bgt N
>Z=
C -42 CONDUCTOR TIE TO SUIT
=_Z CONDUCTOR SIZE/TYPE
o=
>=
ju é E*
£E3g
sSa X
Sa®
NB CENTRE DISC INSULATORS
OMITTED FOR CLARITY
D
o
L <
()
=
oD
E L =
4 - — - o
COMPRESSION SLEEVES OR
CLAMP CONNECTORS TO SUIT( 56 55 53 HELICAL TERMINATION TO
SIZE/TYPE OF CONDUCTORS SUIT CONDUCTOR SIZE/TYPE
F 752 X 868
o o
of ] -
o / o
g ¢ - 8
G
H
APL Nos:
TRI/11/3/PLM DIMENSIONS ARE IN MILLIMETRES
TRI/22/3/PLM UNLESS OTHERWISE STATED
° © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w . - trad T Net Kk STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
p ] rading as fasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
Z|lw| & E ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
ola vy 7] o o SCALE
Bo 5 & TasNetworks T
e Eé NS TRANSPOSITION STRAIN 1 - ROLLING NTS
= koESES|
< |Z|° = B oE3[Es| 11kV OR 22kV MK5 CROSSARM OPEN WIRE
R DRAWN (5 PRO-SOLUTIONS
= a wl
u g : x§ z DESIGNED BY ELECTRO AL
Sl = L EELE CHECKED BY | HVESTBURY
= w B ogY
5 BLEEEy APPROVED BY | A KETLEY REVISON
< =) 23 _ _ _ _
= B DATE APPROVED | 22/MAY/19 D OHC €012 SO 001 B

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-95



Overhead Distribution Construction Manual Section 3
Transposition 1, Strain, Rolling MK5 Crossarm - Material List
1 | | | L 5
A
Store Stock
] Unit Assembly Type Item Ref Item Stock Item Description Quantity
TR1/11/3PLM and 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
TR1/22/3/PLM 4 323311 [BRACKET,RIGHT ANGLE 75 X 12MM GAL 2
B 102A 325842 |EYE-NUT,M20 THREAD GAL STEEL 1
1E 323305 |CROSSARM,STEEL 100 X 100 X 2210MM GAL 2
59A 322721 |PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 4
60E | 320531 |INSULATOR,PIN 22KV AERO PORCELAIN 4
— 60G | 321260 |INSULATOR,SUSPENSION 146MM DISC D70S 6
61A | 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 6
61B 322386 |CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 6
( 61D 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 6
75N 32288 |BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 4
752 | 32261 |BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 4
778 33771 |BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 4
] 80C 37260 |EYE BOLT,FORGED M20 X 325MM GAL C/W NUT 1
868 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 4
88A | 66412 |WASHER,FLAT ROUND M12 X 24MM GAL 4
D 888 66413 |WASHER,FLAT ROUND M16 X 30 X 5MM GAL 4
2A 323314 [BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 4
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
” trading as TasNetworks 50 TRANSHITED B ARY MEANS wITHOUT TE
=z ABN 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o (¥ TITLE SCALE
-2 TasNetworks TRANSPOSITION STRAIN 1-ROLLING NTS
<|z — — 1kV OR 22kV MK5 CROSSARM OPEN WIRE
e - MATERIALS LIST
w = DESIGNED BY ELECTRO AL
Ll K= CHECKED BY H.WESTBURY
-
< APPROVED BY [ A KETLEY _ _ _ _ REVISION
DATE APPROVED | 22/MAY/19 D O H [ [ O w 2 S D O 02 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-96



Overhead Distribution Construction Manual Section 3

3.40 Transposition 2, Strain, Inner & Outer, Mk5 Crossarm
— -

w \ 2 \ 3 \ L \ 5

NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.

150

A [FRP CROSSARMS PREFERRED |

TIE TO SUIT

CONDUCTOR
| SIZE/TYPE

920

/< D
N + ‘

750

1840mm HV TO LV SPACING IS PREFERRED
PROVIDING CLEARANCES CAN BE MET;
1380mm MINIMUM SPACING IS REQUIRED

COMPRESSION SLEEVES OR
CLAMP CONNECTORS TO
SUIT CONDUCTOR SIZE/TYPE

59A
F
<> !
G
HELICAL TERMINATION TO
SUIT CONDUCTOR SIZE/TYPE
H
APL Nos:
TR2/11/3/PLM DIMENSIONS ARE IN MILLIMETRES
TR2/22/3/PLM UNLESS OTHERWISE STATED
] © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w E trading as TasNetworks STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
% 4] g OR TRANSMITTED BY ANY MEANS WITHOUT THE
Z |w|x E ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°\ala HAEE TasNetworks TTLE SCALE
Z1Ze RN TRANSPOSITION STRAIN 2 - INNER & OUTER NTS
= Oz LSS
<|=Z|” [NEE 1kV OR 22kV MKS5 CROSSARM OPEN WIRE
o 1 Zl2 ORAWN (5 PRO-SOLUTIONS
= w wl
& g DESIGNED BY ELECTRO
C1ol |l | 2 Ak
Cl<le L L CHECKED BY | H.VESTBLRY
= b0z, REVISON
<l 15 BoZike APPROVED BY | A KETLEY _ _ _ _
= R DATE APPROVED | 22/MAY/19 D OHC €013 SO 001 B

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-97



Overhead Distribution Construction Manual Section 3
Transposition 2, Strain, Inner & Outer, MK5 Crossarm - Material List
1 | 2 | 3 | 4 5
A
Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
B TR2/11/3/PLM and 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
TR2/22/3/PLM 4 323311 |BRACKET,RIGHT ANGLE 75 X 12MM GAL 2
102A 325842 |EYE-NUT,M20 THREAD GAL STEEL 1
1E 323305 |CROSSARM,STEEL 100 X 100 X 2210MM GAL 2
| 59A 322721 |PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 4
60E 320531 |INSULATOR,PIN 22KV AERO PORCELAIN 4
60G 321260 |INSULATOR,SUSPENSION 146MM DISC D70S 6
( 61A 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 6
61B 322386 |CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 6
61D 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 6
75N 32288 |BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 4
| 752 32261 |BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 4
77B 33771 |BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 4
80C 37260 |EYE BOLT,FORGED M20 X 325MM GAL C/W NUT 1
D 86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 4
88A 66412 |WASHER,FLAT ROUND M12 X 24MM GAL 4
88B 66413 |WASHER,FLAT ROUND M16 X 30 X 5SMM GAL 4
2A 323314 |BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 4
| 6A 323315 |BRACKET,INSULATOR 50 X 6MM C/W BRACE 1
85B 50250 |COACH SCREW,HEX HEAD 12MM X 100MM GAL 1
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY, LTD. NO PART OF THS DRAWNG MAY BE REPRODUCED.
» trading as TasNetwarks OR TRANSHTTED By AN MEANS WITROUT THE
= ABN. 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy TITLE SCALE
-2 TasNetworks TRANSPOSITION STRAIN 2 - INNER & OUTER NTS
<|= 1kV OR 22kV MK5 CROSSARM OPEN WIRE
™~ % ORAWN (5 PRO-SOLUTIONS M A T E R ‘ A L S L ‘S T
w = DESIGNED BY ELECTRO AL
Ll K= CHECKED BY H.WESTBURY
-
< APPROVED BY | A KETLEY _ _ _ _ REVISION
DATE APPROVED | 22/MAY/19 D O H [ [ O w 3 S D O O 2 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-98



Overhead Distribution Construction Manual Section 3

3.41 Transposition 3, Strain, Two Outers, Mk5 Crossarm

- -

1 \ 2 \ 3 \ L \ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS
PASSING THROUGH POLE. o
60E
A TN [FRP CROSSARMS PREFERRED |
2 ot

o
2
- 3
w5 778
i
L e R
x5 £
aCmg
2
DNz
<t
ENTE)
Z 2
S
o2 N 75N X(_86B
a=>a
( RE R
&
>g=
] 6A 858
ooz
e
®)
>ZZ
z5¢
E>
ESS
2R
S a
3

D
HELICAL TERMINATIONS TO SUIT CONDUCTOR SIZE/TYPE
a4 — -1
£
C(OMPRESSION SLEEVES
OR CLAMP CONNECTORS
TO SUIT CONDUCTOR
SIZE/TYPE
F
G
H
APL Nos:
TR3/11/3/PLM DIMENSIONS ARE IN MILLIMETRES
TR3/22/3/PLM UNLESS OTHERWISE STATED
2 © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w w = trading as TasNetworks STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
> o g OR TRANSMITTED BY ANY MEANS WITHOUT THE
Z|w o ; ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°l3l & 2. 35 TasNetworks e S
il I I RN TRANSPOSITION STRAIN 3 - TWO OUTERS NTS
= < —[=<= 2
< |Z = = Eol5ESs 11kV OR 22kV MK5 CROSSARM OPEN WIRE
|5 o DRAWN €5 PRO-SOLUTIONS
u g : xg N DESIGNED BY ELECTRO AL
P o Rl B B CHECKED BY | HVESTBURY
- [ i
< =) §§§§§§ APPROVED BY  |A KETLEY _ B B B REVISION
= ZUEEE= DATE APPROVED | 22/MAY/19 D OHC C014 SO 001 B

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-99



Overhead Distribution Construction Manual Section 3
Transposition 3, Strain, Two Outers, MK5 Crossarm - Material List
1 2 | | L 5
A
Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
B TR3/11/3/PLMand 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
TR3/22/3/PLM 4 323311 |BRACKET,RIGHT ANGLE 75 X 12MM GAL 2
1E 323305 |CROSSARM,STEEL 100 X 100 X 2210MM GAL 2
| 59A 322721 |PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 4
60E 320531 |INSULATOR,PIN 22KV AERO PORCELAIN 4
60G 321260 |INSULATOR,SUSPENSION 146MM DISC D70S 12
61A 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 6
C 61B 322386 |CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 6
61D 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 6
75N 32288 |BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 6
| 752 32261 |BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 6
77B 33771 |BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 4
86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 4
86C 65159 |WASHER,FLAT ROUND M20 X 60MM GAL 4
D 88A 66412 |WASHER,FLAT ROUND M12 X 24MM GAL 4
88B 66413 |WASHER,FLAT ROUND M16 X 30 X 5MM GAL 4
2A 323314 |BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 4
6A 323315 |BRACKET,INSULATOR 50 X 6MM C/W BRACE 1
85B 50250 |COACH SCREW,HEX HEAD 12MM X 100MM GAL 1
102A 325842 |EYE-NUT,M20 THREAD GAL STEEL 1
80C 37260 |EYE BOLT,FORGED M20 X 325MM GAL C/W NUT 1
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
« trading as TasNetworks OR TRANSHITTED By, ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w TITLE SCALE
-2 TasNetworks TRANSPOSITION STRAIN 3 - TWO OUTERS NTS
<|2 - 1kV OR 22kV MKS CROSSARM OPEN WIRE
™~ é ORAWN (5 PRO-SOLUTIONS MATER‘ALS L‘ST
w = DESIGNED BY ELECTRO AL
= [e CHECKED BY H.WESTBURY
< APPROVED BY | A KETLEY _ _ _ _ REVISION
DATE APPROVED | 22/MAY/19 D O H [ [ O w [# S D O O 2 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-100



Overhead Distribution Construction Manual Section 3

3.42 Intermediate Vertical Double Circuit — Steel Mk4 Crossarm

—

1 \ 2 \ 3 \ 4 \ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A - |
s
- [ ES o ® ) +
o v 59A
2
s
B
L = ; s r—
.
(
2 ) I i i
E: o [ + o ° ) + ]
Ly
&S
[Ny
n=a
235 N ®
Swns
s8x
D wv é (%]
R E
ocZ TIE TO SUIT
o= conpucTor (54 )
TZ¢ SIZE/TYPE
= E =
 S— E=co
E O o
£2% —
< a
®
£
%i
— b
F [
o
G
H
APL Nos DIMENSIONS ARE IN MILLIMETRES
IV/11/3/PLM, IV/22/3/PLM UNLESS OTHERWISE STATED
] © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
wn ™ ™ tradin as TasNetworks STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
= o g OR TRANSMITTED BY ANY MEANS WITHOUT THE
Z|w|x ; ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°|7|a 3, TasNetworks Tme SCALE
—|® § %g INTERMEDIATE VERTICAL 11kV OR 22kV 130
< |=|° S DOUBLE CIRCUIT - MK&4 CROSSARM OPEN WIRE
=z
=|a DRAWN (5 PRO-SOLUTIONS
[T % w DESIGNED BY ELECTRO AA
= < o [aa] CHECKED BY H.WESTBURY
- = REVISION
< o APPROVED BY A KETLEY _ _ _ _
= DATE APPROVED | 23/MAY/19 D O H [ [ O W 9 S D O O W B

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-101



Overhead Distribution Construction Manual Section 3

Intermediate Vertical Double Circuit Steel Mk4 Crossarm — Material List

1 | 2 | 3 | L | 5
A
Store Stock
B Unit Assembly Type ltem Ref Item Stock Item Description Quantity
IV/11/3PLM and S 1D | 323304 |CROSSARM,STEEL 75X 75 X 2210MM MK4 GAL 3
IV/22/3/PLM 59A | 322721 |PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 6
] 60E | 320531 |INSULATOR,PIN 22KV AERO PORCELAIN 6
75M | 32287 |BOLT,HEX HEAD M16X 325MM GAL. C/W NUT 6
778 | 33771 |BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 6
¢ 82A | 40441 |NUT,HEX M16 THREAD GALANISED STEEL 12
86B | 65158 |WASHER,FLAT ROUND M16X 50MM GAL 6
88A | 66412 |WASHER,FLAT ROUND M12X 24MM GAL 6
| 2A | 323314 |BRACE,CROSSARM 40 X 700 X 5SMM THICK GAL 6
D
E
F
G
H
T ian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED.
. © liing 5 Tovore B el
=z ABN. 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy SCALE
- |2 TasNetworks | "\ TERMEDIATE VERTICAL 11V OR 22V NTS
<|z DOUBLE CIRCUIT - MKL CROSSARM OPEN WIRE
™~ % DRAWN (5 PRO-SOLUTIONS M A TER‘ALS L‘ST
w = DESIGNED BY ELECTRO AL
I CHECKED BY H.WESTBURY
: APPROVED BY A KETLEY D _ O H [ _ [ O w 9 _ S D _ 002 REVXUN
DATE APPROVED | 23/MAY/19

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-102



Overhead Distribution Construction Manual Section 3

3.43 Strain Vertical Double Circuit, Steel Mk5 Crossarm

B 1
1 | 2 | 3 | 4 | 5

NB ENSURE THAT LOCK

A EL

o
I
o~
B
i
o~
C
D
COMPRESSION SLEEVES OR
CLAMP CONNECTORS TO

SUIT CONDUCTOR SIZE/TYPE

NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.

HELICAL TERMINATION

E 70 SUIT CONDUCTOR
SIZE/TYPE

FRP_CROSSARMS PREFERRED |

TIE TO SUIT CONDUCTOR SIZE/TYPE

/ + o o
\\\.,/4
— = o
) =<
—=- \@ =
J L 752 X 888 61A %
TS —
__w: r:(|x(|: [ ¢ ® <o°o> \ !
L 59A |
1 O D CD

| -
(I
e

DUAL CIRCUIT STRAIN VERTICAL

T j( j( .
| \/.

APL Nos
SV/11/3/PLM DIMENSIONS ARE IN MILLIMETRES
SV/22/3/PLM UNLESS OTHERWISE STATED
] N
2 © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWNG MAY BE REPRODUCED,
" STORED N A RETREVAL SYSTEM IN ANY FORM,
vl ofg s trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
HME H ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
O ln|lwun (%) 5| TITLE SCALE
- 1212 | QEELLE TasNetworks STRAIN VERTICAL 11kV OR 22kV 130
<|Z|° EEoESES DOUBLE CIRCUIT - MK5 CROSSARM OPEN WIRE
=z
x |5 & DRAWN (5 PRO-SOLUTIONS
w 4 = DESIGNED BY ELECTRO
O|w
: <o || CHECKED BY | HWESTBURY AL
w
< =) APPROVED BY | A KETLEY _ _ _ _ REVISION
= DATE APPROVED | 23/MAY/19 D O H [ [ O 2 O S D O O /‘ B
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-103



Overhead Distribution Construction Manual Section 3

Strain Vertical Double Circuit, Steel Mk5 Crossarm - Material List

1 | 2 | 3 | L 5
A
Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
B SVI11/3PLMand S 3 323310/ PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 6
SVI22/3/PLM 1E 323305/CROSSARM,STEEL 100 X 100 X 2210MM GAL 6
59A 322721|PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 6
60E 320531/ INSULATOR,PIN 22KV AERO PORCELAIN 6
| 60G 321260/ INSULATOR,SUSPENSION 146MM DISC D70S 24
61A 322056|CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 12
61B 322386/ CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 12
C 61D 322090|CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 12
75N 32288|BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 6
752 32261|BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 24
| 778 33771|BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 24
86B 65158 WASHER,FLAT ROUND M16 X 50MM GAL 12
88A 66412/ WASHER,FLAT ROUND M12 X 24MM GAL 24
88B 66413 WASHER,FLAT ROUND M16 X 30 X 5MM GAL 24
D 2A 323314/ BRACE,CROSSARM 40 X 700 X 5SMM THICK GAL 12
3
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
2 © ling o Yo vore SR L S o
= ABN. 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w TITLE SCALE
-2 TasNetworks STRAIN VERTICAL 1kV OR 22kV NTS
<|z2 DOUBLE CIRCUIT - MK5 CROSSARM OPEN WIRE
™~ é DRAWN (5 PRO-SOLUTIONS MATER‘ALS L‘ST
w = DESIGNED BY ELECTRO AL
: o (HECKED BY HWESTBURY
< APPROVED BY | A KETLEY _ _ _ _ REVISION
DATE APPROVED | 23/MAY /19 D O H [ [ O 2 O S D 0 O 2 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-104



Overhead Distribution Construction Manual Section 3

3.44 Strain Underslung Vertical Double Circuit Steel Mk5 Crossarm
[ N

NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.

A [ FRP CROSSARMS PREFERRED |

i

yaR o o o s\

920

r s o o o -+

¢
t -t
s

920

J - o o o -

-

HELICAL TERMINATIONS

(752 888 TO SUIT CONDUCTOR

SIZE/TYPE
11 [ =
COMPRESSION SLEEVES OR
- CLAMP CONNECTORS TO suIT (56 Y55 ) |
CONDUCTOR SIZE/TYPE
750 |
F ( - )
|
- .
|
G : — riiw )
|
H
APL Nos:
SUV/11/3/PLM DIMENSIONS ARE IN MILLIMETRES
SUV/22/3/PLM UNLESS OTHERWISE STATED
[Z] N
] © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWNG MAY BE REPRODUCED,
4 ) STORED IN A RETRIEVAL SYSTEM N ANY FORM,
w v ] trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=yl & H ABN: 24 167 357 299 PRIOR OF TASNETWORKS
©[@A|wv - T TILE SCALE
- 5o asNetworks
= 2 § §§§ STRAIN UNDERSLUNG VERTICAL 11kV OR 22kV 1.30
o 52 :
<|Z|° Efso DOUBLE CIRCUIT - MK5 CROSSARM OPEN WIRE
x |5 & DRAWN (5 PRO-SOLUTIONS
w g : DESIGNED BY ELECTRO AL
: <o [=a] CHECKED BY | HMESTBURY
< 5 APPROVED BY | A KETLEY REVISION
2 D - OHC - (€021 - SD - 007 B

DATE APPROVED | 23/MAY/19

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-105



Overhead Distribution Construction Manual Section 3

Strain Underslung Vertical, Steel Mk5 Crossarm - Material List

1 | 2 | 3 | L 5
A
| Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
SUV/11/3PLMand S 3 323310/ PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 6
B SUV/22/3/PLM 1E 323305/CROSSARM,STEEL 100 X 100 X 2210MM GAL 6
60G 321260/ INSULATOR,SUSPENSION 146MM DISC D70S 24
61A 322056/ CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 12
L 61B 322386/ CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 12
61D 322090|CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 12
75N 32288|BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 6
752 32261|BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 12
( 778 33771|BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 12
86B 65158 WASHER,FLAT ROUND M16 X 50MM GAL 6
88A 66412 WASHER,FLAT ROUND M12 X 24MM GAL 12
— 88B 66413 WASHER,FLAT ROUND M16 X 30 X 5MM GAL 12
2A 323314/ BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 12
D
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
- © Fisang 2 Toseneorss S LT R o
=z ABN 2L 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o (¥ TITLE SCALE
-2 TasNetworks STRAIN UNDERSLUNG VERTICAL 11kV OR 22kV NTS
<|z DOUBLE CIRCUIT - MKS5 CROSSARM OPEN WIRE
™~ é DRAWN (5 PRO-SOLUTIONS M A T E R ‘ A L S L ‘S T
w = DESIGNED BY ELECTRO AL
: o CHECKED BY H.WESTBURY
< APPROVED BY | A KETLEY _ _ _ _ REVISION
DATE APPROVED | 23/MAY/19 D O H [ [ O 2 /‘ S D O O 2 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-106



Overhead Distribution Construction Manual Section 3

3.45 Right Angle Strain Double Circuit Vertical Steel Mk5 Crossarm
- .

1 \ 2 \ 3 \ 4 \ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
TIE TO SUIT CONDUCTOR
A SIZE/TYPE [FRP_CROSSARMS PREFERRED]
o
Eal
2
B 3
°
C
o
Q
g L 2
o = =
D L
x>
Cmc
V=
<T
Ou Vo
Z.z
282
Sk
[a
e $§
o
PUZ
2>
£ TSe
e>§
ERg
<+ 0o
e L
— COMPRESSION SLEEVES OR CLAMP
CONNECTIONS TO SUIT CONDUCTOR
SIZE/TYPE
F
G
HELICAL TERMINATION TO
SUIT CONDUCTOR SIZE/TYPE
G55 e S0
DUAL CIRCUIT RIGHT ANGLED STRAIN VERTICAL
H
APL Nos
RSV/11/3/PLM DIMENSIONS ARE IN MILLIMETRES
RSV/22/3/PLM UNLESS OTHERWISE STATED
2 © Tasmanian Networks PTY. LTD NO PART OF THIS DRAWING MAY BE REPRODUCED,
wn — trad T Net K ° : STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
Q o rading as TasNerworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= % 5(( E ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
e |»o|wn [T T TITLE SCALE
— asNetworks
Z 178 % RIGHT ANGLE STRAIN VERTICAL 11kV OR 22kV NTS
< g” = DOUBLE CIRCUIT - MKS5 CROSSARM OPEN WIRE
o |5 & DRAWN (5 PRO-SOLUTIONS
S
[T g w DESIGNED BY ELECTRO ALL
Tle e | CHECKED BY HWESTBURY
- & REVISION
<t o APPROVED BY A KETLEY _ _ _ _
= DATE APPROVED | 23/MAY/19 D O H [ [ O 2 2 S D O O /‘ B

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-107



Overhead Distribution Construction Manual Section 3

Right Angle Strain Double Circuit Vertical Steel Mk5 - Material List

1 | 2 | 3 | 4 | 5
A
B
Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
|| [RSVI11/3PLMand s 3 323310| PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 12
RSV/22/3/PLM 1E 323305/ CROSSARM,STEEL 100 X 100 X 2210MM GAL 12
59A 322721|PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 6
c 60E 320531|INSULATOR,PIN 22KV AERO PORCELAIN 6
60G 321260| INSULATOR,SUSPENSION 146MM DISC D705 24
61A 322056| CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 12
618 322386/ CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 12
] 61D 322090| CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 12
75N 32288 BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 12
752 32261 BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 24
D 778 33771/ BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 24
868 65158 WASHER,FLAT ROUND M16 X 50MM GAL 12
88A 66412 WASHER,FLAT ROUND M12 X 24MM GAL 24
] 888 66413 WASHER,FLAT ROUND M16 X 30X 5MM GAL 24
2A 323314/ BRACE,CROSSARM 40 X 700 X SMM THICK GAL 24
E
F
G
H
T Networks PTY. LTD. NO PART OF THIS DRAWNG MAY BE REPRODUCED.
. O lisang ot Tovone L K o
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y SCALE
-2 TasNetworks | "™31GHT ANGLE STRAIN VERTICAL 11kV OR 22V NTS
<|z DOUBLE CIRCUIT MK5 CROSSARM OPEN WIRE
a 5 DRAWN (5 PRO-SOLUTIONS MATER‘ALS L‘ST
w = DESIGNED BY ELECTRO AL
: © CHECKED BY H.WESTBURY
< APPROVED BY [ A KETLEY _ _ _ _ REVISION
DATE APPROVED | 23/MAY/19 D O H [ [ O 2 2 S D O O 2 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-108



Overhead Distribution Construction Manual

Section 3

3.46 Intermediate / Strain Horizontal Double Circuit Vertical Steel Mk4/5

Crossarm
-

1 \ 2 3 L 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A [FRP_CROSSARMS PREFERRED |
B %
Az 7 +7]
—
.
g W
6A
75M
: -
. L — g
Eho
ool ==
w S
vLwaog
— g % o
2,2
U<
=
~5&
o
< =
2w
D P
E g =
ESE
>
ESE
258
-
TIE TO SUIT CONDUCTOR
SIZE/TYPE
E .
COMPRESSION SLEEVES OR CLAMP
CONNECTORS TO SUIT CONDUCTOR
L SIZE/TYPE
F
NB CENTRE DISC INSULATORS
OMITTED FOR CLARITY
L
G ]
H
APL Nos
DCI/11/3/PLM DIMENSIONS ARE IN MILLIMETRES
DCl/22/3/PLM UNLESS OTHERWISE STATED
2 ©Tusmumun Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
n ™ ™ trading as TasNetworks STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
> o q OR TRANSMITTED BY ANY MEANS WITHOUT THE
Z|w o E ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°|3| 3 2o TasNetworks e SCE
Cl2l 8 %52 HORIZONTAL INTERMEDIATE STRAIN 11kV OR 22kV | NTg
S 5s
<|Z| 7 [ —_ — DOUBLE CIRCUIT - MK&4 CROSSARM
x |5 g - & MKS5 CROSSARM OPEN WIRE
] % w DESIGNED BY ELECTRO A L
= s & (e8] (HECKED BY HWESTBURY
<] w = .
= o
< o 5 APPROVED BY A KETLEY _ _ _ _ REVISION
= Q DATE APPROVED | 23/MAY/19 D O H [ [O 2 3 S D O O /‘ B
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-109




Overhead Distribution Construction Manual

Section 3

Intermediate / Strain Horizontal Double Circuit Vertical Steel Mk4/5 - Material List

1

2

3 | : |

A
Store Stock
B Unit Assembly Type Item Ref Item Stock Item Description Quantity
DCI/11/3/PLMand 3 323310 |PLATE,STRAIN DOUBLE PIN 65 X 12MM STEEL 2
DCI/22/3/PLM 1E 323305 |CROSSARM,STEEL 100 X 100 X 2210MM GAL 2
. 59A 322721 |PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 6
60E 320531 |INSULATOR,PIN 22KV AERO PORCELAIN 6
60G 321260 |INSULATOR,SUSPENSION 146MM DISC D70S 12
61A 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 6
. 618 322386 |CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 6
61D 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 6
6A 323315 |BRACKET,INSULATOR 50 X 6MM C/W BRACE 1
] 75N 32288 |BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 3
752 32261 |BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 4
77B 33771 |BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 6
D 85B 50250 |COACH SCREW,HEX HEAD 12MM X 100MM GAL 1
88A 66412 |WASHER,FLAT ROUND M12 X 24MM GAL 6
83B 66413 |WASHER,FLAT ROUND M16 X 30 X 5SMM GAL 4
. 2A 323314 |BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 6
4 323311 |BRACKET,RIGHT ANGLE 75 X 12MM GAL 1
1D 323304 |CROSSARM,STEEL 75 X 75 X 2210MM MK4 GAL 1
75M 32287 |BOLT,HEX HEAD M16 X 325MM GAL. C/W NUT 2
t 82A 40441 |NUT,HEX M16 THREAD GALANISED STEEL 5
868 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 7
F
G
H
: SRR HEEEEEE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
213 TasNetworks | " 150170NTAL INTERMEDIATE STRAIN TIkV OR 22kV | 7c
<|z — prperpr— DOUBLE CIRCUIT - MK4 CROSSARM
:-: E YT P & MK5 CROSSARM OPEN WIRE
= g (HECKED BY H.WESTBURY M A T E R ‘ A L S L‘ S T A L
APPROVED BY [ A KETLEY REVISION
= DATE APPROVED | 23/MAY/19 D - O H [ - [ O 2 3 - S D - O O 2 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-110



Overhead Distribution Construction Manual Section 3

3.47 Strain Horizontal Double Circuit, Steel Mk5 Crossarm
—

1 \ 2 \ 3 \ L \ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A [FRP_CROSSARMS PREFERRED]
/ 4 \
B
o
Q| @
| 6A
o
&
/ . \ — B
u_lu_la
C gre
=]
g
S
<nE
o w Y
nou <<
o 23
>wn
>
<<=
o33
igi
EQ €
’ s55
s ©Fm
COMPRESSION SLEEVES OR CLAMP
TIE TO SUIT CONDUCTOR SIZE/TYPE (55 X(56) (ONNECTORS TO SUIT CONDUCTOR
£
HELICAL TERMINATIONS TO SUIT
CONDUCTOR SIZE/TYPE
F q
] NB CENTRE DISC INSULATORS
OMITTED FOR CLARITY
| 752 X 888
75N
G
<
DUAL CIRCUIT STRAIN HORIZONTAL
H
APL Nos DIMENSIONS ARE IN MILLIMETRES
0S5/22/3/PLM UNLESS OTHERWISE STATED
] © Tasmanian Networks PTY. LTD NO PART OF THIS DRAWING MAY BE REPRODUCED,
wn — trad T Net K : : STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
b4 ] rading as tasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
Z|w (a4 E ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°lal & 1 TasNetworks Tme SCALE
—|® S wles DOUBLE CIRCUIT STRAIN HORIZONTAL NTS
- iz
< |Z| 7 8o 11kV OR 22kV - MK5 CROSSARM OPEN WIRE
x |5 & DRAWN (5 PRO-SOLUTIONS
w g : DESIGNED BY ELECTRO AA
= < E o CHECKED BY H.WESTBURY
-
= REVISION
< o APPROVED BY A KETLEY _ _ _ -~
= DATE APPROVED | 23/MAY/19 D O H[ [ O 2 A S D OOW B

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-111



Overhead Distribution Construction Manual Section 3
Strain Horizontal Double Circuit Steel Mk5 Crossarm - Material List
1 | 2 3 | L 5
A
Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
B DS5/22/3/PLM S 3 323310 |PLATE,STRAIN DOUBLE PIN 65X 12MM STEEL 4
4 323311 |BRACKET,RIGHT ANGLE 75 X 12MM GAL 1
1E 323305 |CROSSARM,STEEL 100 X 100 X 2210MM GAL 4
L] 59A 322721 |PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 6
60E 320531 |INSULATOR,PIN 22KV AERO PORCELAIN 6
60G 321260 |INSULATOR,SUSPENSION 146MM DISC D70S 24
61A 322056 |CLEVIS,ROD-END BALL 16MM 70KN MIN-FAIL 12
( 61B 322386 |CONNECTOR,ROD-END 16MM 80KN MIN-FAIL MCI 12
61D 322090 |CLIP,SECURITY 7.9MM S/STEEL 16B-WCLIP 12
6A 323315 |BRACKET,INSULATOR 50 X 6MM C/W BRACE 1
— 75N 32288 |BOLT,HEX HEAD M16 X 350MM GAL. C/W NUT 4
752 32261 |BOLT,HEX HEAD M16 X 45MM GAL. C/W NUT 8
778 33771 |BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 8
82A | 40441 |NUT,HEX M16 THREAD GALANISED STEEL 8
0 868 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 4
88A 66412 |WASHER,FLAT ROUND M12 X 24MM GAL 8
88B 66413 |WASHER,FLAT ROUND M16 X 30 X 5MM GAL 8
— 2A 323314 |BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 8
85B 50250 |COACH SCREW,HEX HEAD 12MM X 100MM GAL 1
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
T Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
” O raing o Tasharwares B T ot o
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w TITLE SCALE
-lg TasNetworks DOUBLE CIRCUIT STRAIN HORIZONTAL NTS
<|z 11kV OR 22kV - MK5 CROSSARM OPEN WIRE
™~ é ORAWN (5 PRO-SOLUTIONS MATER‘ALS L‘ST
w = DESIGNED BY ELECTRO AL
= [e CHECKED BY H.WESTBURY
: APPROVED BY | A KETLEY [ REVISION
DATE APPROVED | 23/MAY/19 D - O H - S D - O O 2 A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-112



Overhead Distribution Construction Manual Section 3

SWER CONSTRUCTIONS
3.48 Intermediate SWER (Single Pin)

1 | 2 | 3 4 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
B S0E TIE TO SUIT CONDUCTOR SIZE/TYPE
= 59A
— —
8
E g — —p
=
D
E
Store Stock
Unit Assembly Type | Item Ref Item Stock Item Description Quantity
| 1112.7/1/PLM S 4 323311 |L Bracket Mk11 1
59A 322721 |Pin,Insulator 22kV 1
60E 320531 |Insulator Pin 22/450 1
F 75M 32287 |BoltHexM16 X325 2
86B 65158 |WasherEls 16 2
G
H
APL No DIMENSIONS ARE IN MILLIMETRES
1/12.7/1/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 fradng 3 TasNerwarks AT T
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
o (¥ SCALE
=) TITLE
i TasNetworks INTERMEDIATE SWER (SINGLE PIN) 12.7kV NTS
<=
x|= DRAWN (5 PRO-SOLUTIONS
w (S DESIGNED BY ELECTRO
= g CHECKED BY HWESTBURY AL
= APPROVED BY REVISION
< ' - — — —
DATE APPROVED | 23/MAY/19 D O H [ [ O 3 8 S D O O W A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-113



Overhead Distribution Construction Manual Section 3

3.49 Intermediate SWER (Flying Angle)

1 | 2 | 3 | A 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
B
HELICAL TERMINATIONS
C TO SUIT CONDUCTOR
SIZE/TYPE
<=
D
INTERMEDIATE (FLYING ANGLE) (SWER) 12.7kv
E
Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
AN12.7/1/PLM S 102A 325842 |Thimble Eye Nut M20 1
] 60G 321260 |Insulator Disc Porcelain 16mm 70kN 146mm 2
61A 322056 |Ball Clevis & Pin 16mm 1
61D 322090 |Kink Pin 16mm 1
F 80C 37260 |Bolt Eye M20 X325 1
86B 65158 |WasherEls 16 1
#N/A 322136 |Socket Tongue 16mm 1
G
H
APL No DIMENSIONS ARE IN MILLIMETRES
A/12.1/1/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THS DRAWING MAY BE REPRODUCED,
0 tradng oz Tashetuorks SR A, I
= ABN: 24 167 357 299 PRIOR PERMSSION OF TASNETWORKS
oy TLE SCALE
-2 TasNetworks INTERMEDIATE FLYING ANGLE s
<[z SWER 12.7kV
« <z( ORAWN (5 PRO-SOLUTIONS
w E DESIGNED BY ELECTRO
- g CHECKED BY H.WESTBURY AA
< e D - OHC - €039 - SD - 001 | &
DATE APPROVED | 23/MAY/19 A

Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-114



Overhead Distribution Construction Manual Section 3
1 | 2 3 4 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
B
HELICAL TERMINATION TO SUIT
C CONDUCTOR SIZE/TYPE
PR e
D
E
Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
DE/12.7/1/PLM S 102A 325842 |Thimble Eye Nut M20 1
| 60G 321260 |Insulator Disc Porcelain 16mm 70kN 146mm 2
61A 322056 |Ball Clevis & Pin 16mm 1
61B 322386 |Socket Termination 16mm 1
F 61D 322090 |Kink Pin 16mm 1
80C 37260 |Bolt Eye M20 X325 1
86B 65158 |WasherEls 16 1
G
H
APL No DIMENSIONS ARE IN MILLIMETRES
DE/12.7/1/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 Fradng as Tosiervare o e
= ABN: 24 167 357 299 R OF TASNETWORKS
°|y TI1LE STALE
-2 TasNetworks DEAD END (SWER) 12.7kV NTS
< |=
@ 2 ORAWN (5 PRO-SOLUTIONS
w |8 DESIGNED BY ELECTRO
o
Ll 5 (HECKED BY H.WESTBURY A["
: APPROVED BY REVISION
DATE APPROVED | 23/MAY/19 D - O H [ - [ O 4 O - S D - O O W A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-115



Overhead Distribution Construction Manual

Section 3

3.51 Strain SWER

1 | 3 A
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
B
CLAMP CONNECTOR TO SUIT
CONDUCTOR SIZE/TYPE
C
-
D
Store Stock
Unit Assembly Type | Iltem Ref Item Stock Item Description Quantity
E S/12.7/1/PLM S 4 323311 |L Bracket Mk11 1
102A 325842 |Thimble Eye Nut M20 1
59A 322721 |Pin,Insulator 22kV 1
60E 320531 |Insulator Pin 22/450 1
| 60G 321260 |Insulator Disc Porcelain 16mm 70kN 146mm 4
61A 322056 |Ball Clevis & Pin 16mm 2
61B 322386 |Socket Termination 16mm 2
F 61D 322090 |Kink Pin 16mm 2
75M 32287 |BoltHexM16 X325 1
80C 37260 |Bolt Eye M20 X325 1
| 86B 65158 |Washer Els 16 1
G
H
APL No DIMENSIONS ARE IN MILLIMETRES
S/12.7/1/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 trading oz Toshehuorks SR A, T
= ABN: 24 167 357 299 OF TASNETWORKS
o |y SCALE
=] TITLE
-2 TasNetworks STRAIN (SWER) 12.7kV NTS
< | =
@ <zt DRAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
o
: o CHECKED BY HWESTBURY A["
< APPROVED BY _ _ _ _ REVISION
DATE APPROVED | 23/MAY/19 D O H [ [ O L’ W S D O O W A
Ver. 2.0 11-12.7-22 kV and SWER Constructions Page 3-116



